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�*�
 � �
����
 �
� ��
�� � 1�
�� # �� ���
�
 �
= [−∞,+∞]

�
�
��
�� ���
&�
2 �� ��
 ���� �

 ��


σ
����*��
 ����
���
*�
 ��� 
��


σ
����*��
 �
� � ����

�� �  �
 
��

�� ���� � 
�
�

σ
����*��
 
��
����
 � ��� �
� 
��
�&���
� �
 �� (��� 


]a, b]
�&
� −∞ ≤ a < b < ∞1�
�� # �&
� −∞ ≤ a < b ≤ ∞2 # $ �
����
 � 
������
 �����
� � �
� �
 5��
� � 
�� ����

(
�

,B(
�

))1�
�� #
(
�

,B(
�

))
2 � �� ���� �
���
� 
��

(
�

,B)
1�
�� #

(
�

,B)
2 #

 �������� 3 �� � ��� &��
���
 ������
�
 ��� �� ���
�� �� � ��%
%�$���
(Ω,F ,

�
)

��� ��� � �������
� ����
%$�

X
��

(Ω,F)
�
��

(
�

,B)
�

7�
 &��
���
 ������
�
 �
�� ! ���� �

� ��: ��������� ���
�&���
�
ω ∈ Ω

��
 �
���
�
 &��
�� �
(����
�� �


ω
�  �
 &� ���� 
����
��
� #

���	
 	�� �
�	
� �� � ��� ������� � �	��
σ������
� ������
�� ��
 	� �������� � 
��
 ��
 ������� ��  �!!"
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��� ��������	����

�4

� 	
 3 �� � ���� ����� �� � $ ��� � ��� ������ � ���� ���� � �� $
���� �� ���� � 
�� ����� � ��� ��
�
�� $� �
��� � ��� � ��� $� %� � ��
�� �� � 
��� $� � $�� � �
�� ������ � 
!�� $�� ��� � �� !
 
$���

������� � ��
�� � ����$�
� �� ����� 
�
� �� ��� $� $
 ���� � ��� !
$���� ��� ���� � �� $
 � �������

X : Ω 7→ �

(a, b, c) → a + b + c

��� ��� !
��
%$� 
$�
������
♣

8� �
��
 
����
 ! ��3�
� ��
 ���
��  �
 �
�� ����
��
 � ��� �� ��3�
�
�� �
� ���7�
� �

	 ��8�& � �
��
 �
 � ��%
%�$��� �����������$ $�#
 �������� 3 ��� � ������

(Ω,Σ,
�

)
�� ����� %$� �� � ��%
%�$�����

A
��

B
���� �!���� ���� � ��


�� �$ $� ������
�
�� �

A

�������
B

�� �� ���� �
(A|B)

$
 � ��%
%�$��� ��� ��� 
����� �� ��� ��
��
�

(B) > 0
� � 
� "

�
(A|B) =

�
(A ∩ B)�

(B)
�
�: �&��
� 
��� ���� �
�� ����� ���
� �� �
 �� ������
�
��  �


A
��
� &��
 �� ��� � �
�� ���


���
���
 ��� �
 (�
�  �

B

��
� &��
 # �� � ����� �
(A ∩ B) =

�
(A)

�
(B)


� �
(A|B) =

�
(A)

#
�4

� 	
 3 ��� � ���� ���� ���� $ ���� ������� �� $
���� �� ��� ����������� $�� ����� �!���� ����
���!
��� "

A
"

ω
��� � 
��

B
"

ω
��� ��$��� $� ��

3
C

"
ω

��� ��� ������ �� �� 
$ �
3�� 
� ���� $
 � ����� �� � ��%
%�$��� � ��� ��� � $ ��� ��� $� � ��� �

(A) = 3/6
� �

(B) = 2/6
��

�
(C) = 3/6

� � � �� �
$�� $� $�� � ��%
%�$���� �����������$ $�� 
�������� �� 
 "
�

(A|B) =
1/6

2/6
=

�
(A),

�
(A|C) =

1/6

3/6
6= �

(A),
�� �

(B|C) =
1/6

3/6
=

�
(B).

�� �����
�� ���� �� � $�� �!���� �� ��
A

��
B

���� ����� ���
� ��� �� � 	� � ��� $�� �!���� ����
B

��
C

� � 
�� �
� $�� �!���� ����
A

��
C

�
� � � $���

B
��� ����� ���
�� ��� �!���� ����

A
��

C
� ��� ���
��� ���� � 
�� �$
���� ��� �
� ��

$ ��! �� �� ���
A ∩ C

� �
� �
(B|A ∩ C) = 0

�
♣
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�
 �
 ����
� �
� ���
��� ����
���
� �
��
���� � ���� ����
� ! ����
�� 
� � 
���

� �
������
�
 �
� �
�: � ��*�
� ������
�
��
�  �
 ���� ������ ��
�
�
� ���� �� ��
�
 � ���7�
�
�
 	 ��8�& 
� ����
���� �
 ���
�
��� � ��8�&

�� # 	 �
� �&��� �
�� � 
� 
�� ���
���
�
 � �
��
��
�
��� �� �
- ��
��
 
���
 ��
 ���
�� ������
�
��
 
� ��
 ���
�� ��� ���
�� 
�
��
 # 8� ���� ���
&

���&
�� �
 � 
��
�  �
 �
 ���
: ������
�
��
 
���
 ����

��� ����� 
�� �� ���
: ��� ���
�� 
�
��
 #
�
��
� 
�� � ��� �� ��
�
 ���� ������ � 
��
� � ���
 ���
�� �
 ��� ���
�� 
�
�� 
 ���� (���
 � �
��

 �
 �
 ���
: 
���
 �
� ����� �
 �
 (�
� ��� �
 � ��
*�
 ������
�
��
 � �
� �
 � ��
*�
 �����*�
� 
��
���
���
�
 # � �
�� �
��
 ���
��  �
 ���� ��� 
��
���� ��� ���
�� 
�
�� 
 ! ����
� � �
�
 #

� (� 45/ �6&+ )& � /(�#-
$
� ���
��� �
���
&
� ��: ���7�
� �
 	 ��8�& ����
���
� ���� �
��
 ����

 ���� �
��
� �
�

��&���
� �5����� 
� �� ���;� #



� �� � ��� ���� �� ���� �� �>
� �� �1 � "+. '�"+, $-� '!'# ,

��
�
S

�� 
��
���
 ����������
 # � ��� �� ��
�
 �� &� ��� 
�
� �
� ���� 
���
s ∈ S

�
� ��
��

�

S
� ������ %$� � ���
�� # �� ��
�
���� �
� ���
��� �
 �� �
��
�� ������
��
 � �� � 
�� ��3�
� �


 � �
�� ��
 ���7�
 �
 	 ��8�& #
 �������� 3 ��3 � ����

(Xn)n≥0
��� ����� �� !
��
%$�� 
$�
������ � !
$���� �
��

S
�
(Xn)n≥0

���
��� ���7�
 �
 	 ��8�& �� �

(Xn = j|X0 = i0, ...,Xn−2 = in−2,Xn−1 = i) =
�

(Xn = j|Xn−1 =
i)

���� ����
n > 0

�� ����
n
��� $�� � ���
��

i0, ..., in−2, i, j
���� $��� �$ $�� ���� � �� %��� ���������

���� ��� ��� �
7�
 ���7�
 �
 	 ��8�& 
�� ���� ��
 ��
�
 �
 &��
���
� ������
�
� �
��
  �
 �� �
���
���
��

� ���
 &��
���
 �
 ��� 
��  �
 �
 �
��
 �
 �� &��
���
 ������
��
 � 
� ��� �
 ���� � �� 
����
 �
 #
7�
 ���7�
 �
 	 ��8�& 
�� �
�
 ��� �� ��� �
 �

(Xn = j|Xn−1 = i)
�
 ��� 
��  �
 �


i

�

j
� 
� ��� �


n
# � ��� �
 ��� �� � 
�� ��3�
� �� � 
����� �� ��
�������

T = (tij)i,j∈S
�����
�
 !

�� ���7�
 �
 	 ��8�& ���
tij =

�
(Xn = j|Xn−1 = i)

# �
��
 � ���
�
 � �
�� ���  �
���� �
 � ��
������
�
 � 
��
 &��
3
  �
 ���� �
� �� 
� �

��� ���� � ��
�
(� � 
�  �
 � � ��� ��� �
 �
��
 � �� ���� 

�
� �� 
� �

��� &��� � � ∀i ∈ S, Σ

j∈S
tij = 1

# 7�
 �
��
 � ���
�
 
�� ��� 
��
 � 
����� �����
����� �#
� ��� ����
 �� ��
�
 �� &� ���" ���� ����
���
� � ���� �
 ����
�
� � �
� ���7�
� �
 	 ��8�&

��� ��*�
� #
;��� �
 ������ ��
� �� ����
 
�(��� ��
 �
 � �� &� ����
���
� ��� ���� ��
 &��
����
 ���7�


�
 	 ��8�& � � �
� �� �
���� � � 
���!��� ! ��&�
� �� �)��*� 
 ���� �
 ���� ���
� 
�� ��
� �
�� 

� ���
 ���7�
 �
 	 ��8�& # 6 ����
 � ���
�
 �
 �����
�
�� � ���
 ���7�
 �
 	 ��8�& ����
�� ��� ��
�����
 �
����
����� �� �)��*� 
 � ��8�&

� # � ��� �
 �����
 � 
� 
: 
��
 ��
 �����
�
��

si
p−→ sj

�

� �����

si
! � �����

sj
��
 �
��
 ���

p > 0
�
 
� �
��
� 
�� �


tij = p
���� �� � ���
�
 �
 �����
�
�� #

7� 
:
���
 
�� ����� 
� 3���
 � #� � ����
�� ������ ! �� � ���
�
 �
 �����
�
�� ��
&���
 �

T =

















0 1/2 0 1/2 0 0
0 0 1/4 1/8 1/8 1/2
0 0 0 0 0 1
0 1 0 0 0 0
0 0 0 0 1 0
0 0 1/2 0 0 1/2

















s1 s2

s3
s4

s5
s6

���

���

�����;

���

����
�

��;

� ���

��� � � #� � 7� 
:
���
 �
 �����
 ���� �
� ! ��
 ���7�
 �
 	 ��8�&



�� ���� 	��� � � 	� ���� ���	�� � �� � ��
��� ��������	����

7� �)��*� 
 � ��8�&

� &� ����� .��
 
�&
���� ����
 �� �)��*� 
 �
 �����
�
��� 1� ��� ��
�����
 ��

���2 ������
�
��
 ���� �
 �
� � ! ��� �
 ���� 
 � �� �
 ������
 
� �
���� �� ���� �

��� ���
� ���� � 
� �
 ��
&��� �
� ������
�
��� ���� �
�
� ��: �����
�
��� #

/��� 
��
� 
�� � �� �
���� � �� ��
�������� � ��%
%�$�� �� 
�� �� �����
 ��
 �
�� �
�  �
 �
�
��
 �
��
� ���� ! &��
��� ����

]0, 1]
� 
� �
�  �
 � ��� ���� ����

s
�� �����
 � �� ���� 
 �
�

��
 �
��
� �
� �����
�
��� ������� �

s
&���

1
#

$� �
����
����
�� ���� (��� 
 �
 �����
 � ����
 �

�  �
 � ������� � ��� �
���
� ����
si
� ��

������
�
�� � ����
� 
� ��
 ���� 
 ���� �� ����
 ����
sj

�
 � 
�� ��� 
���
  �
 �
 � �����
si
# <����

�� ���
&
 ���� �� ���� � �� � 
�� ����
 
�(��� ��
�� ��� ����
�� �� ) 
�� ���&
�� #
� �� �� � +,%"+ $+ *"#�(� '�'!-, ,%" � �+ ,+.��+ $+, &�+. ' ,

�� �
 ������ ��� �
��
 ���&
��
 ��������
���
�� ���� (��� 
 �
 �)��*� 
� �
 �����
�
���
������
�
��
� � �� &� � ��&�
� ��3�
� �
  � �
�� �� ��
� 
� #
 �������� 3 ��� � � �
�� ����� �� �
���� � �� ��
�������� � ��%
%�$�� ��

G
� �� ��
� 
� 
���� � ��

��
� 
� 3�
� �
��
G

��� ��� ����� ��� ��� 
���� � � ���� � ���
��
s0, s1, ..., sn, ...


���� �
s0, s1, ..., sk

�
��$ $� �� �� � ��� ����

i

���� � ����

i ∈ {0, .., k − 1}� � (si, si+1)
��� ��� 
�	�� ��

G
�

$��� � ��� �)��*� 
 
�� � ��8�&

� � �� ������
�
�� � ����
� 
� ��
 �����
�
�� �
 � �����
s
! � �����

s′

�� ��3�

 ���� ���
�� ��� # �� � 
�� ���� ��3�
� �
� ������
�
��� ��� �
� ��
� 
�� #
;��� �� ��
� 
� 3�
 � �� &� ��
���
 � ��� ������
�
�� �
 �����
� �
� ������
�
��� �
� �����

�
�
���  �
 �
 ������
�� � � �
� ���� �
 � ��� � �� ��
� 
� 1
�3�
2 � �� ��3�
�
�� �
 � �
����
 �

������
�
��� ���
��
�
 ���� �
 �������
��� #
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�
�� ������
�
��
 � �� ��3�
� ��
 �
���
�� � ����
��
� 
�
��

� �� ��� �

ρ ⊂ S×S
�
��
  � ��� �

ρ(s, t)
�
 
� �
��
� 
�� �
 
� 
: 
��
 ��
 �����
�
�� �
 ������
�
��

p
1(����� 
�� ��� ����
2 
���


s

�

t
#

;��� ���� ����
s ∈ S

�� ��3�
� �����

Ωs = {s0s1s2...|s = s0

� ∀n ∈ �

, ρ(sn, sn+1)}
 �
 
�� � �
��
���
 �
 ���� �
� ��
� 
�� 1
�3�
�2 
���� �


s
#

 �������� 3 ��� � � �
�� ������ ��� ����� � ���
σ = s0 = s, s1, ..., sk

� ���
�� ��
S

�� ��� ���
$� �)�
���
 �� %
��

σ
�� �� ���� Cσ

$ ������ %$� ��� �� �� ��� ��
Ωs

��� ���� ������ �
� $�
�� �� �� � ��

s0, s1, ..., sk
� 
� ���� �� � ��� $ ������ %$� ��� �� �� ���

s′0, s
′
1, s

′
2, ..., s

′
n, ...

��
Ωs

��$�
�� �

s′1 = s1, ..., s
′
k = sk

�
8�
 �� � �� ��� � 
��
� �
 ����
�
�

s′0 = s0
� ��� ����
 �� ��
�� �
� ��
� 
�� �


Ωs
� �
 ��
� 

�

���� 
�� 3:� 
� &���
s = s0

# 7� 
:
���
 �
 �)�
���
 
�� ����� ! �� 3���
 � #� #
� ��� �� �
��������
 � �� ����&
 ����
� 
�� �� ���
�� �
 ���� 1�( # �5�$=,�� � �$�� �2 � ���

��3�
� �
� 
��
���
� ����
���

�� �
 ��
� 
�� # ���� ��
 ���(����� �
��
 �
 �)�
���
 �
 �� �� �� � �
&�
� ����
 �5�6 ��� #��
�

G
�� �)��*� 
 �
 �����
�
��� �����
� ! ��
 ���7�
 �
 	 ��8�& �
 � ���
�
 �
 �����
�
��

T
# �� ��3�
� �� �
���
���
�� � ��� � �
��
���
 �
� �)�
���
� �
 �� (�0�� ��
&���
 �
��
� Cσ

�� �)�
���
 �
 ���

σ = s0, s1, ..., sk

# $� ������
�
�� �
(Cσ)


�� ��3�

 ��� �
�

(Cs0,...,sk
) =

∏

0≤i≤k−1

tsisi+1

#



� �� � ��� ���� �� ���� �� ��

s1 s4 s2

s5

s6

s3

s5

s6

s3

s6

s5

s6

s3

s6

s6

s3

· · ·

· · ·

· · ·

· · ·

· · ·

· · ·

��� � � #� � ���
���
 �
� ��
� 
�� � ��� �)�
���
 �
 ���

s1, s4, s2
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 3 ��� � � �� ������ $� �
���� � ���� � � $
 � ���� � �� � �� �
 $����� �� %
��
s1, s4, s2



���� � � ��%
%�$���

1/2


= 1/2×1

� �� ������ � $ ������ %$� �� �� �� ��� ��� ������� � $
 � ���� � �� �
♣

�� ����
�*�
 ���� � ��� ���� ����
s

� �
����
 �
 ������
�
���
(Ωs,Fs,

�
s)

�� Fs

�� ��

σ
����*��
 
��
����
 ��� �
� �)�
���
� ���� �� ���
 
�� �� ��
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� 3�
 ������� �


s
� 
� �

s
�� � �
:�
��
�� ! Fs
�
 �� � 
���
 �
 ������
�
��� ��3�

 �
��
���� # ;��� �
� ��3�
�
��� ����

����
�
� � 
���
 ����
� �
 � �
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��
��
 � ���

σ
����*��
 
��
����
 � &�
� ��� 
:
���
 �� �� ��� #

�� � �
��
 ��������
�� �
� 
��
���
� �
 ��
� 
�� � ����
%$�� � � �
���!��
�
 �
�: ��� �
� �
��

�� ��3�

 �� ������
�
�� # �
��
 ��������
���
�� 
�� �
 ���� � 
��
�
��
 ��� 
��
 ����

�� ���� �
�

��
���
� �
 ��
� 
�� ��3�
� ��� �
� (�����
� �
 ���
 �
 ������
�
��
  �
 � ��� &����� 
:��
� 
�
��� �� ��
�
 � ���� 
 ��� 
:
���
 � �
��
���
 �
� ��
� 
��  �
 ����
�� ��� �� 
��
���
 ����� �
 �
 �
�&
�� � ��� ����&
� �� ���&
��
��
 #
� �� �� � !(!, "-&%""+ !, � -!(!, !"( ,'!#'"+,
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�
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�� ��3�
� �

 � �
�� �� ���� ������
�� #
 �������� 3 ��! � �� ��
�

s
� ��� �
���� � � 
���!��� ��� ������
�� �� $
 � ��%
%�$��� �� ��!����

��� ��� ��� ���!��� �
�� ��� ��
� !
��
1
� � ���� � ���� "

�
s({s0, s1, ..., sn, ... ∈ Ωs|si = s

� ��� ��� ��� ���� � ��������
i}) = 1.

� � �� � ���� � 
� $� �
�� $ ���
� ��� ��� �����
��
�
 � Rec
��� �� � ���
���� ���� $ ������ %$� ��� ��
��

���������� �
$ �
��
���
 {s0, s1, ..., sn, ... ∈ Ωs|si = s

���� ��
 
�3�
�� � �
��
�
�
i} � 
�� .��
 ����
� !

� ��
�
 � ���
��� 
� � �
��
��
��
��� ����������
� �
 �)�
���
� � 
� �� ������
�
�� �
��
���� 
��
�

� ��3�

 #

�
 �� �
 �
���

�� ����
 �� &� �
 (�
�
 ���� �
� ����
��
� ��
&���� �� ��� �� � �
��
���

� ������ �� �)��*� 
 � ��8�&

� 
�� 3�
 � ����� �� � 
�� ��������
�
� �
� ����� �����
��
�
� 
� ������
�
��� �
 � ��
*�
 �
- ��
��
 � 
� ��
�
���� �
 �����
 ���� �
� #

�� &� �����
� �� �����
��
s → s′

���� �
�
  � �
� 
: 
��

p
���
��
� 
�� � ��
�
( �
�  �


s
p−→ s′

#
�� ��3�
� �� (
�� 
���
 �����
�
&
 →∗ �
 �� �
���
�� → ���

s →∗ s′ ⇔ ∃s0, ..., sn ∈ S : s0 = s, sn = s′

� ∀i ∈ {1, .., n − 1}, si → si+1.



�� ���� 	��� � � 	� ���� ���	�� � �� � ��
��� ��������	����

�� � ����� �

 ���������� 3 ��" � � ��� �� �
���� � � 
���!��� � ��� �� ��
�

s
��� ��������� ���

(i) ∀s′ ∈ S(s →∗ s′ ⇒ s′ →∗ s).

 $ �� � ��
�������� ���
(ii) ∃s′ ∈ S : (s →∗ s′ ∧ ¬(s′ →∗ s)).

$� "���
3���
�� �
 �
��
 �����
3���
�� �
� ����� � ��� �)��*� 
 � ��8�&

� 
� ����� �����
��
�
�
� ���
 ���� 
� ����� ������
��� � �����
 ���� �
�� �����
 ! �� �
��
�� � #� #�  ���� �� ���� ��3�

�� ���&
��
��
 ������
�
��
 #

�� � 
�� �������
�  �
 �
� �
�: �����
����
(i)


�
(ii)

�
��
���� (��� 
�� ��
 ����
�
�� �

� �
��
���
 �
� ����� # �
� 
����� � ���� �
 ��� �� � �
��
���
 � ������ 
�� 
�3�
 ����������
 �
�� ���� ��
�
�� �
��
���� �
 � 
�� ��� � �����
 �
� � ���� 
 �� � 
�� �
 �������
� ��� � �
:
���

3���
 � #> # ���� ���� ) ���
�(�
�

(i)
��
� �� ������ � ����
  �
 ���� ���� 
�� �����
��
�
 � �&
�

������
�
�� � �� &� �
&
��
� &
�� � �
�3�
 ! ���
�
 #

s1 s2 s3 s4 s5

###� ��>
��>

��>
��>

��>
��>

��>
��> ��>

��� � � #> � 7�
 ���7�
 �
 	 ��8�& 
�3�

 ���� ����� ������
���
7�
 ����
 ��������
��
 �
 �
� ����� � 
�� .��
 
�� ������
 ���� �
 ����
 �
 �)��*� 
� � ���

8�&

�� � � �
�� �� ���
�� � ������ ���������� �
 �������� 3 ��� � �� ��
�

α
� ���� ��
��� �� � 
���! ��� ��������� �� $
 � ��%
%�$��� �� ������

�� ��� ��
� ��� ��$ $�� � �
!��� �
(Xn+1 = α|Xn = α) = 1

� � ������ %$� ��� �$�� ���� 
%���%
���
��� ���� Abs

�
�� �
�� 
� �
 �)��*� 
 � ��8�&

� � ��
 (�
�  � ��� ���
&
 ���� �� ���� ��������� � �� �
 � 
��

���� 
� ����
� # 7�
 ���7�
 �
 	 ��8�& 
�� �
�
 
%���%
��� �
 ���� �
� ���� 
��� ������
��� ����
���������� 
� ���
��� �
� 
�� 1Rec = Abs

2 #
�� � 
�� �
� �� �
�  �
 � ��� ��3�
�
�� � ���� ���� ��������� 
�� ������
�� #
�
 �� �
��
�� �� ��������
���
�� �
� ���7�
� �
 	 ��8�& ��� �
� �����
� � �� � 
�� ��������
�
�

�
� ����� ������
��� 
� �
�� 
� �
 ���������
� (���
� 
�� ����
:
� # �� 
-
� � �
�: �����
s


�
s′

� ��� �����
 ������

��
�� ! �� � .� 
 ������
��� � ����� ��� ������ � �
 �� �
s →∗ s′


�
s′ →∗ s

# $ �
��
���
 �
� ���� �����
� (���
� 
�� ����
:
� � ��� �����
 (��� 
 ��
 ����
�
�� �
�
���� 
�� #

�� �
��
���� �� ��������
���
�� �
� ����� ������
��� �����
 ! �� ���� ��
�
�� � #�: � ��
�������
  �
 �� �����
���

(i)

�� � �
&��
��
 ! �
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���
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� �
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�� �
 �� ������
�
��
�
 ����
� �
 �
� 
��
���
 
�� ����
 #
���� � ��� ��� ���� ���� ������

�� ! ��
 ���������
 (���
� 
�� ����
:
 1 �
 ���� ��� 
��
����
���� �
��
 ��
�&
 �/� 2 � 
� ��
 �
��
 # 8� ��� � ���� �
 � ����
�  �
 �
 
��
 
�� (
�� �
 � ����� 
��
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��
 � � ����� 
�� �����
��
�
 # ���� �����  �

s
������

��
 ! ��
 �/�

(
�� �
 # �� ��
� ����� � ��� ���� ����
s′
� �


s → s′
����� � �����

s′
������

�� ! �� �/� �


s
� 
�

����
s′ →∗ s

# ����
 � �
�� &��
 � ��� ����
s′
�
s

�� ������
�� #

���� ����� � �
��
����  �
 �� �/� �

s
�
 ��
� ��� (
�� �
 # 8� 
: 
��
 ����

s′
������
���� ! ��

�/� �

s

�

s′′
���� �
 �� �/� �


s
�
��  �


s′ → s′′
# � � ��� ��3�
�
�� �
� �/� �� �

s →∗ s′� ���
s →∗ s′′

# ����

s′′

� �
�� ��� ���� �� �/� �

s

�  � ��� &

�� �
 � ����
�  �


s →∗ s′′
�

�� �
 � 
�� ��� �&�
�
s′′ →∗ s

� �
  �
 ����&
  �

s

�� �����
��
�
 #

�� � 
�� ����
� 
�� �
� �� �
� �� ����
�����
�� �
� ����� ����������  ���� ��: ���� �����
�
(���
� 
�� ����
:
� � ���� ���� ��������� 
�� �
�� ���� �� ���������
 (���
� 
�� ����
:
 #
� �� �� �+.*, .#�+ $+ &# 0+"%+ &+
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���� � � 
���!��� ��� �� ���
�� � ���
��

S
� ��

E
�� ����

����� %$� ��
S

� �� ��� �� ��$ 
 
 ���&
��
��
 ������
�
��
 �� �
���� � !��� $ ������ %$�
E

��
� ��� ���� ��
�

s
� $
 � ��%
%�$��� �� $ ������ %$� ��� �� �� ��� ����� ��

s
��� � 
�� ��� � 
�

E
!
�� � �

���� �$ $�� ��� ��$
 � ������ "

∀s ∈ S,
�

s(σ = s0...sn... ∈ Ωs|∃i : si ∈ E) = 1.

�� ��
�
�
 �
 �
�� 
 �
 ���&
��
��
 ������
�
��
 � ��� 
�
 �� &
�� � ����
�  �
 ���� �
� ��
� 
��
���( �� 
��
���
 �
 ������
�
�� ����
 ����
�� ��� � �
��
���


E
#

�� � 
�� �
� �� �
� � ���� 
 �� � ��&�
� ������� �&��� �  �
 � �
��
���
 �
� ��
� 
�� ��������
�
�� �
��
���� 
�� �

� ���� Fs

��� � �
�� ��
 ��
�� ����������
 � ���
��� 3�

� �
 �)�
���
� �
⋃

i∈�
(

⋃

t1∈S

...
⋃

ti−1∈S

⋃

t∈E

{σ = s0...sn... ∈ Ωs|s1 = t1, ..., si−1 = ti−1, si = t})

�� �
� �� �
  �
 ��  ����
3���
�� �
 � ���
 ��� ���
s0

# �
�
 
�� �1 �� (�
�  �
 � ���� 
 ��
����
�*�
 �
� ��
� 
�� �


Ωs
�
s0


�� 3:� 
� &���
s
#

$ �
����.� � �" 
�� �
 �����
3
� �
� ����� 
� ����� ������
��� � ���
 ���� � 
� ����� �����
��
�
�
� �����
 ���� ���
�
 ���� �
 �������� ��
&��� �
�5����

 3 �3� � �� ����� � ���� S �� �
���� � �� �������
�� ���� � �� � ��
��� �� � 
���!�
�� 
 ���!��� ���� � ��%
%�$���� �� S !��� $ ������ %$� Rec

��� ��
�� ���������� �
;��� �� ����

s ∈ S
����� � �� � &�  � ��� � �� 
����
 ������
�
��


(Ωs,Fs,
�

s)
# �� � ����


� ����
���

� �� 
��
���
 � 
������

(Ωs,Fs)

#
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���

E
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������ �� (����
��

X
��
&���
 �  �
 �����


�
 �����
 � ����� 
� �
 ���� � ��� ��
� 
� ���
���
�
� � ��� ���

���
 � �
��
���

E

�

X : Ωs 7→ �

σ = s0s1...sn... → i
�
�  �


si ∈ E ∧ ∀j < i, sj /∈ E�
��
 (����
�� 
�� ��
 &��
���
 ������
�
 # �� 
-
� � ���� 
 
��
 ��
�� �
� &��
��� ����
� � � ��� ���� 
��
�&���


]a, b]
�
 �  �
 � 
�� 
� � �
��
���
� ��

σ
����*��
 �
� � ����

�� 1&�
�

�
��
�� � #�2
X−1(]a, b])


�� ��
 ��
�� �� ���� ����������
 �

X−1(c)

��
c ∈ � ∪ ∞ # � � �

X−1({c}) 
�� ��
 ��
�� 3�

 �
 �)�
���
� � ���� �� ���
 
�� �
 �����
��
c
� ���� �
�

c − 1��
� 

�� ����� �
 ���� ��� ����
E

��
� �

c�� �


�� ����
E
#
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 ������ ��� �
� ����
�����
��� �
��
���� � �
 ���� � � �
�� �� ���!��� ���� � ��� �)��*� 

� ��8�&

� �
 ������
 
� (�
���� ��
 /��)
��
0 ��� � �
��
���
 �
� ��
� 
�� �
 �� �����
�� �

�
� ��
� 
�� 1 �� &��
�� �


X(ω)
2 � �
��
 � �)
��
 ����� � ������
 ��� �� ������
�
�� �
 �
�

��
� 
�� # �
��
 � �)
��
 � ��� 
��
 ����
 ��� ��
��� �
 �� &��
���
 ������
�

X

� � 
�� �
 ������
�
�
 �� (�0�� ��
&���
 �

E(X) =
∑

k∈�∪∞

k × �
(X−1({k}))
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��
 ���� 
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� (���  �
 � �
��
���
 �
� ��
� 
�� �

X−1({∞})��
� �
 ������
�
�� ����
 � �� ����
�
�� �
��
���� 1�

(X−1({∞})) = 0
2 ����� ���
���
�
 � �
� ���

��� ����
 #

� (� � (# $&++'+ )& )2$3+ 3#6 ./(�#- 3&6+
$
� ��������� 
� ��3�
�
���  �
 ���� ������ ������ ���� �
��� �
 ��6 �:�� 
� �
 �;���� � # 7�

��� �
���� �
 ���
�
�� � ��8�&

� 
�� ��
 �������
���
�� �
 �� ���
�� �
 ���7�
 �
 	 ��8�& ����
�
 �
� �� 
��
���
 � ����
��� � ���
� �
� 
�� �����
� ! ��� �
 ���� # 6 ��� �
 �����
 1���� ����
�� 2
����
�� ��� ��
 �
���
���
�� �
 ������
�
�� �  �
 
�� ��
�
��
 � ��� ���
�� 
�
� � ����� ����
��
��
��
�:� � 5 
���� # 7�
 ���7�
 �
 	 ��8�& ����
�� ��� �
��
 ! �� ����
���� �
 ���
�
�� � ��8�&

�
���� �
 �
� ��
 �
��
 ���
�� 
�� ���� �
�
 ! ��� �
 ���� # ;�� �� ��
�
 � ���� ���� ��
���� � �
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��
�
��
 � ��� 
��
���


Acts
� ����
��� � ����
���� ����
� �
� ���
��� 
� " 
� # �� ��3�
�
�� � ���

��� �
���� �
 ���
�
�� � ��8�&

� 
�� ����
 ��
� �
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 �������� 
����� �
� � �� � �������� �� �������� � 
���!���
��� �� ���� $��

(S,A, p)
��$ ��� "

� S
��� �� ����� %$� � �� � ���
��

�
� ��� ����

s ∈ S
�
A(s) ⊆ Acts

��� �� ����� %$� ��� !��� � �
������ �������%$�� �
�� $ ���
�
s
�

�
� ��� ����

s, t ∈ S
��

a ∈ A(s)
�
pst(a)

��� $
 � ��%
%�$��� �� $
 ��
������� ��
s

!���
t

��
��
$ �
�����

a

 ��� ��$���������� � ��� ����

s, t ∈ S
��

a ∈ A(s)
� �� 


0 ≤ pst(a) ≤ 1
��

∑

t∈S pst(a) = 1
�
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� �� � �� ��� �� � �� ���� ����� ��� 
��� ��� ��� ���� �����

�� �
� �� �� � ��� 	��� � 
��$�� ��� ������ ���� � �� � �������� �� �������� � 
���!��� �
�� � �� �� � ��� 
!�� ����� ��� �� $� %� � �� � �� ��� � ��%����� �� � � ��$ $���� ��� %��
���� ��� ���

�!���
���� � ����� $ ������ ��� ��� %��
����� ���� ��
�� � � ����� "

� �
421

� �
111

� �
611

� �
666

� �
511

� �
555
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��
411

� �
444

� �
311

�� �
333

�� �
211

�� �
222

�� �
654

�� �
543

�� �
432

�� �
321

� ��� �
� ����� ��������
� � �� !
$��� ��� ���
665

�
221

�
� ��� �������� ���� ���� $
 ��� %��
���� �
�� $ ������ ��������
�� �� ���� 
�� �$ $����� ��

1
$� ��


!�� $
 � $�� � �
��� !
$��� ��
2

��$�� �� !
$��� �� ���� ���
��� �� ��
3

��$�� �� � $�� � ����� !
$����
�� � �� �� �����$� 
���� "
�� � ��� ��� � ����� $
��� $�� ����� ��� � ��� ������ ���� "

�
�� � �# ��	��� 

�����

A
�

�
�� ��$
���� �� �� 

������

U1
�
U2

� ��
U3

�
�

�� ��$
���� � ��� ��� 

������
D12

�
D13

� ��
D23

�
�

�� �� ��$
� ��� $�� ����� ��� 

�����
T
�

 $ � 
�� ��� ����� � ��$
��� $�� ��� 
� ��$ � �
 �
� ������ $ �
�����
A
� � ��� ������ ���� � ���!�
�


�� ���� �$ � ��� 
 
!��� ����� $
����� �� ��� �� � $ ��� 
�� �$ $��
 ��� ���
��� � �� ���� ��� ���� $�
�
� ��� � ���� 
� ���� ��� � � ����� �� � ���� �
�� � ����� 


�� ������ $
 � ��$ $���� ��� %��
���� 
 � 
���� � 
�� ��� �� ��� $� ���� 
!��� "

� Acts = {A,U1, U2, U3,D12,D13,D23, T}
� S = {(abc, n)|a ≥ b ≥ c ∧ (a, b, c) ∈ {1, 2, 3, 4, 5, 6}3 ∧ n ∈ {1, 2, 3}} ��

abc
��� ��� ���� $


���� ���
���� ��� ����� ��� ��
n

��� ������� $� ��� %�� � ����
�� ��� � �� ���� �� �
�

� �
s = (abc, 3)


$���
A(s) = {A} �����

A(s) = {A,U1, U2, U3,D12,D13,D23, T}����� � 
�����
�� ���� $��� �� � ��%
%�$���� � ����%$�� ��� ���
�� �� $ �
����� ������� �� � 
��
��
�� $
 ���� ���
����

(211, 1)
� � 
�� $
 � ���� � �� $� � �
� � � �� � 
��� � ��� ����� �� $�� ��
��������

�� $� �����
U1

��� � 
��� ��$�� �� ������ ���� $� �����
U2

♣

� �� �1 �)-&%!'# ,
7�
 
:����
�� � ��� ��� �
���� �
 ���
�
�� � ��8�&

� 
�� ��
 ��
�
 
�3�

 ���� ���
 � ������


� � ����
��� ���
���� �������
�
 ��
&��� �� ��� �
���� ! �
�: ����
� # ;�
� 
*�
� 
�� � ����� �����
�� ����

s
� ��
 ���
��

a

�� ���
��
����
 �
 � ��
*�
 ��� ���
�� 
�
��
 ��
� �� ����
��
��

t
!

s
�� ���
�
 �� 
&��� �� �
���
���
�� �
(t|s, a) = pst(a)

# %�
�
 �� ��3�
�
�� (��� 
��
 � ���
 
:����
�� #
 �������� 3 �3� � ��4������� � ��� ����
���� �
 �������� 
����� �
� � ��� �� �������
� ��� � �������� �� �������� � 
���!���

Π
��� ��� ����� ��� ���

ω = s0a0s1a1...
��$ $� �� �

si ∈ S
�

ai ∈ A(si)
��

psi,si+1
(ai) > 0

���� ����
i ≥ 0

� � � $
 � 	� � � 
����� ��� ���� $�� ��
���� ��
� 
���!� ��
� � ����� �� ��
�

s
� ���� ��������

Ωs
$ ������ %$� ��� �� �������� �
��
�� ��

s
� � ���

�������� 
����
Xi


���� �
Yi
� $
 !
��
%$� 
$�
����� ��� ��� ���
�� $�

i�� � ��
� 
���� � 
������ ��
� �������� �� �������� � 
���!��� �
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(211, 1)

(111, 2)

(211, 2)

(311, 2)

(411, 2)

(511, 2)

(611, 2)

1/6

1/6

1/6

1/6

1/6

1/6

(211, 1)

(211, 2)

(221, 2)

(321, 2)

(421, 2)

(521, 2)

(621, 2)

1/6

1/6

1/6

1/6

1/6

1/6

��� � � #� � �����
�
��� ��
&��� �
 ���
: �
 � ����
��
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� ���� � ���� �� ������
��� ��� �� �����
���� �� !���� %�� ��� �� � 
��� � ���� ��� $�� $� � $�� !��� �����%$� 
���� �� � ��
� ����
��� � � ��� ���$�� ����� � � ����� � ����� !
��
��� � ���� �� $
 � � �� $ �������� ��� �� �������
�����%$� ��� "

532,D12, 442, U1, 432, U2, ...

 �� $
 ���� ��� � ���� ��
� �� �� $ ���
� � ���� � 
� � �����
��� 
�� � ��� 
��
�� � ����
�� �� � $ ���
!���� �

♣

� ��� ������ ��3�
� � �
��
���� �� ���
�� �
 �����

état − action


� ��
&��� �
� �����
���
�
 ��6 �:�� #
 �������� 3 �3! � ����� 	
�

état − action
� �� ���� $�

état − action
��� �� ���� $�

s, a
��$ �� �

s ∈ S
�
a ∈ A(s)

� �� �����

χΠ = {(s, a)|s ∈ S ∧ a ∈ A(s)} $ ������ %$� ��� �
����

état− action� ��� � �������� �� �������� � 
���!���
Π

� � ��� ���� �
��� � �́
etat − action s, a

� �� ��� ���

Succ(s, a) = t|pst(a) > 0

���� � $ ������ %$� ��� ������� ���� �����%$�� ��
s

$����� �
a

��� �������
6 � �
����� �
� ��3�
�
��� (�
�
� ���� �
 ����
 �
� ���7�
� �
 	 ��8�& � ���� ������ ��3�
� !

����
�� �
� 
��
���
� � 
������
� � �
:����
��� #

���

�	
� 

�����	
� � �
4��������
;��� ���� ����

s ∈ S
� ��
� Bs ⊆ 2Ωs

�� ���� � 
�
�
 ���*��
 �
 ���� 
��
���
 �

Ωs

 �

����

�� ���� �
� �)�
���
� �
 ���
� �

{ω ∈ Ωs|X0 = s0 = s ∧ Y0 = a0 ∧ ... ∧ Xn = sn ∧ Yn = an}
� ��� ����

n ≥ 0
�
s0, ...sn ∈ S

�
a0 ∈ A(s0)

�###�
an ∈ A(sn)

� 
�  �
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 ��� ������� 
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�
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� ��� ��
��� 
� 
��
��
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��� ����������
� # �
��
 ���*��
 
�� ��� 
��
 ��

σ
����*��
 �
 5��
� �

�
� ���� 
��� ���� �
� 
��
���
� � 
������
� � �
:����
��� � ��� �
� �
�� 
� 
�� � ���
� �
 �
 ������
�
��
 ������
�
�� � &�
� ����
 �� �� �� � � 
�� �� #
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 � ��
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 ���������
2 # � ���
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�
 �
 ���� 3:
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�
 ��� �
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 ��3�

 ���� ��6 �:�� � ���� ���� �
������� �
� ��
��
���
�
�����
���� #
;��� � ��&�
� ��3�
� �
� ������
�
��� ��� �
� 
:����
��� � 
� (��� ���� �

� ! ��� �


∆ ∈ B∫
��

������
�
�� �
(∆)

# 	 �
� � �
��
 � 
���
 �
 ������
�
�� � �
�� ��� �

� ��3�

 � 
� 
-
� �� ������
�
�
��  � ���
 
:����
��

ω
������

��
 !

∆
��� 
�� �
 �� � ��
*�
 ���� �
� ���
: ��� ���
�� 
�
��
�

��� ��� (�
�� #
;��� � ����
�
� �
� ���
: � ���� ��
�
�
���� �
 ����
�� �
 ��$����� � 1&�
� � 
�� �� ��
�:��2 # �

����
�� 
�� ��*� &�
�
� �
 �
�: � ���&
���
�
� �
 �
���� 
� $)��� ��$��� 
� � ����������
� 
��
1���
���
�2 �
 $
�� �� 
� +��
� �$+ ; �� � %���
 �%��;�� 
� ;��
�
 
� ���8 �;�;� � #

 �������� 3 �3" � �
�	�� �6�
 � ��� ��$����� �
η

��� �� ����� %$� �� � ��%
%�$���� �����������$ $��
Qη(a|s0s1...sn)

� ��� ���� ���� ����
n ≥ 0

� � ��� ����� ���� ���� � ���
��
s0...sn

�� � ��� ����
a ∈ A(sn)

�� ��$ �� � $ ��� 
�� "

0 ≤ Qη(a|s0s1...sn) ≤ 1
∑

a∈A(sn)

Qη(a|s0s1...sn) = 1.

�
 � ��
*�
 
�(��� 
��
 � ��
 � ��
�
 �
 ��
��
 �� � ��
*�
 ��� �� �
��
 �
� ���
: ��� ���
�� 
�
�
��
� &��� .��
 ��
� # �� 
-
� � ���*� �� ����� � �
:����
��

s0s1...sn
� � ����
��

a

�� ���
�

 �&
�

�� ������
�
��
Qη(a|s0s1...sn)

#
6 
��
 � ���� ��
 � ��
�
 �


η
� �� ������
�
�� � ���
 �����
�
�� &
��

t
���*�

s0s1...sn
 �
 � ��� ���
��

�η
s0

(t|s0s1...sn)

�� �

∑

a∈A(sn)

psn,t(a)Qη(a|s0s1...sn).

� ��� 3�
� �
� �� ����  �
 �� ������
�
�� � ��� ����� � �
:����
��
s0a0s1a1...sn

���� �� � ��
�
 �

η


�� �����
 ��� �
n−1
∏

i=0

psi,si+1
(ai)Qη(ai|s0s1...sn).

�
� ��3�
�
��� ��� �
� 
:����
��� 3�

� � 
�� 
��
�� �
 ��3�
� ��
 � 
���
 �
 ������
�
�� �η
s��� Bs

# ;��� ���� �
 ����
�� ����
����� � �
:�
��
�� �
 �� � 
���
 ��� ��
σ
����*��
 ! ����
� �
�

�)�
���
� �
 ���
 � �� � ����� �
 �
� ���
� ! ������ � � �� �� �� � �� �� 
�� �� #
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!�� �� ��� %�� � ����
�� ��� ��� ��
��� ������� ���� ��$������� ��� ���� ��� "

�
�
 ��$������ ���� � ��� $� � �� "

η421
� & $ $� �������� � ������� ���� $�� ��� ��� � � � ��� ������

�
� �� � 
���
421


�
� �� ��� $� �� �� 

631

�� ������ ���� ���� �� �� �� 

411

�� �� ������
��� � � ��� ��� �� !���� ��� %��
���� ��� � ��$ $���� ��� ��$ $� �� $ ������
���� !��� !���

��	��� �

�
�
 ��$������ ���� ���� $�� ���� $�� "

ηaaa
� & $ $� �������� � !���� $�� ���� $�� � ��$ $���� �� �

$
 ��� %��
���� �� $ ������
����� � ����� �� � �� $ ������
���� 
 ������
111

��
421

�����
��$����� � �� � ��� �� �
� �� � 
����� � 
��� �� � 
� �� ��� $� $ ������
���� 
 ����

211
�� �� �

!���� ��� %��
���� ���
321

!��� �������� �� $ �
�����
D12


!�� � ��%
%�$���
1/2


���� � 
���
111

� � $ �
�����
D23


!�� � ��%
%�$���
1/2


���� � 
���
333

� �
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332

211 �
����

221

222

321

322

332

421 �
����

422

432

442

521

522

532

542

552

621

622

632

642

652

662

1/36

1/18

1/36

1/18

1/18

1/36

1/18

1/18

1/18

1/36

1/18

1/18

1/18

1/18

1/36

1/18

1/18

1/18

1/18

1/18

1/36

��� � � #� � �&����
�� ���� �� � ��
�
 �

η421
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� � $�� ���� ���
��� ��� �
��
�� ��� $ ������
����

 ������

222
�� ��� ����� � ��� ��� ���
� ��
��

332
�

� 
�� $
 � ���� � ��� $ ��!�$����� ���� $
 ��$������
µ421

��� �������� $
 � ��%
%�$��� �� � �
��	���
��� ���� ��

1/12
�# $��� �� � �
�� $
 � ���� � ��� �� ������ ��$ $� ���!
�� $
 ��$������

µaaa
� ��� $


� ��%
%�$��� �� � �
��	��� ��� ��
1/6

�

��� ���
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� 
� ���
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η
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332

331

332

333 �����

433

533

633

1/6

1/6

1/6

1/6

1/6

1/6

��� � � #� � �&����
�� ���� �� � ��
�
 �

ηaaa
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Qη(a|s0s1...sn) = Qη(a|sn)

���� ����
n ≥ 0

�� ���� �����
s0...sn

� ���
�� ��
S

� ���� ���� �� ���!
�� $�� ���
����� �� ��# � �
� �
���� ��������

η
$ ������ %$� �� ������ $�� ��$����� �� ��

ηM ⊂ η
��$ $�� ��� ���� � 
���!���� �� �

�� � ��$������
η

��� ���� ������ �� �� �� �� �$ $� ��� � 
���!������ �� �� � ��� ��
���
s

�$ 
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a ∈ A(s)
��$ $� �� �

Qη(a|s) = 1
� � ��� ��������

ηD
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� � ��� .��
 ���(��� 
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��� �� ��� $� �$
����� � �� �� ����� ��� 
���� 
��� !
 ���� � ��� ����� � ��$ $������ $
 � 
�����
��� � �� ��� ��� ���� � �
� ������ ��� $�� � �������� �� �������� � 
���!���� � �� %
�� 
� 
 $�� 
���
%
���� �� �$ 
 
 ��
��� � ����� ��� ��� � $
��
� �������� ���� � ��� �� �� �
��� 
!��� � ���� � ��

��� � 
�� ��� � ����� ��� %$
��� � $ �
� ��� � 
�� ��� ������ � # ��
��� ���� � �$ ������ � ��$ ��������
�� � ���� 

�����

Un
� � ���� � ����� 
�� 
����� 

�����

Adj
� �� ���� � ����� ������� 

�����

Opp
� �

� ��� ���� 
� ���� 
$�
������ ��� $� 
�� $�� � ����� �� ��$ ��������� � ��� %��� ��� ��� $�� � ����� ������
���� ������� �� �
�� $� � 	� � ���� � $
 � � � ����� $
 ��� ��� ���
���� � �
� ����� �� � �������� ��
�������� � 
���!��� 
������ �
�� $����$ ��
��� ��
� ��� $
 �$
��� ��� ���� ���
����� � ��!������
�� ���$��� � ��� �� � ���
���� � ��� "

Un

1

1

1

1

1

1

1

1/4

1/2

1/4
1/2

1/2

Opp

Adj

Opp

Adj

Opp

Un

Adj Un

��� � � #: � �
����
����
�� �����
 �
 �� �����*� 
 �� ���� �� �&
���

� ��� ���!��� ���
�$ $�� ��� $ ������ %$� ��� �
�
���������� �� �� �� � �������� �� �������� � 
��

��!��� "
� S = {s1, s2, s3, s4}

�� "
• s1

��� $ ���
� ��� ��� ��� ���� $�� ���� ���
����� �
�� $���� �$ $�� $�� ��
��� � ����� ���� ��
$
 � 	� � ���$��� �

• s2
��$�� ��� ��� ������� $�� ���� ���
����� 
!�� �� � ���� � ���� ���$��� ��� ���� �� ���

����� 
����� �
• s3

��$�� ��� ��� ��� ���� $�� ���� ���
����� 
!�� $�� ���� � ����� ������� �� $
 � 	� �
���$��� �

• s4
��� ��� ��� ���� $�� ���� ���
����� 
!�� ���� � ����� 
�� 
����� �� $
 � 	� � ���$��� �

�
� ��� ����

s ∈ {s2, s3, s4}A(s) = {Un,Opp,Adj}�
A(s1) = ∅ �

�
& � $�� ��� ������� $��� �� � ��%
%�$���� "



� �� � ��������� �� �� �	�	�� ���� ��	��� >�

t = | s1 s2 s3 s4

ps2,t(Un) | 1/4 0 1/4 1/2
ps2,t(Opp) | 0 1 0 0
ps2,t(Adj) | 0 1 0 0
ps3,t(Un) | 0 1 0 0
ps3,t(Opp) | 1 0 0 0
ps3,t(Adj) | 0 0 0 1
ps4,t(Un) | 0 1 0 0
ps4,t(Opp) | 0 0 0 1
ps4,t(Adj) | 1/2 0 1/2 0
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���
 �� 
��
���
 ����� 
� �
 �
��� 1� �)
� � � �:
� �� � � 
�
� ��2 � ����

��
 #
 ���������

8� 
�� ���
���
�
 �
 ����
� � �� ��������
 �  �
� �
� �����
��� #
 �������� 3 ��3 � ����
���� �	��� � & �
�� ����� �� � �������� �� �������� � 
���!���

(S,A, p)�� ���
 �� ��� ��
�
t

��� 
������%$� ��� ���
s

� ��$ �� �� �� �� �� �� �� ��
s
�

t
�
�� $� � �
� � �

(S, ρS)
�

�� ��� �� ��� ����� %$�
T ⊆ S

��� 
������%$� ��� ���
U ⊆ S

� ��$ �� ���� ���� ��
��
t ∈ T

��
u ∈ U��$� �� �

t
��� 
������%$� ��� ���

u
� �� � ��� 
���� ��� ��� $�� ������� � �
������%�$��� ��� ��� ��

��
� !��� �� ����� %$� � ���
�� 
�� !��� !���
� �
�� � 
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���
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�� �
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-
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�
�
��
� ���� �
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 �

(S, ρS)
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� 
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:
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��5 � � ��� �� ���� ����� %$�
T

� ���
��� �� ��� ��� $ ��! �� ��
� ���

reach(T )
� 
� ∃kXk ∈ T

� ��� �!�� �� ��� ��� ���� !�
� ��� �� � �� ������� �� ����� �� �������

����� �

T

��3� � ���� ������ � 
��
� �
 ��3�
� ��
 (����
�� ������
�
 �
 �������� 3 ��� � �

inft
� & �
�� ������ ��� �� �������

ω
� �� ��� ��� "

inft(ω) = {(s, a)|∀n∃k > nXk = s ∧ Yk = a}
��� ��� ������� $ ������ %$� ��� ���� $�� ��
���
������ ��� 
��
�
����� � ��� ��� ���� �� � ��� �
��
ω

�
����
�(
��
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��
 ����

 ���� ������ ����
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�
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Π = (S,A, p)
� �� ����� %$� ��
��
����� ��� �� ���������� %$�

χ ⊆ {(s, a)|s ∈ S∧a ∈
A(s)} � �� �������� ��

Π
��� �� ���� $�

(C,D)
��

C ⊆ S
��

D
��� �� � � ������� ��� 
������

� ��
�� �
s ∈ C

�� ����� %$�
D(s) ⊆ A(s)

� �
������ � �� � ��� ���� � 
��$�� ��� ��
%$�� �� �
����������
��� ����� $�� ����� %$�� � ���
��
����� �� $�� �������� ��� ��� �
� "

�
& �
�� ����� �� ����� %$� ��
��
�����

χ
� �� �%����� $� ��������

sub(χ) = (C < D)
!�� "
C = {s|∃a(s, a) ∈ χ} D(s) = {a|(s, a) ∈ χ}

�
& �
�� ����� �� �������� 
���� � �� �%���� � �� ����� %$� � ���
��
�����

sa(C,D) =
{(s, a)|s ∈ C ∧ a ∈ D(s)}
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t
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�� � ��
�
&
 
� ���
�
����� ��
 ���
�� �


D(s)
� ���� ���
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� �
$ 
�
�� � � �
������
(C,D)

�
� "
� C = {s ∈ S|s = 66x}� ���� ��� ��� $�� ���� ���
����� � ����%$�� 
!�� ����

6
�

�
� ��� ����

s ∈ C
�� � ���

D(s) = U3�$ ��� �!����� �� � ������ ��� ���� ����� ��$����� � $� � �
� � �
(C, ρ(C,D))

��� � ����� ��� ������ ��
�� �� � ���� $�� ����������� ��� �$�� ���� ��

C
���� �
��

C
�
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�� ��� �� ��� $�� �� � ��� 
���� ����!�� � $�������
������
��� � �
�� � � 
� �� ��� $�

(C,D)
��$ ��� "

� C = {s2}
� D(s2) = {Un,Adj} �

�
 � ���!� ��� �!�������
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(C,D)
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�� � �
$� � ���
����� ��$����� �

η
� �$ �� ���� ��� ��$����� �

η′
� ��� ��� ��� ��

η
��� $�� ��� ���

C
� ��$ $� �� � "

�η
s(reach(C)) =

�η′

s (reach(C)) =
�η′

s (inft(ω) = sa(C,D))

���� ����
s ∈ S

�
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���� � $� ��� �������
�� �
 �
 �����*� 
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t = | A B Bon Mauvais

pA,t(a) | 0 0 9/10 1/10
pB,t(b) | 0 1 0 0
pB,t(c) | 1/2 1/2 0 0
pB,t(d) | 0 0 1/2 1/2
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���� ������ ������
� �� ��
�

µk �
��
  �
 :

Lµk [Lk−1v] = Lkv
� ��� ����
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� �� ��1�

����
�� ������
vµ 
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s ∈ S − R
�
µ′(s) = arg min

a∈A(s)
[c(s, a) +

∑

t∈S−R

pst(a)vµ
t +

∑

t∈R

pst(a)g(t)].
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� � �� ���
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&' ()*+,-., /, ()01'12324*+ /'-+ 5- 6)'-/ -071), /, ()040 .03,+ 2-80)7 '4295,+ :(') ,;,7 (3,
.,5; /, .07 75-2.'420-+< ,+4 ,++,-42,33, = (')802+ 7 >7 , /*4,)7 2-'-4, ( 05) 3,5) 1 0- 80-.420-?
-,7 ,-4 @ A05+ ( 05B0-+ .24,) (35+2,5)+ ,;,7 (3,+ /, .,+ ()040 .03,+ C 3, ()040 .03, DEEE F�GH
I2),J 2), *45/2* /'-+ KLA MMNOP = 3, ()040 .03, QMR S TQS DEEE UNO @FF *45/2* /'-+ KLA MNOP =
05 3, ()040.03, DEEE UNO @� QMR S TQV *45/2* /'-+ KIR WNH/ = VIX+NHP ,4 /0-4 -05+ /*?
4'233,)0-+ 3,+ )*+534'4+ /'-+ 3, .Y'(24), � ,- 80-4 (')42, @ &' ()*+,-., /, ()01'12324*+ /'-+ .,+
()040 .03,+ 4,7 (0)2+*+ ,+4 +05B,-4 -*.,++'2), = .07 7 , /'-+ 3' (35(')4 /,+ .'+ 05 3,+ ()01'12324*+
+0-4 2-4)0/524,+ = ( 05) 1)2+,) /,+ +Z7 *4)2,+ ,4 ( 05) '++5),) .,)4'2-,+ ()0()2*4*+ /, .0-B,)6,-.,
&,+ 7 0/*32+'420-+ .3'++295,+ :'5407 '4,+ 4,7 (0)2+*+ = .Y'[-,+ /, R ')\0B = ()0.,++5+ /, /*.2+20-
7 ')\0B2,-+< -, ( ,)7 ,44,-4 ('+ /, 3,+ /*.)2), .0-B,-'13,7 ,-4 @ D3 ,+4 /0-. -*.,++'2), / ]2-4)0?
/52), 5-, -05B,33, -0420- 952 .0712-,)' ^ 3' 802+ 3' ()*+,-., /, 4,7 (+ :+Z71 032+*+ (') /,+
Y0)306,+< = /, .Y02; ()01'1232+4, ,4 /, -0- /*4,)7 2-2+7 , _ 3,+ '5407 '4,+ ()01'1232+4,+ 4,7 ( 0)2?
+*+ :S`W< @ Q ],+4 ., 80)7 '32+7 , 95, -05+ /*.)2)0-+ /'-+ ., .Y'(24), '2-+2 95, 3' 7 '-2a), / ],-
*45/2,) +,+ ()0()2*4*+ @ b- 6)'-/ -071), / ]'54,5)+ /2c*),-4+ 0-4 /*d-2 .,+ 7 0/a3,+ :.240-+ (')
,;,7 (3, KSQV GF= /S Ge' = fL GgP< = 7 '2+ -05+ 'B0-+ .Y02+2 2.2 /, +52B), 3,+ -04'420-+ /, KLA MP @

h ij k lm nopoqn rst uvpqw upst psw x qyotlt xyqz uz o{otpst
&,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ +0-4 5-, ,;4,-+20- -'45),33, /,+ '5407 '4,+ 4,7 ?

( 0)2+*+ :B02) KSV GHP< @ b- '5407 '4, 4,7 (0)2+* .3'++295, .0-+2+4, ,- 5- 6)'(Y, /, .0-4)|3,
d-2 = /0-4 3,+ -0,5/+ +0-4 '(( ,3*+ *4'4+ = ,4 952 ,+4 *952( * / ]5- ,-+,713, d-2 /, B')2'13,+
)*,33,+ '(( ,3*+ Y0)306,+ = /0-4 3' B'3,5) 4)'/524 3 ]*B035420- /5 4,7 (+?)*,3 @ &,+ ')>4,+ :'(( ,?
3*,+ 4)'-+2420-+< /5 6)'(Y, /, .0-4)|3, +0-4 +024 405} 05)+ /2+( 0-213,+ 05 +024 /2+( 0-213,+ 95,
+05+ .,)4'2-,+ .0-4)'2-4,+ +5) 3,+ Y0)306,+ @ V, (35+ = 5- ,-+,713, / ]Y0)306,+ ( ,54 >4), ),7 2+
^ ~*)0 = 95'-/ 5-, 4)'-+2420- ,+4 ,c,.45*, @ &,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ = +0-4 /,+
'5407 '4,+ 4,7 ( 0)2+*+ ( 05) 3,+95,3+ 23 ,; 2+4, /,+ /2+4)215420-+ /, ()01'12324*+ +5) 3,+ /2c*),-4,+
4)'-+2420-+ @ V0--0-+ ,- /'-+ ., (')'6)'(Y, 3,+ /*d-2420-+ 80)7 ,33,+ @
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; <�
�
T ∈ {R+, N} �� ��� �
� � ��� ������ =���� � �� ���� �> ���� ��
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�
? � "
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� X �� ����� @�� A �
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�@��� ��� ��=� B����� �� ��
 � ������� ����� ������� ��� ��
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T
"

C� =�=� ���
v ∈ T

|X | ��� ��� ��= ��� ������
�� � !B����� �� " D ��� ��������
0 ∈ T

|X | �� ������
��
� !B����� �� ��
 �����
�

0 E ��� ��� ��� B����� �� �� X "
<�
�

v ∈ T
|X | ��� ������
�� � !B����� �� ��

t ∈ T
��� ���=�> ����� �� ������
�� � !B����� ��

v
⊕

t��� �=��� �� � !
���=� ��� �� ���� � FG�
� �� � ���
� H "I "J ���� �� �=� ���
�� �K "
L�A � ���� ��������

v[X := 0]
�� ������
�� � !B����� �� �@���� � �� �=
�
�
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��� � ������ ���

B����� �� ��
X E M =�� �� �� ��
����� ��� ������ 
��B��� =�� "

&'()*+*,) - .N . 0O,)25: D ��� ��������
Zones(§) � !����� @�� ��� M���� ��� X > ��
 ���� �=�

A �
�� ��� �� ���P ����
�� �� ��� ���
� ��� ���� 
�� �� �� �� ? ��� �
x ./ c

��
x − y ./ c

> ����
x, y��� B����� ��

./∈ {<,>,≤,≥}> ��
c ∈ N

" C�� M���
ξ

��� �
�� ���� � ���� �
�� ����� �
 �� �� � �
�������� � �� �� ��� ���
� ��� �� �� ? ��� �

x − y ./ c
> �� �� ��� �
�� ? ��� =� �
 �� �� � � ��������

��� �� ������
� ��� �� �� ? ��� �
x ./ c

��
x − y ./ c
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./∈ {<,>} " Q� ������
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ξ
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v C ξ
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A05+ ( 05B0-+ ^ ()*+,-4 /*d-2) 3,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+

&'()*+*,) - .S . 0TU+,3V+25 +234,7*5'5 47,WVW *8*5+25: C� ����� ��� ������
�= � ��@�@
�
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� �� ��� �� X��� ���

ATP = (L,X ,Σ, inv, prob)
�Y Z

; L
��� �� ����� @�� A �
 � !=���� [

; Σ
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; �� ? ����
��
inv : L → Zones(X )
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prob ⊆ L × Zones(X ) × Σ × Dist(2X × L)
��� �=��� �� � !����� @�� ���
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� ��� " C�� �����
�
�� � ��@�@
�
� �� � ���� �� ? ��� � � !��
������� ���

(l, g, σ, p) ∈ prob
> ���� ���� ��

l
��� � !=��� �� �=���� �� �� �����
�
�� >

g
���

�� ����
�
�� � !���
���
�� F�� � ����K >
σ

��� � !=�=� �� ���" ��
p

��� �� �
���
@��
�� ��� ���
�����
�
��� "

L�A � > �� ����� ��� ������
�= � ��@�@
�
� �� ��� �
� ���� � ���� �
�� ����� F? ��� =K �
 ������ ���
M���� ��
�
�=�� ���� �� �����
� �
�� ���� ���� � ���� �
�� ����� F? ��� =�K "

b-, .0-d65)'420- / ]5- '5407 '4, 4,7 ( 0)2+* ()01'1232+4, ,+4 /*d-2 (') 5- .05(3,
(l, v)

= 0\
l ∈ L

,4
v ∈ T

X 4,3 95,
v C inv(l)

@ M2 3' .0-d65)'420- .05)'-4, ,+4
(l, v)

= 23 Z ' 5- .Y02; -0-
/*4,)7 2-2+4, ,-4), 3'2++,) 3, 4,7 (+ ('++,) 4'-4 95, .0-42-]7 ,-4 3' .0-/2420-

inv(l)
,+4 B*)2d*, =

05 8'2), 5-, 4)'-+2420- /2+.)a4, .0-80)7 *7 ,-4 ^ 5-, /2+4)215420- /, ()01'12324* /'-+
prob

952
' ( 05) *4'4 /, /*(')4

l
,4 /0-4 3' .0-/2420- / ]'.42B'420-

g
,+4 +'42+8'24, = (') 3' B'35'420- .05?

)'-4, /,+ Y0)306,+
v

@ M2 3' 4)'-+2420- ()01'1232+4,
(l, g, σ, p)

,+4 .Y02+2, = '30)+ 3' ()01'12324* ( 05)
'33,) ^ 3' 3 ]*4'4

l′
,- ),7 ,44'-4 ^ ~*)0 3,+ Y0)306,+ /, 3 ],-+,713,

X
,+4

p(X, l′)
@ &' +*7 '-4295,

/,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ = +,)' (35+ 6)'-/,7 ,-4 /*4'233*, /'-+ 3' (')42, +52B'-4,
H @F@O @
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Echec

x ≥ 4 0, 99 x := 0

x := 0
0, 01

x := 0 x = 3
Envoi

x ≤ 5 x ≤ 3

Attente

��� � H @F � b- '5407 '4, 4,7 (0)2+* ()01'1232+4, +27 (3,

&' .0-B,-420- 6)'(Y295, /,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ ,+4 ()0 .Y, /, .,33, /,+
'5407 '4,+ 4,7 ( 0)2+*+ .3'++295,+ @
&,+ *4'4+ +0-4 ),()*+,-4*+ (') /,+ .,).3,+ = ,4 3,+ 4)'-+2420-+ (') /,+ 	a.Y,+ @ Q07 7 , -05+ 3,
B0Z0-+ /'-+ 3' d65), H @F= 3,+ 6')/,+ = 3,+ 7 2+,+ ^ } 05)+ ,4 3,+ ()01'12324*+ *4295,44,-4 3' 4)'-?
+2420- '30)+ 95, 3,+ 2-B')2'-4+ +0-4 /0--* ^ 3 ]2-4*)2,5) /,+ *4'4+ :/'-+ 3,+ .,).3,+< @ E-d- 3,+
4)'-+2420-+ ()01'1232+4,+ +0-4 ),()*+,-4*+ (') /,+ 	a.Y,+ ,- ( 02-4233*+ @


�23482 - .- . G�
�
 �� �����
� �
�� � ��� B 
��� � !�� �� ��� �� ��R� �
�� �� � !����� ��� ������
�=
� ��@�@
�
� ��" 
���� �� ��� �� ��� � �
��
� ���� ��� �
�= �� �%�D �J�


�� ����� ��� ��� �=����� �� ��������� ��� � !�� =� ������ ��
 ����
� � !����$�� �� � ����� � �����
4

��
5

��
�= �� ���� �> �� �
 � !����
 �� �=���
 F���� � ��@�@
�
�=
0, 99

K ������ ���
� ��
�=� �� ���� �
����� �� �=����$�� � !����$�� �� ������� � ����� �"

D ��� ������� ���� �� ����� �� ��� �� ��� �� ������ ��� ������=�
��
�� �� �� ��� ����� ���
������
�= � ��@�@
�
� �� ���� ��� �����
��� F��
� �=A �
�
�� H "�K Z

; L = {Envoi,Attente,Echec}
; X = {x}
; Σ = ∅
; inv(Envoi) = {x ≤ 5}
; inv(Attente) = {x ≤ 3}
; prob = {(Envoi, x ≥ 4, p)} ���� ���� ��

p({x}, Attente) = 0, 99
��

p({x}, Echec) = 0, 01

♣

W05) 8'.2324,) 3' 7 0/*32+'420- /,+ +Z+4a7 ,+ .07 (3,;,+ 95, -05+ '330-+ *45/2,) = 23 ),+4, ^
/*d-2) 3,+ -0420-+ / ]*4'4+ 5)6,-4+ ,4 /, .07 ( 0+2420- (')'33a3, / ]'5407 '4, 4,7 (0)2+* ()01'12?
32+4, @
&'()*+*,) - .� . 0
+V+5 U792)+5:

C� =��� � !�� ����� ��� ������
�= � ��@�@
�
��� ��� �
� ��� ���> �
 �� � ? �
� �� !�� $ ����� �� $
���� 
� � =�
���� ���> ���� ��
�� �� �� ���� � ������" Q� ���
�� � !��� ���� ���� ��� =���� ��� ��R�
� ���B � �� �� ���
�� �� �����
�
��� ��� ����� F��
� ��� ����> % ������K "
Q� ���
�� � !=���� ��� ���� � ��� ? ��
��� ��� � !��� �
� �� �� ��
�
���� �� �=A �
�
�� H "�> � ���� E �� �
B����� � ���� �=� ����
�� ��� ��� 
��� E M =��� �� ��� ����
�
��� � !
����
����"
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& ]2335+4)'420- /, ., .0-.,(4 +,)' /0--*, /'-+ 3, .Y'(24), +52B'-4 = 30)+95, -05+ *45/2,)0-+
3, ()040 .03, QMR S TQV @
D3 ,+4 (')802+ ,++,-42,3 = ^ 3' 802+ (') 5- +05.2 /, .3')4* = ,4 '5++2 /5 8'24 /, 3' /,+.)2(420- /,+
+Z+4a7 ,+ 54232+*+ /, /*.)2), 3 ]'5407 '4, 4,7 (0)2+* ()01'1232+4, .07 7 , 5- ()0/524 /, (35+2,5)+
'5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ = . ],+4 ., 95, -05+ '(( ,30-+ 3' .07 (0+2420- (')'33a3, @
&'()*+*,) - .� . 0�,34,5*+*,) 4V7V88� 82 : Q� ������
�
�� ����� �R�� �� ���� ����� ���� ��� �
���
�=� � ��@�@
�
����

PTA1
��

PTA2
> ���� ����� ��� X∞ ∩ X∈ = ∅> ��� � !�� ��� ��� ������

�
�= � ��@�@
�
���
PTA1 ‖ PTA2 = (L1 × L2,X∞ ∪ X∈,±∞ ∪ ±∈, 〉\v,√∇ob) �Y

inv(l, l′) =

inv1(l) ∧ inv2(l
′)

���� ����
(l, l′) ∈ L1 × L2

��
((l1, l2), g, σ, p) ∈ prob

�
 �� ������ ��� �
 �� �
��� � ��� ��
�
��� ��
������ ��� �=�
A =� Z

; σ ∈ Σ1 − Σ2
�� 
� �� 
���

(l1, g, σ, p1) ∈ prob1
��� ���

p = p1 ⊗ µ(∅,l2)
[

; σ ∈ Σ2 − Σ1
�� 
� �� 
���

(l2, g, σ, p2) ∈ prob2
��� ���

p = µ(∅,l1) ⊗ p2
[

; σ ∈ Σ1 ∩ Σ2
�� 
� �� 
���

(l1, g, σ, p1) ∈ prob1
> ��

(l2, g, σ, p2) ∈ prob2
��� �� �

g = g1 ∧ g2��
p = p1 ⊗ p2

>
�Y> ���� ����

l1 ∈ L1
>
l2 ∈ L2

>
X1 ⊆ X1

��
X2 ⊆ X2

> �� ����
p1 ⊗ p2(X1 ∪ X2, (l1, l2)) =

p1(X1, l1).p2(X2, l2)
"

� ���� �#����"��� ��� ��������� ��� �!"�#�  !�$�$ "%"����
&' +*7 '-4295, /,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ +, /*d-24 ,- 4,)7 ,+ /, ()0.,++5+

/, /*.2+20- 7 ')\0B2,-+ = 3' +,53, /2c*),-., 'B,. 3,+ /*d-2420-+ ,4 3,+ )*+534'4+ /0--*+ /'-+
3, .Y'(24), O ,+4 95, 3, -071), / ]*4'4+ ,4 /, 4)'-+2420-+ ( ,5B,-4 >4), 2-d-2+ @ W05) *B24,) 3,+
.0-85+20-+ :3,+ )*+534'4+ +5) 3,+ ()0.,++5+ /, /*.2+20- 7 ')\0B2,-+ /5 .Y'(24), O *4'-4 6301'?
3,7 ,-4 8'5; /'-+ 3, .'+ 2-d-2< -05+ /*d-2++0-+ 2.2 = 5-, -0420- ,++,-42,33, *952B'3,-4, ^ .,33,
/, ()0 .,++5+ /, /*.2+20- 7 ')\0B2,- C 3,+ +Z+4a7 ,+ ()01'1232+4,+ :B02) KLA MP< @ A040-+ = /, (35+
95, .,44, -0420- ,+4 *952B'3,-4, ^ .,33, / ]'5407 '4,+ ()01'1232+4,+ /, KM&G� P ,4 /, +Z+4a7 ,+
()01'1232+4,+ ,4 -0- /*4,)7 2-2+4,+ /, Kf/S G�P @
&'()*+*,) - .� . 0��5+�325 47,WVW *8*5+25: C� �$��R� � � ��@�@
�
���

SP = (S,Act, Steps)����
��� �� �� ����� @��
S

� !=����> �� ����� @��
Act

� !���
��� �� �� � �����
�� �� �����
�
��
� ��@�@
�
� ��

Steps ⊆ S × Acts × Dist(S)
"

�- ,c,.45, 5-, 4)'-+2420- ()01'1232+4,
s

a,µ→ s′
/,(52+ 3, +24,

s ∈ S
,- .Y02+2++'-4 / ]'1 0)/

/, 7 '-2a), -0- /*4,)7 2-2+4, 5- .05(3, '.420-?/2+4)215420-
(a, µ)

4,3 95,
(s, a, µ) ∈ Steps

= ,4
,- 8'2+'-4 ,-+524, 5- .Y02; ()01'1232+4, /, 3 ]*4'4

s′
.0-80)7 *7 ,-4 ^ 3' /2+4)215420-

µ
@

�,77254 ,)	V)
2 2)+72 825 47, 
255U5 	2 	'
 *5*,) 3V7�,� *2)5 2+ 825 5�5+�325
47,WVW *8*5+25 
 M024

SP = (S,Act, Steps)
0- /*d-24 3, ()0 .,++5+ /, /*.2+20- 7 ')\0B2,-

.0)),+( 0-/'-4
(S′, A, p)

(') _
�

S′ = S
=

� W05) 4054
s ∈ S

0- ' =
A(s) = {a ∈ Act|∃µ ∈ Dist(S), (s, a, µ) ∈ Steps} =

� W05) 4054
s ∈ S

,4 4054
a ∈ A(s)

0- '
ps,s′(a) = µ(s′)

'B,.
(s, a, µ) ∈ Steps

�- ( 05))'24 /, 3' 7 >7 , 7 '-2a), 4)'-+80)7 ,) 3,+ ()0 .,++5+ /, /*.2+20- 7 ')\0B2,-+ ,- +Z+4a7 ,+
()01'1232+4,+ @

A05+ ( 05B0-+ = ^ ()*+,-4 /0--,) 3' +*7 '-4295, /,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ ,-
4,)7 ,+ /, +Z+4a7 ,+ ()01'1232+4,+ @ Q07 7 , ( 05) 3,+ '5407 '4,+ 4,7 ( 0)2+*+ .3'++295,+ = 23 ,; 2+4,
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 �G
/,5; +0)4,+ /, 4)'-+2420-+ = 3,+ 4)'-+2420-+ 4,7 (0),33,+ /5,+ ^ 3 ]*.053,7 ,-4 /5 4,7 (+ ,4 3,+
4)'-+2420-+ /2+.)a4,+ 952 .0)),+( 0-/,-4 '5; 4)'-+2420-+ ()01'1232+4,+ @ &' /*d-2420- +52B'-4, ,+4
(')'7 *4)*, ^ 3' 802+ (') 3, /07 '2-, 4,7 ( 0),3

T
,4 (') 3' 7 '-2a), /0-4 3, 4,7 (+ + ]2-.)*7 ,-4,

⊕ @
&'()*+*,) - .� . 0�'3V)+*�U2 	25 VU+,3V+25 +234,7*5'5 47,WVW*8*5+25: Q� �=� ���
�� �
� !�� ����� ��� ������
�= � ��@�@
�
���

ATP = (L,X ,Σ, inv, prob)
�$��� � ��� ��� �
� � ��������

T
�� � ��� 
���=� ��� �������� ⊕ ��� �� �$��R� � � ��@�@
�
���

SP⊕
T

= (S,Act, Steps)
��� �� � Z

; S ⊆ L × T
|X | ��� �� �

(l, v) ∈ S
�
 �� � �� ��� �� � �


v C inv(l)
[

; Act = T ∪ Σ
; Steps

��� � !����� @�� �� �����
�
��� � ��@�@
�
���� �=A �
�� ���� � ��
�> ���� ����
(l, v) ∈ S

Z
• �����
�
��� �������� ��� Z � ��� �B���� ���=�

t ∈ T
> ��
�

((l, v), t, µ) ∈ Steps
�
 ��

��� ��� ��� �

v ⊕ t′ C inv(l)

���� ����
0 ≤ t′ ≤ t

��
µ(l, v ⊕ t) = 1

[
• �����
�
��� �
���R��� Z � ��� ������ ��� �����
�
��� � ��@�@
�
����

(l, g, σ, p) ∈ prob
> ��

����
((l, v), σ, µ) ∈ Steps

�
 �� ��� ��� ��� �

v C g

> �� � ��� � ��� ����
(l′v′) ∈ S

�� � Z

µ(l′, v′) =
∑

X⊆X∧v′=v[X:=0]

p(X, l′),

�� � ��� ����
(X, l′) ∈ 2X × L

��� �� �
p(X, l′) > 0

�� �
v[X := 0] C inv(l′)

� 23V7�U25
� D3 Z ' /,5; .3'++,+ /2+42-.4,+ /, +*7 '-4295,+ 952 /*( ,-/,-4 /, 3' /,+.)2(420- /5 4,7 (+

95 ]0- .Y02+24 @ M2
T = R

'30)+ 0- -04, ⊕ = +
,4 3' +*7 '-4295, '++0 .2*, ,+4 '(( ,3*,

+*7 '-4295, .0-42-5, @ W') .0-4), +2
T = N

= 0- -04,)' ⊕ = ⊕N

,4 3' +*7 '-4295, '++0 .2*,
+,)' '(( ,3*, +*7 '-4295, ,-42a), @ &' /*d-2420- /, 3 ]0( *)'4,5) ⊕N

,+4 .07 7 , +524 @ M024
ATP

3 ]'5407 '4, 4,7 ( 0)2+* ()01'1232+4, C ( 05) 4054
x ∈ X = 0- -04,)'

kx
3' (35+ 6)'-/,

.0-+4'-4, ^ 3'95,33, 3 ]Y0)306,
x

,+4 .07 (')*, /'-+ 3,+ ~0-,+ /,
ATP

@ S 2-+2 ( 05) .Y'95,
B'35'420-

v ∈ N
|X | ,4 ( 05) .Y'95, /5)*,

t ∈ N
= 0- ( 0+,)'

v ⊕N t
3' B'35'420- / ]Y0)306,

/, X 952 '++26-, 3' B'3,5)
min{vx + t, kx + 1} ^ 4054,+ 3,+ Y0)306,+

x ∈ X @ &' /*d-2420-
/, 3' +*7 '-4295, ,-42a), ( 05) 3,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ ,+4 3 ],;4,-+20-
-'45),33, /, .,33, /, 3' +*7 '-4295, ,-42a), ( 05) 3,+ '5407 '4,+ 4,7 (0)2+*+ .3'++295,+ B02)
Kf,ZN F= XR WGO = SR `GU = fR `GGP @ A05+ 07 ,44)0-+ (') 3' +524, 3,+ /2+42-.420-+ ,-4),

+,4 ⊕N

= .') 5-, 802+ 3, /07 '2-, 4,7 ( 0),3 .Y02+2 = -05+ d;,)0-+ '5++2 3 ]2-.)*7 ,-4'420- = 23
- ]Z '5)' /0-. ('+ /, .0-85+20- @

� �- ( ,54 -04,) '5++2 95, 3' +*7 '-4295, ,-42a), / ]5- '5407 '4, 4,7 ( 0)2+* ()01'1232+4, ,+4
d-2, = '30)+ 95, 3' +*7 '-4295, .0-42-5, ,+4 6*-*)'3,7 ,-4 2-d-2, @ Q,+ )*+534'4+ /*.053'-4
/2),.4,7 ,-4 /,+ /*d-2420-+ @

� D3 - ],+4 ('+ /2� .23, /, B*)2d,) 95, 3' +*7 '-4295, /, 3' .07 (0+2420- (')'33a3, /, /,5; '540?
7 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ .0)),+( 0-/ ^ 3' .07 ( 0+2420- (')'33a3, /, 3,5) +*7 '-4295,
2-/2B2/5,33, @ M024 (35+ 80)7 ,33,7 ,-4

SP1⊕
T
||SP2⊕

T

,+4 2+07 0)(Y, ^
S(P1||P2)⊕

T

�' 3' 802+
( 05) 3' +*7 '-4295, ,-42a), ,4 .0-42-5, @

� E-d- = -05+ ( 05B0-+ ),7 ')95,) 95 ]0- ( ,54 54232+,) 3, 7 >7 , B0.'153'2), 95, .,35 2 /,+
()0 .,++5+ /, /*.2+20- 7 ')\0B2,-+ ( 05) 3,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ ,- 4,)7 ,
/, .Y,7 2-+ = /, ( 0324295, :05 '/B,)+'2),< ,4 /, 7 ,+5), /, ()01'12324* @ �- ( ,54 '5++2 1 2,-
+]) (')3,) /, ()01'12324* 7 ';27 '3, ,4 7 2-27 '3, / ]'44,2-4, / ],-+,713,+ /0--*+ @ W05) (35+
/, /*4'23 0- ( ,54 +, ),( 0)4,) '5 .Y'(24), O 05 ^ KLA MP @
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E-d- 4,)7 2-0-+ .,44, (')42, ,- /0--'-4 5- 4Y*0)a7 , 80-/'7 ,-4'3 952 /*.053, /, )*+534'4+
+27 23'2),+ *4'132+ /'-+ Kf,ZN FP = ,4 952 ( ,)7 ,4 / ]*4'132) 3' .0)),.420- /, 3' +*7 '-4295, ,-42a), @
Q, )*+534'4 - ],+4 B'32/, 95, ( 05) 3,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ 8,)7 * ,4 +'-+ 6')/,+
/2'60-'3,+ @ A05+ -04,)0-+

L′ 5- ,-+,713, / ]*4'4+ .21 3,+ /, 3 ]'5407 '4, 4,7 (0)2+* ()01'1232+4,
ATP

= ,4 -05+ -04,)0-+
FL′

T
= {(l, v)|l ∈ L′, v ∈ T

|X | ∧ v / inv(l)} 3 ],-+,713, /, 4054,+ 3,+
.0-d65)'420-+ .0)),+( 0-/'-4,+ '5; *4'4+ /,

L′ @ SB,. .,+ -04'420-+ -05+ 'B0-+ 3, 4Y*0)a7 ,
+52B'-4 :42)* /, KLA MMNOP< @
1�',7�32 - .� . 0
�U*�V82)
2 5'3V)+*�U2 2)+*�72 2+ 
,)+*)U2: � ��� ���� ����� ���
������
�= � ��@�@
�
���

ATP = (L,X ,Σ, inv, prob)
? ��� = �� ���� � ���� �
�� �����> �Y �� =���


�
�
��
li

�� �� ����� @�� � !=���� �
@���
L′ �� � Z

MaxProbReachSPR
((li, 0), F

L′

R ) = MaxProbReachSPN
((li, 0), F

L′

N )

MinProbReachSPR
((li, 0), F

L′

R ) = MinProbReachSPN
((li, 0), F

L′

N )

����
MaxProbReach

��
MinProbReach

���� ��� ���� �
��� ��� � ��@�R� �� ��� � ��@�@
�
�=� � !���
����
@
�
�= � �� 
� ��� �� � 
�
� ��� �=��
� ���� �� �B�� 
��� � "
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�� ��" % ��� �� ��� ���� ������� ? ��
��� ��� ������
��� ������=�
� �
���� �� �$��R� � � ��@�@
�
��� ��� ����=" D ��� � �������� 
�
 �� ��� �Y �� ��� �
� �
�������� ��� �
����� F

N
K " D ��� ����� �
��
 �� ��
��� � ��� �����
��� �� �� �=A �
�
�� H "� Z

; S = {(Envoi, 0), (Envoi, 1), (Envoi, 2), (Envoi, 3), (Envoi, 4), (Envoi, 5), (Attente, 0)
>

(Attente, 1), (Attente, 2), (Attente, 3), (Echec, 0)}
; Act = N

; Steps = {((Envoi, 4), 4, µ), ((Envoi, 5), 5, µ)} ���� ���� ��
µ(Erreur, 0) = 0, 1

��
µ(Attente, 0) = 0, 99

" ���� ��� ������ =���� ����
♣

h i� � lyom�upoqn sp un u{�ts r st uvpqw upst psw x qyotlt x yqz uz o�
{otpst

&' (),7 2a), *4'( , 'B'-4 3 ]'-'3Z+, ,+4 3, .Y02; /5 /07 '2-, 4,7 ( 0),3 = /, 7 '-2a), 6*-*)'3,
,+4 5- 4,7 (+ /,-+, :(') ,;,7 (3,

R
< @ R '3Y,5),5+,7 ,-4 = /'-+ ., .'+ 3 ],-+,713, /,+ B'3,5)+

( 0++21 3,+ ()2+,+ (') 3,+ Y0)306,+ ,+4 2-d-2 @ &' B*)2d.'420- /,+ 7 0/a3,+ 2-d-2+ *4'-4 .07 (3,;, =
23 ,; 2+4, 5- 6)'-/ -071), /, .'+ = ( 05) 3,+95,3+ 5- 7 0/a3, d-2 *952B'3,-4 ( ,54 >4), .0-+4)524 @
Q, +0-4 ^ .,+ 7 0/a3,+ 95, -05+ -05+ 2-4*),++0-+ 2.2 @ &' 7 *4Y0/, 3' (35+ .3'++295, .0-+2+4,
,- 3' /*4,)7 2-'420- /5 6)'(Y, /,+ )*620-+ C 5-, )2.Y, 3244*)'45), 4)'24, /, ., +5} ,4 /'-+ 3,
.'+ /,+ '5407 '4,+ 4,7 ( 0)2+*+ .3'++295,+ KSV GHP = -05+ ,;'7 2-,)0-+ .07 7 ,-4 .,44, 7 *4Y0/,
+ ]'((3295, '5; '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ @ &' +,.0-/, .0-+2+4, ,- 3' B*)2d.'420- /,+
()0()2*4*+ 4,7 (0),33,+ (') ,;(30)'420- ,- 'B'-4 = ,- 24*)'-4 3 ]0( *)'4,5) /, +5..,++20- /,(52+
3,+ *4'4+ /, /*(')4 KV�`	 GgP @ E-d- = 5-, '54), +035420- = ,+4 /, -, ('+ (),-/), 5- /07 '2-, /,
4,7 (+ /,-+, 7 '2+ 5- /07 '2-, /, 4,7 (+ /2+.),4 :

N
< = ,4 / ]54232+,) 3' +*7 '-4295, ,-42a), = +05+

3' .0-/2420- 95, 3 ]'5407 '4, ,+4 8,)7 * ,4 +'-+ 6')/, /2'60-'3, @
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A05+ 'B0-+ /*4,)7 2-* '5 .Y'(24), � (05)9502 -05+ -05+ 2-4*),++0-+ '5 ()013a7 ,+ /, 3'
()01'12324* / ]'..,++21 2324* 7 ';27 '3, ,4 7 2-27 '3, @ Q,+ /,5; 95'-424*+ + ],;()27 ,-4 8'.23,7 ,-4
/'-+ 3' 306295, ()01'1232+4, 4,7 ( 0),33, W Q`& KX�GH = f/S G�P @ Q,44, 306295, ,+4 014,-5, /,(52+
3' 306295, 4,7 ( 0),33, .3'++295, Q`& ,- ),7 (3'�'-4 3,+ 95'-42d.'4,5)+ ,; 2+4,-42,3 ,4 5-2B,)+,3
∃ ,4 ∀ = (') 5- 95'-42d.'4,5) ()01'1232+4, � @
W') ,;,7 (3, = 3' 80)753, WQ`& �

≥λ(�Φ)
,+4 B)'2, /'-+ 5- *4'4 /5 +Z+4a7 , ()01'1232+4, +2

4054,+ 3,+ ( 0324295,+ '++26-,-4 5-, ()01'12324* '5 7 02-+ *6'3, ^
λ

'5; .Y,7 2-+ 952 '..a/,-4 ^
5- *4'4 /'-+ 3, 95,3 3' 80)753,

Φ
,+4 B*)2d*, @ V , .,44, 7 '-2a), 0- ( ,54 8'.23,7 ,-4 ,;()27 ,)

3,+ ()0()2*4*+ / ]'..,++21 2324* 7 2-27 '3,+ ,4 7 ';27 '3,+ @
A05+ ( 05B0-+ ^ ()*+,-4 /*.)2), 3,+ /2c*),-4+ 7 0/a3,+ '1+4)'24+ ( ,)7 ,44'-4 /, B*)2d,) .,+

()0()2*4*+ @

� �� �� ���%��� �� �	���
&' /,+.)2(420- /, .,44, 7 *4Y0/, ,+4 /0--*, ,- /*4'23 /'-+ KLA MP &' 7 *4Y0/, (') ,;(30)'?

420- ,- 'B'-4 ( 05) 3' B*)2d.'420- /,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ 54232+, 5-, ),.Y,).Y,
+5) 3, 6)'(Y, ^ 4)'B,)+ 3,+ *4'4+ /5 7 0/a3, ,- 54232+'-4 3,+ ')>4,+ = 3,+ ~0-,+ = ,4 3,+ ),7 2+,+ ^
~*)0 ( 05) /*4,)7 2-,) 3 ],-+,713, /,+ *4'4+ '..,++21 3,+ ( 05) 3' +*7 '-4295, .0-42-5, @
b- ,-+,713, /, .0-d65)'420-+ .'3.53* ^ - ]27 ( 0)4, 95,33, *4'( , /, 3 ]'360)24Y7 , ,+4 5- .05(3,
.07 (),-'-4 5- *4'4 ,4 5-, ~0-, 95 ]0- '(( ,33,)' *4'4 +Z71 03295, :+52B'-4 3' -04'420- /,
KLA MP< @ S 2-+2 ( 05) 4054 '5407 '4, 4,7 (0)2+* .3'++295, 05 ()01'1232+4, 3, -071), / ]*4'4+ +Z7 ?
1 03295,+ ,+4 d-2 = 0- ( 05))' /0-. B*)2d,) 3,+ ()0()2*4*+ +5) ., -05B,'5 7 0/a3, @ E- ,c,4 3,+
()0()2*4*+ 4,7 (0)2+*+ ()01'1232+4,+ / ]'..,++21 2324* = 4,33, 95, = (') ,;,7 (3, = 'B,. ()01'12324*

0, 905 (35+ = 3, +Z+4a7 , '44,2-4 5- *4'4 '..,(4'-4 ,- 7 02-+ /,
100

7 2.)0+,.0-/,+ = +,)0-4 B*)2?
d*,+ +5) 3, +Z+4a7 , ()01'1232+4, / ]*4'4+ +Z71 03295,+ 014,-5 ,- (),-'-4 ( 05) *4'4+ 3,+ *4'4+
+Z71 03295,+ ,4 ( 05) 4)'-+2420-+ 3,+ 4)'-+2420-+ /*)2B*+ /, 3 ]'5407 '4, 4,7 ( 0)2+* ()01'1232+4,
KLA MMNOP @
A05+ '330-+ ),(),-/), -04), ,;,7 (3, +27 (3, ( 05) /*.)2), 3, +Z+4a7 , ()01'1232+4, / ]*4'4+ +Z7 ?
1 03295,+ 014,-5 (') '-'3Z+, ,- 'B'-4 @
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(l, ξ)
K "

I " Q� � ��� 
R�� =��� � ��� �� �=���� 
� �� ��� ����������� ��� �����
�
�� ��� =���� �$� @��
���� Z
Q� ������� ��� ��� �����
�
�� � !�� =��� �$� @��
�� �

(l, ξ)
��� ���� ��� E �� �����
�
��

e =
(l, g,X, l′)

F�Y
X

��� �=����� � !����� @�� ��� B����� �� ��� 
��� E M =�� ���� �� �� �����
�
��
��

l
����

l′
> �� ������ �� �� � ��@�@
�
�= 
�
 � !��� � �� 
���������K ��� Z

succ.tran((l.ξ), e) = (l′, (ξ ∧ g)[X := 0] ∧ inv(l′))
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x = 0

Attente Attente Attente

x ≤ 3 x ≤ 3 x ≤ 3

y − x ∈ [4, 5]

y − x ∈ [4, 5]

1

Envoi Envoi Envoi Envoi

Echec Echec Echec

Echec Echec

5 8

0 4 7 10

2 6 9

3 13

0.01 0.01 0.01 0.01

0.99

0.990.990.99

x ≤ 5 x ≤ 5 x ≤ 5 x ≤ 5

y − x ∈ [11, 13] y − x > 15

y − x = 0 y − x ∈ [7, 8] y − x > 14 y − x > 15

y ≤ 15 y > 15

y = x y = x

Avant Apres

x = 0 x = 0

��� � H @O � � )'(Y, 014,-5 (') '-'3Z+, ,- 'B'-4

J " � � ? ��� ����
�� �=���� 
� �� ��� ����������� ���������> �� ���� ��� =���� �$� @��
���� �=A �
�
� ��

succ.temp((l, ξ) = (l, ~ξ ∧ inv(l))

� " L ���
��> �� �A � �� ������ �� � ��� B � �@���� A �
> �� �� A � � �� �=��
 F���� ����� �� ��� ��
15

��
�=� �� ���� �K > �� �� ��
�
�� �� � ������ �� B����� � ��
 � ��� ����� �� � ������ �� ���� �
=����=" ���� ��� =���� ���� ����� ��� ����� ���� 
R� � B����� � F

y
K �=������� �� ���� �
� � � �����

������ @�=� ���� �� � �� � =��� �$� @��
�� �"
Q� �=���� 
���
�� �� ����� ������ �� B����� � � � ? �
� �� ? ����
�� �� �� � ��� �
=�= �� � � !��
���� �=�
A �� F
�
 � !��� �� � ��@�@
�
�= �� �=���
�� �� � !����
 � !�� � ����� � ���� �� �=��
 ��
15

��
�= �� ���� �K "
H " L �A � 
� ����
��� �� �=�� ����� E �B���� �����
�
�� � ��@�@
�
� �� �� � ��@�@
�
�=> �� ? ����
��

�� �� � ��@�@
�
�= ���� � !����� ��� ������
�= � ��@�@
�
��� 
�
�
��"
D ��� �@������ ���� FE �� � �
� ���� �� ��� �
�� ��K �Y �� ��
�
���� ��� � ���� �B ��
��� ������
�
�=� �����
�� �� F� $���B �� � ����� ��� �� ��� ��K � !�� ��� ��� ��
����> �� ��������� � !�@���
�
�� ��
�� A � � �� �R� 
�=���
�� ��� �� =������� �� ������� ���� ��� �����
�
�� �� �� ������� ��� ��� �
������ " Q !����� ��� �@���� ���� ����� ��� ��� ���� = �� A ���� H "J

% ��� ��� �� ��� �� �
�� ��> � !�� ��� ��� �@���� ��� �� � �B���� �� � ��
��> ���� ������� ����
��
�
� �� �� �# �<� F�� � !������ � ������B ��
 ��� � ��@�@
�
���� ��� � � ��� 
K ���� �������� ���
� ��@�@
�
�=� � !������
@
�
�= F���� ��� � =�B���� ���� =�� ���� ��� �B�� 
���� � �=�=�����K "

♣
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&' +,.0-/, '(()0 .Y, ( 05) 3' B*)2d.'420- /,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ ,+4 3 ]542?
32+'420- /5 12,- .0--5 6)'(Y, /,+ )*620-+ @ b- 4,3 6)'(Y, ,+4 014,-5 / ]5-, (')42420- d-2, /,
3 ],+('., /,+ B'35'420-+ / ]Y0)306,+ /*d-2, /'-+ 3, .0-4,;4, /,+ '5407 '4,+ 4,7 (0)2+*+ .3'++295,+
KSVGHP @ & ],;4,-+20- /5 6)'(Y, /,+ )*620-+ '5; '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ ,+4 4)a+
/*4'233*, /'-+ KLA MMNOP @ D3 +5� )' ,-+524, / ]*45/2,) 3 ]'5407 '4, /,+ )*620-+ :5- ()0.,++5+ /,
/*.2+20- 7 ')\0B2,- < ( 05) B*)2d,) 3,+ ()0()2*4*+ ^ 3 ]'2/, /, W� DMR (') ,;,7 (3, @
A05+ /0--0-+ 2.2 3,+ ()2-.2('3,+ *4'( ,+ /, .0-+4)5.420-+ /5 6)'(Y, /,+ )*620-+ = +'-+ /*4'233,) @
&,+ /*4'23+ = ,4 3,+ )*+534'4+ 4Y*0)295,+ +0-4 /0--*+ /'-+ KSV GHP ( 05) 3,+ '5407 '4,+ 4,7 ( 0)2+*+
.3'++295,+ = ,4 /'-+ KLA MMNOP ( 05) 3,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+ @

F@ �- .'3.53, 3' (35+ 6)'-/, .0-+4'-4, ^ 3'95,33, +0-4 .07 (')*,+ 3,+ Y0)306,+ = ^ 3' 802+ /'-+
3 ]'5407 '4, ,4 /'-+ 3' ()0()2*4* 95, 3 ]0- B,54 B*)2d,)

O @ �- /*d-24 5-, -0420- / ]*952B'3,-., ,-4), 3,+ .05(3,+ *4'4+?B'35'420-+ / ]Y0)306,+ ,4 0-
'(( ,33, 3,+ )*620-+ '567 ,-4*,+ 3,+ .3'++,+ / ]*952B'3,-., ( 05) .,44, ),3'420- :3 ]'/} ,.428
'567 ,-4*, ,+4 /5 '5 8'24 95 ]0- .0-+2/a), '5++2 3' ()0()2*4*< @

� @ �- .0-+4)524 3, 6)'(Y, /,+ )*620-+ 'Z'-4 ( 05) *4'4+ 3,+ )*620-+ '567 ,-4*,+ ,4 ( 05) 4)'-?
+2420-+ 3,+ 4)'-+2420-+ ()01'1232+4,+ 05 4,7 (0),33,+ /*4,)7 2-'13,+ ^ (')42) /, 3 ]'5407 '4,
4,7 ( 0)2+* ()01'1232+4, / ]0)262-, @ Q, 6)'(Y, /,+ )*620-+ ,+4 5- ()0 .,++5+ /, /*.2+20-
7 ')\0B2,- @

H @ �- B*)2d, 3' ()0()2*4* 6)�., '5; 4,.Y-295,+ *B095*,+ /'-+ 3,+ .Y'(24),+ ()*.*/,-4+ +5)
3,+ ()0.,++5+ /, /*.2+20- 7 ')\0B2,-+ @

&' 4,.Y-295, / ]'-'3Z+, (') 6)'(Y, /,+ )*620-+ ,+4 3' (35+ 6*-*)'3, ,4 3' (35+ .3'++295, =
7 '2+ ,33, ,+4 +05B,-4 /2� .23, ,4 305)/, ^ 7 ,44), ,- (3'., @ Q ],+4 ( 05) .,3' 95, -05+ - ]'B0-+ ('+
.Y02+2 /, 3 ]54232+,) /'-+ 3,+ ,;,7 (3,+ 95, -05+ 'B0-+ *45/2*+ @
� �� �� �#����"��� ���"�!�

&' /,)-2a), 4,.Y-295, 54232+*, ,+4 .,33, /, 3' +*7 '-4295, ,-42a), @ � '(( ,30-+ 95 ],33, -*.,++24,
95, 3 ]'5407 '4, / ]0)262-, +024 8,)7 * ,4 +'-+ 6')/, /2'60-'3, @ &' /*d-2420- /, .,44, +*7 '-4295,
,+4 /0--*, /'-+ 3' /*d-2420- H @O @H @ V '-+ ., .'+ = 3, 4,7 (+ ('++, /, 7 '-2a), /2+.)a4, ,4 3,+
Y0)306,+ -, +0-4 (35+ 95, /,+ B')2'13,+ .07 7 , 3,+ '54),+ /'-+ 3, ()0.,++5+ /, /*.2+20- 7 ')\0?
B2,- @ &, (35+ +27 (3, /'-+ ., .'+ ,+4 /, /*4'233,) 3' 7 *4Y0/, ( 05) -04), ( ,424 ,;,7 (3, 952 ,+4
*B2/,7 7 ,-4 8,)7 * ,4 +'-+ 6')/, /2'60-'3, @
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y = 10

Attente
x ≤ 3
y > 12

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Envoi

Attente

Attente

Attente

Attente

Attente

Attente

Attente

x = 0
x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 0

x = 1

x = 2

x = 3

x = 4

x = 5

Envoi

y > 12
x ≤ 5

Attente
x = 0
y = 4

y = 12Erreur
Avant

Erreur
Apres

0.99

0.99

0.99

0.99

0.01

0.01

0.01
0.01

y = 0

y = 1

y = 2

y = 3

y = 4

y = 5

y = 5

y = 6

y = 7

y = 5

y = 6

y = 7

y = 8

y− = 2

y = 11

y = 10

y = 9

y = 8

y = 11

y = 7

y = 8

y = 9

��� � H @� � � )'(Y, 014,-5 (') +*7 '-4295, ,-42a),
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� !=�B ��K ��� ��� ������ �� ����� ��� ���� �=���� 
�
���� "

♣



gg �������� � 	 � 
������
 �������
�
 ���������
��




� � � � �� � � �

��
	� 	� ��� � �� 	 ���


�� � � P � � !=���
�
� �
�� P !��� ����
� @������� "
������� ������

Q, .Y'(24), +,)' .0-+'.)* ^ 3 ]'((32.'420- /,+ 7 *4Y0/,+ /*B,30(( *,+ /'-+ 3, .Y'(24), ()*?
.*/,-4 ^ 5-, *45/, /, .'+ 7 ,-*, ^ 12,- /'-+ 3, .'/), /5 ()0} ,4 �A`& SB,))0,+ KSB,P @ `05+
3,+ )*+534'4+ ,4 3,+ ,;( *)2,-.,+ 95, -05+ '330-+ /*.)2), 2.2 +, 4)05B,-4 /'-+ /,5; ')42.3,+
KIR WNH/ = VIX+NHP @ A05+ ),(),-/)0-+ /0-. 3,+ -04'420-+ 54232+*+ /'-+ .,+ /,5; ')42.3,+ @
&, ()040.03, QMR S TQV :,- '-63'2+ = Q'))2,) M,-+, R 5342( 3, S..,++T Q0332+20- V,4,.420- < ,+4
54232+* ( 05) 3' 4)'-+7 2++20- /, /0--*,+ /'-+ 3,+ )*+,'5; E4Y,)-,4 :M4'-/')/ 2-4,)-'420-'3
DEEE UNO @� KDEE P< @ Q, ()040.03, ,+4 ()01'1232+4, /'-+ 3, 154 / ]*B24,) '5 7 ';2757 3,+ .0332?
+20-+ ,-4), 3,+ 7 ,++'6,+ @
Q, .Y'(24), +,)' +*(')* ,- /,5; (')42,+ = 3' (),7 2a), /'-+ 3'95,33, -05+ *45/2,)0-+ 5-, B,)+20-
(')'7 *4)*, (52+ ()01'1232+4, /5 7 0/a3, /, A 2.0332- M28'\2+ ,4 	0B2-, KA M	 GOP = ,- 54232+'-4
3,+ 7 0/,3?.Y,.\,)+ XZ`,.Y ,4 W� DMR = ,4 ,- +52B'-4 3,+ )*+534'4+ /, KIR WNH/P C 3' +,.0-/, =
+,)' 95'-4 ^ ,33, .0-+'.)*, ^ 5-, 7 0/*32+'420- (35+ *3'1 0)*, /*4'233*, /'-+ KVIX+NHP ,4 952
-05+ ' ( ,)7 2+ / ]'B02) 5-, 6)'-/ -071), /, )*+534'4+ 95'-424'428+ :,- 54232+'-4 3,+ /,5; 7 0/,3
.Y,.\,)+ W� DMR ,4 XZ`,.Y KW� D = XZ`P< @

� ij 	npyq r v�poqn
V '-+ 3, ()040.03, E4Y,)-,4 = ( 35+2,5)+ +4'420-+ :A DQ< ( ,5B,-4 +, .0--,.4,) +5) 3, 7 >7 , .'?

-'3 @ Q07 7 , /,5; +4'420-+ ( ,5B,-4 ,-B0Z,) /,+ 7 ,++'6,+ +27534'-*7 ,-4 = /,+ .0332+20-+ ( ,5B,-4
+, ()0/52), = 952 /*4)52)0-4 3,+ /,5; 7 ,++'6,+ @ S 2-+2 = 3,+ +4'420-+ ),�02B,-4 ,- 7 >7 , 4,7 (+ 5-
'B2+ /, .0332+20- = 7 '2+ -, ( ,5B,-4 ('+ )**7 ,44), /2),.4,7 ,-4 +05+ ( ,2-, / ],-6,-/),) 5-, -05?
B,33, .0332+20- @ V , ., 8'24 = 3, ()040 .03, QMR S TQV 27 ( 0+, '5; +4'420-+ / ]'44,-/), 5- 4,7 (+
'3*'402), 'B'-4 /, )*,7 ,44), 3,5) 7 ,++'6, @
A05+ '330-+ /'-+ .,44, (')42, /0--,) 5-, /,+.)2(420- (35+ /*4'233*, /5 ()040.03, (52+ /*.)2),
,- 9502 -04), 4)'B'23 ,+4 /2c *),-4 /, .,5; :-071),5; < 8'24+ '5(')'B'-4 +5) 3, 7 >7 , +5} ,4 @


 ���� � ���!" �"�� ��  !�����%�
&, ()040 .03, QMR S TQV ,+4 5- ()040.03, 952 6a), 3,+ 	5; /, .07 75-2.'420-+ ,-4), (35?

+2,5)+ +4'420-+ :95, -05+ '(( ,33,)0-+ (')802+ *7 ,44,5)+< = 952 /2'3065, (') 5- .'-'3 5-295, @
ge
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 Collision

A begins its sending

� �����	 �
	 	������	
t1 < t0 + σ

�
t0 �

t1 � �

t0 + σ � �

t2 � �


����	��� ��
��
�� �� � ��� � � �
 ���	

t2 = t0 + 2σ

��� � � @F � b-, .0332+20-

&' /,+.)2(420- ,-42a),7 ,-4 /*4'233*, /, ., ()040.03, +, 4)05B, /'-+ 3,+ +4'-/')/+ DEEE KDEEP @
A05+ -05+ +07 7 ,+ 5-295,7 ,-4 2-4*),++*+ ^ 3' B,)+20- B��? ��� ��� /, ., ()040 .03, = ., 952 27 ?
(3295, 95 ]5- +,53 7 ,++'6, ( ,54 +, /*(3'.,) /'-+ 3, .'-'3 ^ 3' 802+ :,- 0(( 0+2420- ^ ? �� � ��� ���< @
&' /,+.)2(420- 95, -05+ /0--0-+ 2.2 -, /*4'233, ('+ 3,+ ( 02-4+ /0-4 -05+ - ]'5)0-+ ('+ 1 ,+02-
4,3+ 95, 3' +4)5.45), /,+ 7 ,++'6,+ = 05 '54),+ @


3*55*,) 
 `054,+ 3,+ +4'420-+ ( ,5B,-4 /, 7 '-2a), 2/,-4295, ,-B0Z,) /,+ 7 ,++'6,+ +5) 3,
)*+,'5 :R 5342( 3, S..,++< @ QY'95, +4'420- /024 / ]'1 0)/ *.054,) 3, .'-'3 ( 05) +'B02) +2 23 ,+4 321),
05 0 ..5( * :Q'))2,) M,-+,< = ,4 '44,-/), 95, 3, .'-'3 '((')'2++, .07 7 , 321), ( 05) ,-B0Z,) +0-
7 ,++'6, @ Q07 7 , 5- 7 ,++'6, (),-/ 5- 4,7 (+ 1 0)-* :0- 3, -04,)'

σ
< ( 05) 4)'B,)+,) 3, .'-'3 =

/,5; '6,-4+ :05 (35+< ( ,5B,-4 ,- 7 >7 , 4,7 (+ ,+427 ,) 95, 3, .'-'3 ,+4 321), ,4 ,-B0Z,) 3,5)
7 ,++'6, :()'4295,7 ,-4< +27534'-*7 ,-4 = ., 952 ,-6,-/), 5-, .0332+20- ,4 ,-+524, 5- 7 ,++'6,
/, .0332+20- @ S 2-+2 = '5 1 054 /,

2σ µs
'5 (2), = 3,+ +4'420-+ +, ),-/,-4 .07 (4, 95, 3,5) 7 ,++'6,

- ]' ('+ *4* 4)'-+7 2+ .0)),.4,7 ,-4 @
S()a+ ., 4,7 (+ = +2 '5.5-, .0332+20- - ]' *4* /*4,.4*, = 3' +4'420- ( ,54 = /, 7 '-2a), .,)4'2-, = 4,)?
7 2-,) / ]*7 ,44), @ &, 4,7 (+ ( 05) 5-, *7 2++20- .07 (3a4, ,+4 +5(( 0+* .0-+4'-4 ,4 +,)' -04*

λ
@

W') ,;,7 (3, = ( 05) 5-, .07 75-2.'420- (') E4Y,)-,4
10

R 1(+ 'B,.
σ = 24µs

= -05+ 'B0-+ 5-
4,7 (+ /, 4)'-+7 2++20- /,

780µs
( 05) 5- 7 ,++'6, /,

1024
124+ @

�,)� *+ 
 E- .'+ /, .0332+20- = 3,+ 7 ,++'6,+ +, ( ,)/,-4 ,4 3,+ /2c*),-4,+ +4'420-+ +0-4 2-?
80)7 *+ /, 3 ]*B*-,7 ,-4 (') 3' )*.,(420- / ]5- 7 ,++'6, 1)05233* @ E 33,+ .Y02+2++,-4 '30)+ = 2-/*( ,-?
/'7 7 ,-4 = ,4 /, 7 '-2a), '3*'402), 5- 4,7 (+ / ]'44,-4, 'B'-4 / ],++'Z,) /, ),-B0Z,) 3, 7 ,++'6, @
W05) 7 2-27 2+,) 3' ()01'12324* / ]014,-2) / ]'54),+ .0332+20-+ = 3, 4,7 (+ / ]'44,-4, ,+4 .Y02+2 5-2?
80)7 *7 ,-4 /'-+ 5- 2-4,)B'33,

[0, 2m]
= 0�

m
),()*+,-4, 3, 7 2-2757 ,-4),

α
= 5-, .0-+4'-4,

/5 ()040 .03, = ,4 3, -071), /, .0332+20-+ ()*.*/,7 7 ,-4 /*4,.4*,+ @ S 2-+2 = 2-45242B,7 ,-4 (35+
3, -071), /, .0332+20-+ ,+4 27 ( 0)4'-4 = ( 35+ 3 ]2-4,)B'33, ,+4 6)'-/ ,4 /0-. (35+ 3,+ .Y'-.,+ /,
6*-*),) 5-, -05B,33, .0332+20- +0-4 8'21 3,+ @
b- .07 (0)4,7 ,-4 7 ,-'-4 ^ 5-, .0332+20- ,+4 /*.)24 ,- d65), � @F
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&, ()040 .03, QMR S TQV ' *4* 6)'-/,7 ,-4 *45/2* ,- 54232+'-4 /2c *),-4,+ 4,.Y-295,+ @ A05+
-05+ 2-4*),++,)0-+ = /'-+ .,44, (')42, +5) 3,+ 4,.Y-295,+ 1'+*,+ +5) 3, 7 0/,3 .Y,.\2-6 = ,4 3 ]*45/,
/,+ ()0()2*4*+ 95'-424'42B,+ @
&,+ *45/,+ ()*.*/,-4,+ .0-.,)-'-4 QMR S TQV +, +0-4 ()2-.2('3,7 ,-4 ( 0)4*,+ +5) 3 ]*B'35'420-
/,+ ( ,)80)7 '-.,+ 54232+'-4 /,5; '(()0 .Y,+ _ 3,+ 7 0/a3,+ '-'3Z4295,+ K�`UU = `L U�P 05 3' +2?
753'420- KJ L GGP @ W 35+2,5)+ 7 0/a3,+ /2c *),-4+ ( 05) '-'3Z+,) ^ 3' 802+ 3' .'('.24* /5 )*+,'5
,4 3, 4,7 (+ / ]'44,-4, = /,(52+ 3,+ 7 0/a3,+ 4)'/2420--,3+ K`L U� P '5; (35+ .07 (3,;,+ ,4 *B035*+
Kf,)GG = L '4G� P @ V ]'54),+ '54,5)+ 7 ,+5),-4 3,+ ( ,)80)7 '-.,+ ,- 54232+'-4 /,+ +2753'420-+ ()*?
.2+,+ ., 952 ( ,)7 ,4 / ]*B24,) 3,+ YZ( 04Ya+,+ +27 (32d.'4)2.,+ -*.,++'2),+ /'-+ 3,+ 7 0/*32+'420-+
KfR L UUP @

D3 - ],;2+4, 95, 4)a+ ( ,5 / ]')42.3,+ ),3'4'-4 /, 3' B*)2d.'420- '5407 '4295, /,+ +( *.2d.'420-+
4,7 ( 0),33,+ ,4 ()01'1232+4,+ /5 ()040 .03, QMR S TQV @ V '-+ KX '-G FP = 3,+ '54,5)+ /0--,-4 /,+
.0-4)'2-4,+ 4,7 ( 0),33,+ ^ 3 ]'2/, / ]5- +Z+4a7 , /2+.),4 @ W') .0-4), = /'-+ KV�`	 GgP = 3, .07 ?
( 0)4,7 ,-4 /5 +Z+4a7 , ,+4 /*.)24 (') 5- ()0/524 +Z-.Y)0-2+* / ]'5407 '4,+ 4,7 (0)2+*+ = (52+ 3,
7 0/,3 .Y,.\,) 4,7 ( 0)2+* L��A�M KL�� P ,+4 54232+* ( 05) B*)2d,) /,+ ()0()2*4*+ 4,33,+ 95, _

� b-, .0332+20- ,+4 /*4,.4*, 30)+95, /,5; +4'420-+ ,-B02,-4 +27534'-*7 ,-4 5- 7 ,++'6, @
� b-, .0332+20- ,+4 /*4,.4*, ,- 7 02-+ / ]5- .,)4'2- 4,7 (+ @
� �5'-/ 5-, +4'420- .07 7 ,-., ^ *7 ,44), = 23 ,; 2+4, 5-, *;*.5420- ( ,)7 ,44'-4 /, 8'2),

4,)7 2-,) 3 ],-B02 @
R '2+ = 3,+ 7 0/,3 .Y,.\,)+ 4,7 ( 0)2+*+ .3'++295,+ .07 7 , bWWSS& KbWWP ,4 L��A�M KL�� P
-, ( ,)7 ,44,-4 ('+ /, B*)2d,) 3' +'42+8'.420- /,+ +( *.2d.'420-+ ()01'1232+4,+ @ &, ()040 .03, ,+4
/0-. 7 0/*32+* ,- ),7 (3'�'-4 3,+ 4)'-+2420-+ ()01'1232+4,+ ,- /,+ 4)'-+2420-+ -0-?/*4,)7 2-2+4,+ @

E-d- = /'-+ KLA MNOP = 3,+ '54,5)+ 54232+,-4 3, 7 0/,3 .Y,.\,) ()01'1232+4, W� DMR KW� DP ( 05)
B*)2d,) 3,+ ()0()2*4*+ ()01'1232+4,+ /5 ()040.03, QMR S TQS :DEEE UNO @FF KDEEP @ W') ,;,7 (3, =
23+ .'3.53,-4 3' ()01'12324* 7 2-27 '3, ( 05) 3,+ /,5; +4'420-+ / ],-B0Z,) 3,5) 7 ,++'6, .0)),.4,?
7 ,-4 = ,4 3' ()01'12324* 7 2-27 '3, 95 ]5- 7 ,++'6, +024 ,-B0Z* 'B'-4 5-, .,)4'2-, /,'/32-, @

A05+ -05+ +07 7 ,+ /0-. 2-4*),++*+ ^ /,5; 95,+420-+ ( ,5 *45/2*,+ ( 05) 3, 7 07 ,-4 = 3'
(),7 2a), KIR WNH/P ,+4 3 ]*45/, (')'7 *4)*, :,- 54232+'-4 3, 7 0/,3 .Y,.\,) XZ`,.Y KXZ`P< ,4
()01'1232+4, :'B,. W� DMR < /5 ()040.03, 7 0/*32+* /'-+ KV�`	 GgP @ &' +,.0-/, ,+4 3 ]*45/,
()01'1232+4, :'B,. W� DMR < ,4 '(()0.Y*, :'B,. SWR Q KSWR P< /, ., 7 >7 , ()040 .03, +52B'-4
5- 7 0/a3, 95, -05+ 'B0-+ -05+?7 >7 ,+ *3'1 0)* KVIX+NHP @

� i� � lyom�upoqn r v w q r� {s x uyuw lpyl r s � o�q{{on�� o�u	 ot�
q� on s

 �� �� ��� ���"�� �� ���� %� �� � "��%%"�
�"��� "�
��	 "��

&, 7 0/a3, /, QMR S TQV *3'1 0)* (') A 2.0332- = M28'\2+ ,4 	0B2-, KA M	 GOP .07 (0)4, /,5;
+4'420-+ *7 ,44)2.,+ ),32*+ (') 5- .'-'3 +5(( 0+* +'-+ 8'233, @ M,53+ = 3,+ 7 ,++'6,+ ,- .05)+ / ],-B02
+0-4 7 0/*32+*+ = 0- -, ( ,54 )2,- 6')/,) ,- 7 *7 02), @
&, ()040 .03, ,+4 3' .07 (0+2420- (')'33a3, /,+ /,5; +4'420-+ ,4 /5 .'-'3 @ &,+ '.420-+

free
,4

busy
+0-4 54232+*+ ( 05) /*.)2), 3' 7 '-2a), /0-4 3, .'-'3 ,+4 ),++,-42 (') 3,+ +4'420-+ = ,33,+ 7 >7 ,+
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Idlei Waiti Starti Transmi

Retryi

Oki

readyi begi, xi := 0

busyi, xi := 0, aleai := random[0, .., c]

cd, xi := 0 aleai := random[0, .., c]

xi = λ

xi = aleai

endi

xi ≤ aleai

xi ≤ λ

��� � � @O � S5407 '4, / ]5-, +4'420- @

idle
05

transmitting
@ &, /*(')4 :),+( @ 3' d- < / ]5-, 4)'-+7 2++20- (') 3'

i�
� � +4'420- ,+4 2-/2?

95* (') 3 ]'.420- :+Z-.Y)0-2+*, 'B,. 3, .'-'3<
begi

:),+(
endi

< @ E-d- = 5-, .0332+20- /*4,.4*, ,+4
/*.)24, (') 3 ]'.420-

cd
+Z-.Y)0-2+*, '5++2 'B,. 3, .'-'3 @

�- ( ,54 /0-. '2-+2 /*.)2), 3, .07 ( 0)4,7 ,-4 /5 .'-'3 @ D- 242'3,7 ,-4 = 23 ,+4 B2/, ,4 ( ,54
'..,(4,) 5- 7 ,++'6, /, .Y'.5-, /,+ +4'420-+ @ M5((0+0-+ 95 ]5-, /,+ +4'420-+ .07 7 ,-., ^ ,-?
B0Z,) = 23 ,; 2+4, 5- 2-4,)B'33, /, 4,7 (+ /, 30-65,5)

σ
( ,-/'-4 3,95,3 3, .'-'3 '..,(4,)' 3 ],-B02

/ ]5- 7 ,++'6, (') 3 ]'54), +4'420- = ., 952 .'5+,)' 5-, .0332+20- @ M2 '5.5-, .0332+20- - ]'((')'[4 =
3, .'-'3 '44,-/)' 3' d- /5 7 ,++'6, @ D3 '44,-/ ,-+524,

σ
:4,7 (+ ( 05) 95, 3, .'-'3 +, B2/,< ,4

),405)-, /'-+ 3 ]*4'4 2- 242'3 @ �- ( ,54 ),7 ')95,) 95 ]23 Z ' /0-. 5- /*3'2 7 2-2757 ,-4), /,5;
7 ,++'6,+ .0-+*.5428+ ,-B0Z*+ :/,

σ
< /] '5 /*3'2 /, ()0('6'420- /5 .'-'3 @

E- +52B'-4 3' 7 *4Y0/, /*.)24, /'-+ KLA MNOP = -05+ 'B0-+ '/'(4* 3, 7 0/a3, ( 05) 3, /*?
.)2), +05+ 3' 80)7 , / ]5- '5407 '4, 4,7 (0)2+* ()01'1232+4, @ & ]'+( ,.4 ()01'1232+4, '((')'[4 /'-+
3, .Y02; /5 /*3'2 / ]'44,-4, '()a+ 5-, .0332+20- :/'-+ 5- 2-4,)B'33,

[0, c]
'B,.

c = 2kσ
= 7 '2+

95, -05+ .0-+2/*),)0-+ 2.2 .07 7 , 5- (')'7 a4),< @ &, 7 0/a3, /, QMR S TQV ,+4 /0-. .07 ( 0?
+*, /, 4)02+ (')42,+ :.Y'.5-, *4'-4 ),()*+,-4* (') /,+ '5407 '4,+ 4,7 (0)2+*+ ()01'1232+4,+< _
Station1

=
Station2

=
Canal

@ V '-+ 3, ()0/524 +Z-.Y)0-2+*
Station1||Station2||Canal

= 3 ],-+,713,
X /,+ Y0)306,+ /5 +Z+4a7 , ,+4 {x1, x2, y, t} 0�

xi
),()*+,-4, 3 ]Y0)306, /, 3'

Stationi
=
y

.,33,
/5

Canal
,4

t
5-, Y0)306, 6301'3, ( ,)7 ,44'-4 /, .'3.53,) 3, 4,7 (+ *.053* /,(52+ 3, /*154 /,

3' +,++20- @ b-, .0-d65)'420- /, 3 ]'5407 '4, ()0/524 ,+4 /, 3' 80)7 ,
((l1, l2, l3), v)

/'-+ 3'95,33,
li

:
i = 1, 2

< ,+4 3 ]*4'4 /, 3 ]'5407 '4,
Stationi

=
l3

,+4 3 ]*4'4 /5
Canal

,4
v

,+4 5-, B'35'420- /,+
/2c *),-4,+ Y0)306,+ /,

calX
@ A 05+ ( 05B0-+ ^ ()*+,-4 /*.)2), 3,+ /,5; '5407 '4,+

Stationi
,4

Canal
@

TU+,3V+2
Stationi


 Q,4 '5407 '4, /*.)24 3, .07 ( 0)4,7 ,-4 /, .Y'.5-, /,+ /,5; +4'420-+ @
D3 .0-42,-4 5-, Y0)306,

xi
,4 5-, B')2'13, .0-4,-'-4 3, 4,7 (+ / ]'44,-4, '3*'402),

aleai
@ & ]'5?

407 '4, ,+4 /*.)24 /'-+ 3' d65), � @O @
D3 Z ' +2; *4'4+ = (')7 2 3,+95,33,+

oki
=
waiti

,4
Starti

:),()*+,-4*+ (') /,+ .,).3,+ ( 02-4233*+<
+0-4 5)6,-4,+ = /'-+ 3,+95,3+ 3, 4,7 (+ -, ('++, ('+ @ & ]*4'4 2- 242'3 ,+4

Idlei
@ S()a+ >4), ),+4*

5- .,)4'2- 4,7 (+ /'-+ .,4 *4'4 :.,44, /5)*, *4'-4 -0-?/*4,)7 2-2+4, ,4 ),()*+,-4'-4 3 ],-B2,
05 -0- / ],-B0Z,) 5- 7 ,++'6,< = 3' +4'420- B,54 *7 ,44), 5- 7 ,++'6, ,4 +, ),4)05B, /'-+ 3 ]*4'4
4)'-+2402),

Waiti
= /'-+ 3,95,3 3, .'-'3 ,+4 *.054* @ M2 3, .'-'3 +,713, 321), :'.420-

readyi
< =
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Idlebus

Preactive1

Preactive2

Col

Active1

Active2

End

ready{1,2}

beg1, y := 0

beg2, y := 0

y = σ

y < σ | ready1

y < σ | ready2 busy2

busy1

y < σ | busy{1,2}

y = σ

y < σ | beg2, y := 0

y < σ | beg1, y := 0

y = σ | cd

end1, y := 0

end2, y := 0

y = σ

y ≤ σ

y ≤ σ

y ≤ σ y ≤ σ

��� � � @� � S5407 '4, /5 .'-'3 @

3' +4'420- .07 7 ,-., +0- ,-B02 = ,- +, ),-/'-4 /'-+ 3 ]*4'4
Transmi

:'.420-
begi

< @ V '-+ 3,
.'+ .0-4)'2), = :'.420-

busyi
< = 23 +, ),4)05B, /'-+ 3 ]*4'4

Retryi
= /'-+ 3,95,3 23 ),+4, ( ,-/'-4 3,

4,7 (+ / ]'44,-4, '3*'402),
aleai

'B'-4 /, ),405)-,) /'-+ 3 ]*4'4
Waiti

@ V '-+ 3 ]*4'4
Transmi

= 3'
+4'420- /024 '44,-/),

λ
= '()a+ 9502 ,33, *7 ,4 5- +26-'3 '--0-�'-4 3' d- /5 7 ,++'6, :'.420-

endi
< ,4 ),405)-, /'-+ 3 ]*4'4

Idlei
'()a+ 5- ('++'6, (') 3 ]*4'4 4)'-+2402),

Oki
@ V , (35+ = 5-,

.0332+20- ( ,54 +, ()0/52), :'.420-
cd

< = 80)�'-4 3' +4'420- ^ '))>4,) +0- *7 2++20- = 95244'-4 +0-
*4'4

Transmi
( 05) 3 ]*4'4

Retryi
/'-+ 3,95,3 ,33, ('42,-4, ( ,-/'-4 5-, ( *)20/, '3*'402),

aleai
@

&' B'3,5) 7 ';27 '3, / ]
aleai

,+4 3, (')'7 a4),
c

@
TU+,3V+2

canal

 & ]'5407 '4, 4,7 ( 0)2+* ()01'1232+4,

Canal
= 952 /*.)24 3, .07 (0)4,7 ,-4

/5 .'-'3 = ,+4 ),()*+,-4* /'-+ 3' d65), � @� @
D3 Z ' +,(4 *4'4+ @ V '-+ 3 ]*4'4 2- 242'3

Idlebus
= 3, .'-'3 ,+4 ()>4 ( 05) 3' 4)'-+7 2++20- /, 7 ,+?

+'6,+ @ M2 5-, /,+ +4'420-+ = /2+0-+ 3'
Station1

= .07 7 ,-., ^ ,-B0Z,) 5- 7 ,++'6, :
beg1

< = 3, .'-'3
),7 ,4 +0- Y0)306,

y
^ ~*)0 = ,4 +, ),-/ ^ 3 ]*4'4

Preactive1
@ `'-4 95,

y
,+4 (35+ ( ,424 95,

σ
3,

.'-'3 ,+4 405} 05)+ +,-42 .07 7 , 321), = ,4 3'
Station2

( ,54 .07 7 ,-.,) ^ *7 ,44), 5- 7 ,++'6,
:
beg2

< @ Q,3' ,-4)'[-, '30)+ 5-, .0332+20- :
cd

< @ &0)+95, 3 ]Y0)306,
y

'44,2-4 3' B'3,5)
σ

= 3, .'-'3 +,
),-/ /'-+ 3 ]*4'4

Active1
= ,4 '44,-/ 3, +26-'3 /, 4,)7 2-'2+0- /5 7 ,++'6, :

end1
< /, 3'

Station1
=

,4 ,+4 +,-42 .07 7 , 0..5( *
busy

( 05) 3'
Station2

@ E-d- = 95'-/ 3, 7 ,++'6, +, 4,)7 2-, = 3, .'-'3
+, ),-/ /'-+ 3 ]*4'4

End
( ,-/'-4 5- 4,7 (+

σ
'B'-4 /, +, ),4)05B,) /'-+ 3 ]*4'4 2- 242'3 ,4 >4),

,- *4'4 ( 05) 4)'-+7 ,44), ^ -05B,'5 @
& ]0)262-'324* /, 3 ]*45/, 95, -05+ 'B0-+ 7 ,-*, /'-+ KIR WNH/P ,+4 95, -05+ 'B0-+ (5 :,-

54232+'-4 XZ`,.Y < *45/2,) 3, ()040.03, /, 7 '-2a), (')'7 *4)*, @ E- ,c,4 (35+2,5)+ .0-+4'-4,+
+,)0-4 .0-+2/*)*+ /'-+ -04), .'+ .07 7 , /,+ (')'7 a4),+ /5 ()013a7 , _
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� &' /5)*, /, ()0('6'420- / ]5- 7 ,++'6, _
λ� &' /5)*, /, ()0('6'420- ^ 3 ]2-4*)2,5) /5 .'-'3 _

σ� &' 10)-, +5( *)2,5), ( 05) 3, 42)'6, / ]
alea

_
cV, (35+ = ( 05) *B24,) /,+ .07 ( 0)4,7 ,-4 327 24,+ ,4 -0- 2-4*),++'-4+ = -05+ 'B0-+ .0-+2/*)*

σ > 0
,4

λ ≥ 2σ
@


 �� �� � #!"����"�� ���  !�$�$"%"��� ��"%"���� ������
&, 7 0/,3?.Y,.\,) XZ`,.Y KXZ`P ( ,)7 ,4 / ]*45/2,) 3,+ ()0()2*4*+ /,+ '5407 '4,+ 4,7 ( 0)2+*+ =

'B,. /,+ (')'7 a4),+ @ Sd- /, 3 ]54232+,) = 23 8'54 = /'-+ 3,+ '5407 '4,+
Stationi

95, -05+ 'B0-+
()*+,-4*+ = .Y'-6,) 3 ]'c ,.4'420- '3*'402),

aleai = random[o..c]
(') 5-, 'c,.4'420- -0- /*4,)?

7 2-2+4, / ]
aleai

^ 5- -071), .07 ()2+ ,-4),
0

,4
c

@
� 7,47*'+' 
 A05+ -05+ +07 7 ,+ 2-4*),++*+ ^ 3' ()0()2*4* /, B2B'.24* +52B'-4, _ 30)+95,

5-, +4'420- = /2+0-+
Station1

= ' 5- 7 ,++'6, ^ ,-B0Z,) = '30)+ 23 ,; 2+4, 5-, 4)'-+7 2++20- )*5++2, @
A05+ ( 05B0-+ /0-. ,;()27 ,) .,44, ()0()2*4* /'-+ 3' 306295, 4,7 ( 0),33, KXA M	 GHP ` Q`& (')
3' 80)753, +52B'-4, _

Init ⇒ ∀�(l1 = Wait1) ⇒ ∃ � l1 = Ok1+'-+ 3'95,33,
Init

.0)),+( 0-/ ^ 3 ]*4'4 2- 242'3 6301'3 /5 +Z+4a7 , @ V '-+ 3' (),5B, 3,+ B')2'13,+
σ

=
λ

,4
c

+,)0-4 .0-+2/*)*+ .07 7 , /,+ (')'7 a4),+ B*)2d '-4
o ≤ 2σ ≤ λ

,4
σ ≤ c

@
� '7*(
V+*,) 4V7 6�12
� 
 &,+ '5407 '4,+ /5 .'-'3 ,4 /,+ +4'420-+ ( ,5B,-4 >4), /2),.?

4,7 ,-4 27 (3*7 ,-4*+ /'-+
HyTech

@ &,+ 'c,.4'420-+ -0- /*4,)7 2-2+4,+ /, 3' B')2'13,
alea

,-
XZ`,.Y (') 3 ]54232+'420- /, 3 ]2-+4)5.420-

alea′i ≥ 0
= ,4 ,- '} 054'-4 3 ]2-B')2'-4

aleai ≤ c
^ 3 ]*4'4

Retryi
@ &' 1 0)-, +5( *)2,5), /, 3' B')2'13,

alea
,+4 5- (')'7 a4), d;* (') 3 ]2-+4)5.420-

c ≥ σ
@

V , 3' 7 >7 , 7 '-2a), = 3, (')'7 a4),
λ

,+4 d;* (') 3 ]2-+4)5.420-
2σ ≤ λ

,4 ,-d- 3, (')'7 a4),
σ(')

σ > 0
@

&,+ *4'4+ 4)'-+2402),+ :
Wait, Start,Ok

< +0-4 27 (3*7 ,-4*+ ,- 54232+'-4 5-, Y0)306, '--,;,
z),7 2+, ^ ~*)0 /a+ 95 ]0- ,-4), /'-+ .,+ *4'4+ ,4 5- 2-B')2'-4

z = 0
@ &, .0/, .07 (3,4 ,- XZ`,.Y

,+4 /0--* ,- +,.420- � @O @H @
& ],;(30)'420- ,- 'B'-4 :.0-+2+4'-4 ^ .'3.53,) 405+ 3,+ *4'4+ '..,++21 3,+ ^ (')42) / ]5- *4'4< (')
XZ`,.Y

Post ∗ (Init)
),952,)4

21
24*)'420-+ = 0� 3 ]*4'4

Init
.0)),+( 0-/ ^

`1� ���	
 & `2� ���	� & `3����	�
 � & � 
�� & ���� & ���
& ������������� � & ������� � & ���� ��� �& ],;(30)'420- ,- '))2a), :.0-+2+4'-4 ^ .'3.53,) 405+ 3,+ *4'4+ 7 ,-'-4 ^ 5- *4'4<

Pre ∗ (final)),952,)4 = 95'-4 ^ ,33, =
80

24*)'420-+ @ A040-+ 95, /'-+ ., .'+ = 23 ,+4 -*.,++'2), /, d;,) 5-, 1 0)-,
+5( *)2,5), ^

λ
/5 4Z( ,

kσ
@ :

80
.0)),+( 0-/ ^

k = 900
< @D.2

final
,+4 3 ]*4'4 /*d-2 (') _

`1��� 
 & �������������� & �������� & ������� & ��������� ����� � �
V, .,44, 7 '-2a), 0- ( ,54 )*.)2), 3' ()0()2*4* 95, -05+ B0530-+ B*)2d,) +05+ 3' 80)7 ,

*952B'3,-4, +52B'-4, _
(Post∗(Init) ∩ {`1 = Wait1}) ⊆ Pred∗(`1 = Ok1)

=
E4 -05+ 'B0-+ ()05B* ,- XZ`,.Y _

(Post∗(Init) ∩ {`1 = Wait1} ∩ {λ ≤ kσ}) ∩ ¬(Pred∗(Final) ∩ {`1 = Wait1}) = ∅.
W05)

k = 30
3, .'3.53 .07 (3,4 ' ()2+

1780
+,.0-/,+ ,- 54232+'-4 5- WEA`DbR D� /, O =UN �X~
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Idlei Waiti Starti Transmi

RetryiRetrybisi

Oki

readyi begi, xi := 0

busyi, xi := 0 xi = σ
2

cd, xi := 0 aleai := random{0, σ, .., bσ}

xi = λ

xi = aleai

endi

xi ≤ σ
2 xi ≤ aleai

xi ≤ λ

��� � � @H � A05B,33, B,)+20- /, 3 ]'5407 '4, /, 3' +4'420-
i
@

'B,. F�1 /, �SR @
�- ( ,54 ),7 ')95,) '5++2 95, 3' ()0()2*4* ,+4 8'5++, /'-+ 3, .'+ 0�

λ < 2σ
@ XZ`,.Y -05+

( ,)7 ,4 = ,- (35+ = / ],;Y21 ,) 5-, 4)'., / ],;*.5420- .0)),+( 0-/'-4 '5 .07 (0)4,7 ,-4 '-0)7 '3 _
`054 / ]'1 0)/ 3'

Station2
*7 ,4 ^

t = 0
= (52+ 3'

Station1
+, ),-/ /'-+ 3 ]*4'4

Wait1
,4 .07 7 ,-.,

^ *7 ,44), ^ 3 ]2-+4'-4
t′

= 'B,.
σ > t′ > λ− σ

@ D3 Z ' /0-. 5-, .0332+20- ^ 3 ]2-+4'-4
t′

= 4,33, 95, 3,
Canal

+, ),-/ ^ 3 ]*4'4
Col

,4
y

,4 ),7 2+ ^ ~*)0 @ &, (),7 2,) 7 ,++'6, + ]'.YaB, ^ 3 ]2-+4'-4
t′′ = σ

=
'B,.

t′′ < t′ + σ
= ., 952 ,-B02, 3, +Z+4a7 , ,-42,) ^ 3 ]*4'4

(Transm1, Ok2, Col)
@ R '2-4,-'-4 = 3,

4,7 (+ -, ( ,54 (35+ ('++,) = .') 3 ]'.420-
end2

-, ( ,54 ('+ 'B02) 32,5 = 3,
canal

- ]*4'-4 ('+ /'-+
3 ]*4'4

Active2
@ Q, .07 (0)4,7 ,-4 .0)),+( 0-/ ^ 5- .07 (0)4,7 ,-4 �,-0 = 23 ,+4 '2+* /, B02) 95,

/'-+ 3, .'+
λ ≥ 2σ

0- *B24, 405+ 3,+ .07 ( 0)4,7 ,-4+ �,-0 @

 �� �� � #!"����"��  !�$�$ "%"��� �� ��"%"���� �%�!� ������ �� �� ���

&, 7 0/,3?.Y,.\,) XZ`,.Y -05+ ' '5++2 ( ,)7 2+ /, 8'2), 3 ]'-'3Z+, ,- 'B'-4 H @O @O /, .,4 '5?
407 '4, 4,7 (0)2+* ()01'1232+4, 'd- / ]014,-2) 5- ()0.,++5+ /, /*.2+20- 7 ')\0B2,- +5) 3, 6)'(Y,
/,+ ~0-,+ @ W05) B*)2d,) 3,+ ()0()2*4*+ ()01'1232+4,+ = -05+ 'B0-+ ),()2+ 5- 7 0/a3, (35+ ()0.Y,
/, .,35 2 /5 +4'-/')/ DEEE KDEEP @ E- ,c,4 3, 4,7 (+ / ]'44,-4, ()01'1232+4, - ],+4 42)* 95 ],- .'+
/, .0332+20- = (') .0-4), +2 3, .'-'3 ,+4 +,-42 0 ..5( * (') 3 ]5-, /,+ +4'420-+ ,33, '44,-/ 5- 4,7 (+
d;, :2.2

σ/2
< = 'B'-4 /, )*,++'Z,) @

V , (35+ (') 3' +524, -05+ +5((0+,)0-+ 95 ]
alea

,+4 5- 75342( 3, /,
σ

-05+ 3, 42),)0-+ /0-.
/'-+ 3 ]2-4,)B'33,

[0, σ, ..., bσ]
(354|4 95, /'-+ 3 ]2-4,)B'33, .07 (3,4

[0, 1, 2, .., bσ]
@

&, -05B,33, '5407 '4, ),()*+,-4'-4 3, .07 ( 0)4,7 ,-4+ /,+ +4'420-+ ,+4 ),()*+,-4*, /'-+ 3' d65),� @H
� 7,47*'+' 


&' ()0()2*4* 952 -05+ 2-4*),++, 2.2 = ,+4 5-, ()0()2*4* / ]'..,++21 2324* 7 2-27 '3, _
&' ()01'12324* 7 2-27 '3, 95 ]'()a+ 5-, .0332+20- 3,+ /,5; +4'420-+ ,-B02,-4 .0)),.4,7 ,-4 3,5)
7 ,++'6, 'B'-4 5-, /,'/32-,

d
@ �- ( ,54 3 ]*.)2), /'-+ 3' 306295, &`& (') 3' 80)753, +52B'-4, =

(')4'-4 /,
Init′ = Retry1.Retry2.Idlebus

:5-, .0332+20- B2,-4 }5+4, / ]'((')'[4),< _

Pmin[trueU{F Ok1 ∧ F Ok2 ∧ t ≤ d}]
Sd- /, ( 05B02) B*)2d,) .,44, ()0()2*4* ,- 54232+'-4 3, 7 0/,3?.Y,.\,) W� DMR KW� DP = -05+ 'B0-+
2-4)0/524 /,5; B')2'13,+ 1 003*,--,+

fi
952 +0-4 2-.)*7 ,-4*+ 30)+95, 3' +4'420- .0-.,)-*, ,-B02,
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.0)),.4,7 ,-4 3,5) 7 ,++'6, @ S 2-+2 3' 80)753, + ]*.)24 :/'-+ 3' 306295, W` Q`& KLA MMNOP< _

Pmin[trueU{f1 = 1 ∧ f2 = 1 ∧ t ≤ d}].
V '-+ ., .'+ = 23 ,+4 *B2/,-4 95, 3, .07 ( 0)4,7 ,-4 3, (35+ /*8'B0)'13, ,+4 .,35 2 05 .Y'95, +4'420-
' 405} 05)+ ,-B2, / ],-B0Z,) 5- 7 ,++'6, @ W 35+ ()*.2+*7 ,-4 = 0- ( ,54 .0-+2/*),) 95, 3' +05)., /,
-0- /*4,)7 2-2+7 , /5 +Z+4a7 , ( ,54 >4), ),42)*, ,- .0-+2/*)'-4 95, 3 ]*4'4

Idle
,+4 4)'-+2402),+

:/'-+ 3, +,-+ 0� 3, 4,7 (+ -, ('++, ('+ /'-+ .,4 *4'4< @ A05+ '5)0-+ :5-, 802+ 3, 6)'(Y, /,+
~0-,+ 014,-5+< 5-, .Y'[-, /, R ')\0B ^ *45/2,) @

T)V8�52 2) V�V)+ 4V7 6�12
� 


M52B'-4 3,+ 7 *4Y0/,+ /*.)24,+ ,- KLA MNO = LA M = DEEP ,4 /'-+ 3, (')'6)'(Y, H @O @O = -05+
'330-+ B*)2d,) 3' ()0()2*4* (') '-'3Z+, ,- 'B'-4 /, 3 ]'5407 '4, 4,7 ( 0)2+* ()01'1232+4, @ S 2-+2
-05+ 'B0-+ .0-+4)524 3 ]'5407 '4, /, 3' d65), � @� ,- 54232+'-4 3,+ ~0-,+ 014,-5,+ (') XZ`,.Y
,4 3' 7 *4Y0/, ()*.2+, /, KLA MNO = LA MP @ & ]*4'4

GOOD
' *4* )'} 054* ,4 .0)),+( 0-/ '5; *4'4+

/'-+ 3,+95,3+
f1 = f2 = 1

@
b- )*+534'4 0)262-'3 /, -04), *45/, ,+4 95,

σ
,4

λ
+0-4 405} 05)+ /,+ (')'7 a4),+ = /, (35+ 3,

6)'(Y, -05+ 8'24 ),7 ')95,) 95, 3, +Z+4a7 , -, /*( ,-/ 95, /5 )'420
λ/σ

@
� '5U8+V+5 V�2
 �� ��� 


A05+ ( 05B0-+ /0-. 7 '2-4,-'-4 54232+,) 3,+ '360)24Y7 ,+ /, 7 0/,3?.Y,.\2-6 +5) 3, 6)'(Y, /,+
*4'4+ +Z71 03295,+ 014,-5+ = ,4 -05+ B*)2d0-+ 3' 80)753, +52B'-4, :/'-+ 3' 306295, WQ`&< _

P=?[true U GOOD].

&,+ 6)'(Y,+ +52B'-4+ � @g = � @e ),()*+,-4,-4 3 ]*B035420- /, .,44, ()01'12324* ,- 80-.420- /'-+
3' /,'/32-, ( 05) /2c *),-4+ )'(( 0)4+

λ/σ
@

Q,+ d65),+ -05+ ( ,)7 ,44,-4 /, B02) 5- (),7 2,) +,523 ^ (')42) /595,3 3' ()01'12324* 7 2-27 '3,
/ ],-B0Z,) 3,+ 7 ,++'6,+ .0)),.4,7 ,-4 ,+4 -0- -53 @ S()a+ ., +,523 = 3' ()01'12324* '567 ,-4, 4)a+
)'(2/,7 ,-4 ,4 '+Z7 (404295,7 ,-4 B,)+

1
@ Q, 952 .0)),+( 0-/ 12,- '5 154 /5 ()040 .03, (52+95,

3' ()01'12324* / ],-B0Z,) .0)),.4,7 ,-4 3,+ 7 ,++'6,+ '()a+ 5-, .0332+20- ,+4 80)4, @
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Retry1.Retry2.Idlebus

t ≤ min(alea1, alea2)

t ≤ a2 + σ + min(newa1, newa2) t ≤ a1 + σ + min(newa1, newa2)

t ≤ a2 + λ + 5σ/2 + min(newa1, newa2) t ≤ a1 + λ + 5σ/2 + min(newa1, newa2)

. . .

Retry1.Transm2.Preactive2

alea2 ≤ t ≤ alea2 + σ

a1 + λ + 5σ

2
+ na2 ≤ t ≤ a1 + λ + 5σ

2
+ na2 + σ

. . .

Transm1.Retry2.Preactive1

alea1 ≤ t ≤ alea1 + σ

a2 + λ + 5σ

2
+ na1 ≤ t ≤ a2 + λ + 5σ

2
+ na1 + σ

. . .

Retry1.Transm2.Active2

alea2 + σ ≤ t ≤ alea2 + 2σ

a1 + λ + 7σ

2
+ na2 ≤ t ≤ a1 + λ + 7σ

2
+ na2 + σ

. . .

Transm1.Retry2.Active1

alea1 + σ ≤ t ≤ alea1 + 2σ

a2 + λ + 7σ

2
+ na1 ≤ t ≤ a2 + λ + 7σ

2
+ na1 + σ

. . .

Retry1bis.Transm2.Active2

alea1 ≤ t ≤ alea2 + λ

a1 + λ + 5σ

2
+ na2 + na1 ≤ t ≤ a1 + λ + 5σ

2
+ na2 + λ

. . .

Transm1.Retry2bis.Active1

alea2 ≤ t ≤ alea1 + λ

a2 + λ + 5σ

2
+ na2 + na2 ≤ t ≤ a2 + λ + 5σ

2
+ na1 + λ

. . .

Retry1bis.Ok2.End

t = λ + alea2

t = a1 + λ + 5σ

2
+ λ + na2

. . .

Ok1.Retry2bis.End

t = λ + alea1

t = a2 + λ + 5σ

2
+ λ + na1

. . .

GOOD

t ≥ 2λ + a1 + 5σ

2
+ na2 t ≥ 2λ + a2 + 5σ

2
+ na1

. . .

Retry1bis.Retry2bis.End

λ + a2 ≤ t ≤ λ + a2 + σ λ + a1 ≤ t ≤ λ + a1 + σ

. . .

Retry1bis.Retry2bis.Idle

λ + a2 + σ ≤ t ≤ λ + a2 + 2σ λ + a1 + σ ≤ t ≤ λ + a1 + 2σ

. . .

Transm1.Transm2.Col

a2 ≤ t ≤ a2 + σ a1 ≤ t ≤ a1 + σ

λ + a2 + 3σ

2
≤ t ≤ λ + a2 + 5σ

2
λ + a1 + 3σ

2
≤ t ≤ λ + a1 + 5σ

2

. . .

alea1 = alea2 alea1 = alea2

alea2 < alea1 alea1 < alea2

alea2 < alea1 + σ alea1 < alea2 + σ

��� � � @� � 6)'(Y, / ]'..,++21 2324*
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��� � � @g �
:
λ/σ = 30

=
aleamax = b = 3

<
W)01'12324* /, 3 ]*7 2++20- ,- 80-.420- /5 /*3'2 @

��� � � @e �
:
λ/σ = 20

=
aleamax = b = 3

<
W)01'12324* /, 3 ]*7 2++20- ,- 80-.420- /5 /*3'2 @
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&' /,5; 2a7 , (')42, /, ., .Y'(24), ,+4 .0-+'.)*, ^ 5-, *45/, /, QMR S TQV ,- 3, 7 0/*32+'-4

/, 7 '-2a), /2+.)a4, KVIX+NHP 'd- / ]54232+,) 3' +*7 '-4295, ,-42a), /*d-2, ,- +,.420- H @O @H @ &,
154 ,+4 / ]*45/2,) 5- 6)'-/ -071), /, ()0()2*4*+ 95'-424'42B,+ /'-+ 5- 7 0/a3, 952 ),++,713,
3, (35+ ( 0++21 3, ^ .,35 2 /,+ -0)7 ,+ DEEE KDEEP ,4 952 +024 ^ 3' 802+ .30+ ,4 +'-+ 6')/, /2'60-'3,
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8

2′2 3

67

x := 0

����
x := 0

x = σ ����� x = σ � � �� ��	


��	

��� ���
col := col + 1 
 alea := RANDOM(col)

x = alea x := 0 ���
���
x = λ

��� ���

x ≤ σ x ≤ σ x ≤ λ

x ≤ alea

��� � � @U � S5407 '4, / ]5-, +4'420- @

:.0-/2420- /, B'32/24* /, 3' +*7 '-4295, ,-42a), /5 4Y*0)a7 , H @G @
V , (35+ = ( 05) )*/52), 3, 4,7 (+ /, .'3.53 /,+ 7 0/,3?.Y,.\,)+ -05+ 'B0-+ .Y02+2 /, ),-4),) 5-
( ,5 (35+ /'-+ 3, /*4'23 :'d- /, )*/52), 3,+ +Z-.Y)0-2+'420-+ = ,4 3,+ Y0)306,+< @
E-d- = -05+ 'B0-+ 54232+* /,5; 7 0/,3?.Y,.\,)+ :W� DMR KW� DP ,4 SWR Q KSWR P< 952 -05+ 0-4
( ,)7 2+ / ]'B02) /,+ )*+534'4+ .07 (3*7 ,-4'2),+ @


 �� �� � ��#%"���"��
V, 3' 7 >7 , 7 '-2a), 95, /'-+ 3,+ +,.420-+ ()*.*/,-4,+ = -05+ 'B0-+ 7 0/*32+* ., ()040 .03,

(') 3' .07 ( 0+2420- (')'33a3, /, 4)02+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'1232+4,+ :
Station1

=
Station2

=
Canal

< @ Q,44, 802+?.2 -05+ 'B0-+
3

Y0)306,+
x1

=
x2

,4
y

@ A 05+ -04,)0-+ /, 3' 7 >7 , 7 '-2a),
95, /'-+ 3,+ +,.420-+ ()*.*/,-4,+ 3,+ *4'4+ ,4 3,+ .0-d65)'420-+ /5 +Z+4a7 , @
E-d- = ^ 3' /2c*),-., /5 7 0/a3, ()*.*/,-4 -05+ 'B0-+ :'d- /, .'3.53,) 3,+ ()01'12324*+ ,;'.4,+<
5-, B')2'13, +5((3*7 ,-4'2),

coli
+40.\'-4 3, -071), /, .0332+20-+ /,+ 7 ,++'6,+ /,

Stationi
/,?

(52+ 3, /,)-2,) ,-B02 )*5++2 @ b- *4'4 /,
Stationi

,+4 /0-. 5- .05(3,
li = (si, coli)

/'-+ 3,95,3
si

,+4 3 ]*4'4 /, 3 ]'5407 '4, 4,7 ( 0)2+* ()01'1232+4, @
TU+,3V+2 	2 8V 5+V+*,) 
 Q,4 '5407 '4, :B02) 3' d65), � @U< /*.)24 3, .07 ( 0)4,7 ,-4 /,

.Y'95, +4'420- @ D3 .0-42,-4 5-, Y0)306,
x

,4 5-, B')2'13, +40 .\'-4 3, 4,7 (+ / ]'44,-4, '3*'402),
alea

@
D3 Z ' /2; *4'4+ /'-+ .,4 '5407 '4, (')7 2 3,+95,3+ = 3,+ *4'4+

2′
=
4

=
6

,4
8

:),()*+,-4* 'B,. /,+
.,).3,+ ( 02-4233*+< +0-4 /,+ *4'4+ 5)6,-4+ 2-4,)7 */2'2),+ = /'-+ 3,+95,3+ 3, 4,7 (+ -, ('++, ('+ @
V , (35+ 3,+ *B*-,7 ,-4+

busy
=
free

,4
garbled

+0-4 /,+ *B*-,7 ,-4+ 5)6,-4+ ( 05) 3'
Station

@
& ]*4'4 2- 242'3 ,+4

0
@ �5'-/ 5-, +4'420- /*+2), ,-B0Z,) 5- 7 ,++'6, ,33, ('++, /'-+ 3 ]*4'4

1
@ Q,44,

4)'-+2420- ,+4 ()*.*/*, / ]5- .,)4'2- 4,7 (+ ('++* /'-+ 3 ]*4'4
0

,4 .0)),+( 0-/ ^ 5-, +05)., /,
-0- /*4,)7 2-2+7 , @ M2 3, .'-'3 +,713, 321), :

free
< = '30)+ 3' +4'420- +, ),-/ /'-+ 3 ]*4'4

2
/'-+

3,95,3 ,33, '44,-/
σ

'B'-4 /, ),4,+4,) 3, .'-'3 :/'-+ 3 ]*4'4 5)6,-4
2′

< @ M ]23 ,+4 0 ..5( * :3 ]'54),
+4'420- 'B'24 *7 2+ 'B'-4< '30)+ 3' ()0 .*/5), /, 1'.\0c :'c,.4'420- / ]5- 4,7 (+ / ]'44,-4, '3*'?
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Idle CD Conflict

Check1

Check2

CD1

CD2
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� � ���
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� � ���
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�� ���
2

	� � �
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 ��� ���

��� � � @G � S5407 '4, /5 .'-'3 @

402),< +, 7 ,4 ,- (3'., ,4 3' +4'420- ),('++, (') 3,+ *4'4+
6

=
7

'B'-4 /, ),405)-,) ,-
1

@ M2 3,
.'-'3 - ]*4'24 ('+ 0 ..5( * = 3' +4'420- +, ),-/ /'-+ 3 ]*4'4

3
,4 '44,-/ ,-.0),

σ
:'5 .'+ 0� 3 ]'54),

+4'420- '24 *7 2+ 7 02-+ /,
σ

'()a+ 35 2< ,4 ,33, ),4,+4, 3, .'-'3 @ M ]23 ,+4 1)05233* :.0332+20- < = ,33,
)*,-4'7 , 3' ()0 .*/5), /, 1'.\0c :

6
(52+

7
(52+

1
< +2-0- ,33, 4,)7 2-, .0)),.4,7 ,-4 3 ],-B02 /,

+0- 7 ,++'6, :
5

(52+
8

< @
� '(( ,30-+ 95, 3, 4,7 (+ / ]'44,-4, '3*'402), ,+4 42)* /'-+ 5- 2-4,)B'33,

[0, 2m − 1]
0�

m =
min(col, α)

=
α

*4'-4 5- (')'7 a4), /5 +Z+4a7 , @
W05) )*.'(2453,) -05+ ( 05B0-+ /0--,) 5- )'(2/, )*+57 * /,+ *4'4+ /, 3 ]'5407 '4, _

N D-'.428
F S44,-/ 95, 3, .'-'3 +024 321),
O S44,-/

σ
'B'-4 /, 4,+4,) 3, .'-'3

O ] `,+4 /5 .'-'3 :
busy

05 -0- <� S44,-/
σH `,+4 /5 .'-'3 :

garbled
05 -0- <� `,)7 2-, 3 ],-B02

g Q0332+20- /*4,.4*,
e S44,-/ 5- 4,7 (+ '3*'402), 'B'-4 3' )**7 2++20-
U R ,++'6, .0)),.4,7 ,-4 ,-B0Z*

TU+,3V+2 	U 
V)V8 
 & ]'5407 '4, /5 .'-'3 ,+4 5- '5407 '4, ()01'1232+4, :+'-+ Y0)306,+<
,4 ,+4 ),()*+,-4* ,- d65), � @G @

& ]*4'4 2- 242'3
Idle

2-/295, 95, 3, .'-'3 ,+4 321), ,4 B2/, @ V ,(52+ .,4 *4'4 = 3' )*.,(420- / ]5-
7 ,++'6, :*B*-,7 ,-4

send1
(') 3'

Station1
< '.42B, 3' 4)'-+2420- B,)+

Check1
= (52+ +, 7 ,++'6,
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( ,54 + ],-B0Z,) .0)),.4,7 ,-4 :*B*-,7 ,-4
verify1

(52+
finish1

< 05 ,-4),) ,- .0332+20- 'B,. 5-
7 ,++'6, /, 3'

Station2
:*B*-,7 ,-4

send2
< '.42B'-4 3' 4)'-+2420- B,)+ 3 ]*4'4

Conflict
@ b-,

802+ 3' .0332+20- /*4,.4*, = 3, .'-'3 +, ),-/ /'-+ 3 ]*4'4
CD

,4 5- 7 ,++'6, 1)05233* ,+4 ,-B0Z*
:*B*-,7 ,-4

garbled
< @ D3 ),405)-, /'-+ 3 ]*4'4

Idle
5-, 802+ ),�5 3, 7 ,++'6, /, d- /, 3' (')4 /,+

+4'420-+ :*B*-,7 ,-4
finish

< @
� 7,47*'+'5 
 Q0-4)'2),7 ,-4 ^ 3' (')42, ()*.*/,-4, = -05+ -05+ +07 7 ,+ 2-4*),++*+ 2.2 = ^ 5-

6)'-/ -071), /, ()0()2*4*+ 95'-424'42B,+ _
� W)0()2*4*+ / ]'..,++21 2324* 7 2-27 '3, ,4 7 ';27 '3, +5) /,+ '5407 '4,+ 4,7 ( 0)2+*+ ()01'12?

32+4,+ _
• &' ()01'12324* 7 2-27 '3, ( 05) 95 ]5-, +4'420- ,-B02, .0)),.4,7 ,-4 5- 7 ,++'6, 'B,. 5-,

/,'/32-,
d

_
Pmin[s →∗ {s | (x1 = 8 ∨ x2 = 8) ∧ y ≤ d}]

• &,+ ()01'12324*+ 7 ';27 '3,+ ,4 7 2-27 '3,+ ( 05) 95 ]23 Z '24 '5 7 02-+
N

.0332+20-+ 'B'-4
d

_
Pmin[s →∗ {s | col1 ≥ N ∧ y ≤ d}]
Pmax[s →∗ {s | col1 ≥ N ∧ y ≤ d}]� W)0()2*4*+ / ]'..,++21 2324*+ +5) /,+ +Z+4a7 ,+ .07 (3*4,7 ,-4 ()01'1232+4,+ :.Y'[-, /, R ')?

\0B< @
• &' ()01'12324* 95 ]5-, +4'420- ,-B02, .0)),.4,7 ,-4 +0- 7 ,++'6, 'B'-4 5-, /,'/32-,

d
@

Prob[s →∗ {s | (x1 = 8 ∨ x2 = 8) ∧ y ≤ d}]
• &' ()01'12324* 95 ]23 Z '24 '5 7 02-+

N
.0332+20-+ 'B'-4

d
_

Prob[s →∗ {s | col1 ≥ N ∧ y ≤ d}]
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� '(( ,30-+ 95, -05+ 'B0-+ .Y02+2 / ]54232+,) 3' +*7 '-4295, ,-42a), ( 05) /,+ )'2+0-+ /, +27 (32?

.24* :('+ /, 6)'(Y,+ /,+ )*620-+ ^ .0-+4)52),< ,4 / ],� .'.24* @ &,+ Y0)306,+ +0-4 /0-. .0-+2/*)*,+

.07 7 , /,+ .07 (4,5)+ ,4 ),()*+,-4*+ (') /,+ B')2'13,+ ,-42a),+ @ S 2-+2 3 ]'5407 '4, 4,7 (0)2+* ()0?
1'1232+4, ( ,54?>4), *45/2* .07 7 , 5- ()0.,++5+ /, /*.2+20- 7 ')\0B2,- :B02) .Y'(24), H < @
� '(( ,30-+ '5++2 = 95, -05+ 'B0-+ = ,- (35+ /,+ ()0()2*4*+ .24*,+ /'-+ 3' +,.420- ()*.*/,-4, .'3?
.53,) 3,+ ,+( *)'-.,+ :7 2-27 '3, ,4 7 ';27 '3,< /5 4,7 (+ ( 05) 95 ]5- ,-B02 +024 )*5++2 @

� '5U8+V+5

`054,+ 3,+ ,;( *)2,-.,+ 0-4 *4* 8'24,+ +5) 5- WEA`DbR D� O @U �X~ 'B,. F �1 /, �SR @ &'
4'233, /,+ 7 0/a3,+ ,-6,-/)*+ :}5+95, /05~, 7 23320-+ / ]*4'4+< -05+ ' 8'24 .Y02+2) 3' .0-+4)5.420-
(') R `fVV /2+( 0-213, /'-+ W� DMR = 952 ,+4 1 ,'5.05( (35+ ,� .'., ( 05) 3,+ 6)0+ +Z+4a7 ,+ @
&' /2c*),-., 7 '} ,5), 'B,. SWR Q :B02) 3' +,.420- � @� @�< ,+4 95, W� DMR (,54 7 '-2,) 3, -0-
/*4,)7 2-2+7 , 2-Y*),-4 '5 7 0/a3, @ D3 .0-+4)524 ,c ,.42B,7 ,-4 3, 7 0/a3, ,4 4)05B, 3, (2), ,4 3,
7 ,233,5) /,+ .'+ ( 05) .Y'.5-, /,+ ()0()2*4*+ @ �- ( ,54 '2-+2 3'2++,) 3, .Y02; / ],-B0Z,) 05 -0-
5- 7 ,++'6, .07 7 , 5- .Y02; -0- /*4,)7 2-2+4, @
&' 4'233, /5 7 0/a3, -05+ ' ),-/5 27 ( 0++21 3, :'B,. W� DMR < 3' B*)2d.'420- 'B,. 3,+ .0-+4'-4,+
)*,33,+

λ
,4

σ
@ W') .0-4), -05+ 'B0-+ .0-+,)B* 3, )'(( 0)4 ,-4), .,+ /,5; .0-+4'-4,+ @ A05+ 'B0-+

'5++2 )*/524 5- ( ,5 3' .0-+4'-4,
α

:54232+* ( 05) .'3.53,) 3 ]2-4,)B'33, /, 42)'6, /, 3' B')2'13,
'3*'402),

alea
< /,

10
^

6
@
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&,+ 4)02+ ()2-.2('3,+ ()0()2*4*+ 95, -05+ 'B0-+ B*)2d*,+ +0-4 3,+ +52B'-4,+ _

� &' (),7 2a), ()0()2*4* ),()*+,-4, 3' ()01'12324* 7 ';27 '3, ( 05) '44,2-/), 5- *4'4 /'-+
3,95,3 '5 7 02-+ 5-, /,+ /,5; +4'420-+ ' ,-B0Z* .0)),.4,7 ,-4 'B'-4 3' /,'/32-,

d
@ �-

( ,54 3 ]*.)2), /'-+ 3' +Z-4';, /, WQ`& (') 3' 80)753, +52B'-4, _

Pmin[true U((s1 = 8|s2 = 8) & y ≤ d)]
� &,+ /,5; '54),+ ()0()2*4*+ ),()*+,-4,-4 3,+ ()01'12324*+ 7 2-27 '3,+ ,4 7 ';27 '3,+ ( 05)

'44,2-/), 5- *4'4 /'-+ 3,95,3
N

.0332+20-+ +, +0-4 ()0/524,+ ( 05) 5-, +4'420- d;*, /,(52+
+0- /,)-2,) ,-B02 )*5++2 ,4 'B'-4 5-, /,'/32-,

d
@ E 33,+ + ],;()27 ,-4 (') 3,+ 80)753,+

+52B'-4,+ _

Pmin[true U(col1 = N & y ≤ d)]

Pmax[true U(col1 = N & y ≤ d)]&' d65), � @FN /0--, 3' ()01'12324* /, +'42+8'2), 3' (),7 2a), ()0()2*4* ( 05) /2c*),-4,+ B'?
3,5)+ /,

d
@ D3 Z ' 4)02+ .05)1 ,+ .0)),+( 0-/'-4 '5 /,6)* /, -0- /*4,)7 2-2+7 , 3'2++* /'-+ 3,

+Z+4a7 , @ E- ,c,4 23 Z ' (35+2,5)+ +05).,+ /, -0- /*4,)7 2-2+7 , = 3' (),7 2a), B2,-4 /5 8'24 95, 3'
+4'420- ( ,54 '44,-/), 5- 4,7 (+ 95,3.0-95, /'-+ 3 ]*4'4

0
'B'-4 /, B05302) *7 ,44), 5- 7 ,++'6,

:12,- +]) = -05+ +5(( 0+0-+ 95 ]5-, /,+ /,5; +4'420-+ B,54 *7 ,44), +2-0- 3' ()01'12324* 7 2-2?
7 '3, +,)'24 405} 05)+ -533,< @ & ]'54), +05)., /, -0- /*4,)7 2-2+7 , B2,-4 /, 3 ]0)/), /,+ '.420-+
,-4), 3,+ /,5; +4'420-+ :.07 7 ,

send1
,4

send2
< @ &' (),7 2a), .05)1 , .0)),+( 0-/ '5 7 0/a3,

0)262-,3 = 3' +,.0-/, ,+4 014,-5 ,- ),7 (3'�'-4 3' 4)'-+2420- -0- /*4,)7 2-2+4, /,
0

^
1

(') 5-,
4)'-+2420- ()01'1232+4, = ,4 3' /,)-2a), ,- .07 (23'-4 3, +Z+4a7 , .07 7 , 5- +Z+4a7 , 404'3,7 ,-4
()01'1232+4, @ A040-+ 95, .,44, /,)-2a), .05)1 , ,+4 ,;'.4,7 ,-4 3' 7 >7 , 95, .,33, 014,-5 (')
SWR Q � @F� @ &,+ .05)1 ,+ *4'-4 +27 23'2),+ = 3 ]'-'3Z+, +,)' 8'24, /'-+ 3' +,.420- +52B'-4, @

&' d65), � @FF -05+ /0--, 3,+ )*+534'4+ ( 05) 3,+ '54),+ ()0()2*4*+ :-071), /, .0332+20-+< @
A05+ 'B0-+ .Y02+2 5-, /,'/32-, /,

210
.') 'B,. .,44, /,'/32-, 3' ()01'12324* 95 ]5- 7 ,++'6, +024

/*32B)* ,+4 4)a+ 6)'-/, :(35+ /, N =GU< @ V , 3' 7 >7 , 7 '-2a), -05+ 'B0-+ .0-+4)524+ 3,+ .05)1 ,+
( 05) 3,+ 4)02+ 4Z( ,+ /, 7 0/a3,+ /2c*),-4+ @ � ,7 ')950-+ 95, 3' ()01'12324* / ]'B02) � .0332+20-+
,+4 4)a+ 27 ( 0)4'-4, = 7 '2+ /*.)0 �4)a+ )'(2/,7 ,-4 ( 05) /,B,-2) 8'21 3, ( 05) 3' .0-+4'-4,

α = 695, -05+ 'B0-+ .Y02+2 @
V , (35+ -05+ 'B0-+ .'3.53,) 3 ],+( *)'-., /, 4,7 (+ 7 2-27 '3, ,4 7 ';27 '3, ( 05) ,-B0Z,) 5-

7 ,++'6, = /*4,)7 2-* (') 3' 80)753, +52B'-4, _

Rmax[true U((s1 = 8)|(s2 = 8))]

&,+ )*+534'4+ +0-4 /,
147

( 05) 3, 7 0/a3, 'B,. 3 ],-B02 -0- /*4,)7 2-2+4, = ,4 /,
144, 4

( 05)
.,35 2 'B,. 3 ],-B02 ()01'1232+4, = 23 - ]Z ' ('+ 1 ,'5.05( /, /2c *),-.,+ ,-4), .,+ /,5; )*+534'4+ @

A05+ 'B0-+ '5++2 .'3.53* 3, 4,7 (+ 7 0Z,- (05) 95 ]5-, +4'420- /0--*, ,-B02, .0)),.4,7 ,-4
+0- 7 ,++'6, _

Rmax[true U(s1 = 8)]W') .0-4), /'-+ ., .'+ = 3' ()*+,-., /, -0- /*4,)7 2-2+7 , 05 -0- ,+4 .)5.2'3, @ &,+ )*+534'4+
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ND Max probability
Fully Probabilistic
ND Min probability
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λ = 96

=
σ = 3

=
α = 6

<
W)01'12324* 7 ';27 '3, ,4 7 2-27 '3, / ]'B02) '5 7 02-+

N
.0332+20-+
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+0-4 /,

707
(05) 3, 7 0/a3, 'B,. 3 ],-B02 ()01'1232+4, ,4 /,

5750
(05) 3, -0- /*4,)7 2-2+4, @

Q,3' 7 0-4), 95 ]5-, +4'420- ( ,54 ),4')/,) 3 ],-B02 / ]5- 7 ,++'6, (') 3 ]'54), +4'420- ,- ,-B0Z'-4
.0-42-]7 ,-4 /,+ 7 ,++'6,+ ,4 ,- .Y')6,'-4 3, .'-'3 @ V , (35+ = ., )*+534'4 B2,-4 /5 8'24 95, +2
5-, +4'420- )*5++24 ^ ,-B0Z,) 5- 7 ,++'6, +0- .07 (4,5) /, .0332+20- ,+4 ),7 2+ ^ ~*)0 7 '2+ ('+
.,35 2 /, 3 ]'54), +4'420- = ,33, '44,-/ /0-. /,+ 30-6 4,7 (+ 'B'-4 /, ( 05B02) )*,-B0Z,) @
Q,44, /,)-2a), ()0()2*4* 7 0-4), 3 ]27 (0)4'-., / ]'B02) *45/2,) 5- +Z+4a7 , ()01'1232+4, ,4 -0-
/*4,)7 2-2+4, :6)�., ^ W� DMR <@

 �� �� � #!"����"��  �! ����

SWR Q ,+4 5- 7 0/,3?.Y,.\,) ()01'1232+4, '(()0 .Y* /*/2* 5-295,7 ,-4 ^ 3' B*)2d.'420- /,+
()0()2*4*+ 95'-424'42B,+ +5) 3,+ .Y'[-,+ /, R ')\0B ^ 4,7 (+ /2+.),4 @ &, 3'-6'6, / ],-4)*, ,+4 3,
7 >7 , 95, .,35 2 /, W� DMR ., 952 -05+ ' ( ,)7 2+ / ],;( 0)4,) -04), 7 0/a3, '2+*7 ,-4 @ S (')42) /,
7 '2-4,-'-4 = -05+ -05+ (3'�0-+ /'-+ 3, .'+ 0� 4054,+ 3,+ +05).,+ /, -0- /*4,)7 2-2+7 , 0-4 *4*
),42)*,+ ,4 3' +27 23')24* /, (35+2,5)+ )*+534'4+ .07 7 , .,5; /,+ d65),+ � @FN ,4 � @FF -05+ '540)2+,
^ *45/2,) ., 7 0/a3, 'B,. 3*62427 24* @ V, (35+ 3,+ 7 *4Y0/,+ 54232+*+ ( 05) 3, 7 0/,3?.Y,.\2-6 /'-+
SWR Q B0-4 -05+ ( ,)7 ,44), /, 7 '-2,) /,+ 7 0/a3,+ 1 ,'5.05( (35+ 6)0+ ,4 /0-. / ]2-+4'-.2,)
3,+ '5407 '4,+ 'B,. 3,+ .0-+4'-4,+ )*,33,+ ( 05)

σ
=
λ

,4
α

@
�,)	232)+5 +�',7*�U25 	2 T�� �

&' 4,.Y-295, 54232+*, /'-+ SWR Q KX&R WNHP 54232+, 5-, 7 *4Y0/, /, R 0-4,?Q')30 ,� .'.,
( 05) '(()0.Y,) 3,+ ()01'12324*+ /, +'42+8'.420- /, ()0()2*4*+ 7 0-040-,+ +5) /,+ .Y'[-,+ /,
R ')\0B @ &,+ ()0()2*4*+ B*)2d*,+ +0-4 ,;()27 *,+ /'-+ 3' 306295, 4,7 ( 0),33, _ &`& @ V, (35+ =
-05+ 54232+,)0-+ 3,+ -04'420-+ /5 .Y'(24), O ( 05) /*.)2), 3,+ .Y'[-,+ /, R ')\0B @ E-d- -05+
-04,)0-+

Path(s)
405+ 3,+ .Y,7 2-+ .07 7 ,-�'-4 ,-

s
,4

Pathk(s)
.,5; /, 30-65,5)

k
= '2-+2

�
k(φ)

),()*+,-4,)' 3' ()01'12324* / ]5-, 80)753,
φ

+5) 3,+ .Y,7 2-+ /, 30-65,5)+
k

@
&'()*+*,) � ./ . C�� ? ��� ��� Q�Q

φ
��� �
�� � ������ � �
 �� � ����� ��� �
 � ��� ����

k > 0
>

���� ���� �B �� 
�
π

�� ����� ���
k
> M, π |= φ ⇒ M, π+ |= φ

> �Y
π+ ��� �=� ���� �� �B �� 
�

���������� �$��� ���� � �=A � �
π

"
b-, ()0()2*4* *3*7 ,-4'2), /,+ 80)753,+ 7 0-040-,+ ,+4 95, _ M2

φ
,+4 5-, 80)753, 7 0-040-, =

,4
0 < b ≤ 1

,4 +2 23 ,; 2+4,
k ∈ N

4,3 95, �
k[φ] ≥ b

'30)+ �
[φ] ≥ b

@
V , ., 8'24 = 'd- /, B*)2d,) 5-, +( *.2d.'420- ()01'1232+4, /, 3' 80)7 , �

[φ] ≥ b
= -05+ .Y02+2++0-+

/ ]'1 0)/ 5-, B'3,5) /,
k = O(log|S|) = ,4 -05+ .'3.530-+ /, 7 '-2a), '(()0 .Y*, �

k[φ]
( 05)

4,+4,) +2 +' B'3,5) ,+4 (35+ 6)'-/, 95,
b

@ M2 4,3 ,+4 3, .'+ = 3' 7 0-040-2, /, 3' 80)753, -05+
/0--, 3, )*+534'4 @ M2-0- = -05+ 2-.)*7 ,-40-+ 3' B'3,5) /, .'+ ,4 .'3.530-+ ^ -05B,'5 �

k[φ]
@

A 05+ 24*)0-+ .,44, ()0 .*/5), ,- 1 0)-'-4 3' B'3,5) 7 ';27 '3, /,
k

952 = /'-+ /, -071),5;
.'+ = ,+4 306')24Y7 295, ,- 3, -071), / ]*4'4+ /5 +Z+4a7 , @ M2 3,+ )*+534'4+ /, 405+ 3,+ 4,+4+ +0-4
-*6'428+ -05+ .0-.350-+ 95, �

[φ] < b
@& ' 7 '-2a), /0-4 -05+ '(()0.Y0-+ 3' B'3,5) /, �

k[φ]
542?

32+, 3,+ IW�S M :8533Z ( 03Z-07 2'3 )'-/07 2~,/ '(()0;27 '420- +.Y,7 ,< = ,33, ,+4 /*4'233*, /'-+
KX&R WNH = VIX+NHP

� '5U8+V+5
SWR Q ,+4 5- 7 0/a3, .Y,.\,) /2+4)215* = 0- ( ,54 /0-. 8'2), 405)-,) (35+2,5)+ 7 '.Y2-,+ ,-

7 >7 , 4,7 (+ B2' 5- .35+4,) @ A05+ 'B0-+ 54232+* ( 05) -0+ ,;( *)2,-.,+ 5- .35+4,) /, e� W,-4257
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APMC
PRISM (fully probabilistic)

��� � � @FO �
:
λ = 96

=
σ = 3

=
α = 6

<
W)01'12324* / ]*7 2++20- ,- 80-.420- /, 3' /,'/32-, @

D� O �X~ 'B,. � FO R 1 /, �SR @ A05+ 'B0-+ .0-+2/*)* 3, (')'7 a4), / ]'(()0;27 '420-
ε = 10−2 =

,-d- -05+ 'B0-+ ()2+ 3,+ .0-+4'-4,+ )*,33,+ /5 ()040 .03,
λ = 780, σ = 24, α = 10

@
A 05+ 'B0-+ '5++2 = 'd- /, B*)2d,) -0+ YZ( 04Ya+,+ = 8'24 3,+ .'3.53+ ( 05) 3,+ .0-+4'-4,+ ()2+,+

+05+ W� DMR ,4 -05+ 014,-0-+ 3,+ 7 >7 ,+ )*+534'4+ :., 952 ()05B, 3' .0Y*),-., /,+ /,5; 7 0/,3?
.Y,.\,)+< 952 +0-4 /*.)24+ /'-+ 3, d65),+ � @FO ,4 � @F� @

E-d- 3,+ )*+534'4+ 'B,. 3,+ .0-+4'-4,+ )*,33,+ +0-4 /0--*+ ,- d65), � @F� (05) 3, -071), /,
.0332+20- ,4 ,- d65), � @FH ( 05) 3' ()01'12324* / ],-B02 / ]5- 7 ,++'6, @

&' d65), � @F� -05+ 8'24 ),7 ')95,) 95, 4'-4 95,
2N ≤ σ

3' ()01'12324* / ]'B02) 5-, .0332+20-
,+4 ,-B2)0-

1
= ,- ,c,4 = 3,+ /,5; +4'420-+ 0-4 /, 4)a+ 6)'-/,+ .Y'-.,+ /, 42),) /,5; -071),+

'3*'402),+ 952 ,-6,-/),)0-4 ^ -05B,'5 5-, .0332+20- @ E-+524, .,44, ()01'12324* /*.)0[4 '++,~
)'(2/,7 ,-4 @ &, -071), /, .0332+20-+ ,-6,-/)*,+ (') 3, ()040.03, ,+4 '++,~ 8'21 3, :�' (')42) /,
10

3' ()01'12324* ,+4 4)a+ 8'21 3,< @
&' d65), � @FH .07 7 , .,33, � @FN -05+ /0--, 3' ()01'12324* ( 05) 95 ]5- 7 ,++'6, +024 .0)),.?

4,7 ,-4 ,-B0Z* (') 5-, /,+ /,5; +4'420-+ _ 0- ),7 ')95, ^ -05B,'5 3, (),7 2,) +,523 'B'-4 3,95,3
3' ()01'12324* ,+4 -533, = ,4 -05+ ( 05B0-+ 7 >7 , /0--,) 5-, 80)753, '-'3Z4295, /, ., +,523 _

T0 ' T ������(Nmin) + 3 × Nmin × σ + λ

/'-+ 3,95,3
Nmin

,+4 3, -071), /, .0332+20-+ 2-*B24'13,+ = ,4 f'.\0c
(Nmin)

,4 3, 4,7 (+ 7 0Z,-
('++* /'-+ 3,+ ()0.*/5),+ /, 1'.\0c .0)),+( 0-/'-4+ ^ .,+ .0332+20-+ @ W05) 3,+ B'3,5)+ )*,33,+
/5 ()040 .03, -05+ 'B0-+

Nmin = 5
,4 f'.\0c

(Nmin) = 31
@
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PRISM - ND Max probability
PRISM - Fully Probabilistic
APMC
PRISM - ND Min probability
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N
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N
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λ = 780

=
σ = 24

=
α = 10

=
deadline = 2000

<
W)01'12324* / ]'B02) (35+ /,

N
.0332+20-+ = ,- 80-.420- /,

N
@

S()a+ ., +,523 3' ()01'12324* '567 ,-4, )'(2/,7 ,-4 ,4 4,-/ B,)+
1

= (') ,;,7 (3, '()a+
2λ

3'
()01'12324* / ],-B0Z,) .0)),.4,7 ,-4 5- 7 ,++'6, ,+4 /,

0, 9
@

E-d- 0- ( ,54 ),7 ')95, 3 ]*7 ,)6,-., /, (3'4,'5; @ Q, -, +0-4 ('+ /,+ )*+534'4+ +5)(),-'-4+
:(52+95, /*} ^ ),7 ')95*+ /'-+ K�`UU = J L GGP< @ D3+ +0-4 /] + '5; /,'/32-,+ 4)0( ( ,424,+ ,4 -,
( ,)7 ,44'-4 ('+ '5; +4'420-+ / ],-4),) /'-+ 3' ()0 .*/5), /, 1'.\0c @

&' .07 (3*7 ,-4')24* /,+ /,5; 7 0/,3?.Y,.\,)+ -05+ ' /0-. ( ,)7 2+ /, B*)2d,) = ( 05) 3' (),?
7 2a), 802+ ^ -04), .0--'2++'-., = 5- 6)'-/ -071), /, ()0()2*4*+ 95'-424'42B,+ /, QMR S TQV @
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&' +524, /, 3' 4Ya+, +,)' .0-+'.)*, ^ 3 ]*45/, /,+ ()0()2*4*+ /, .0-B,)6,-., /,+ '360)24Y7 ,+
()01'1232+4,+ @ A05+ 'B0-+ .Y,).Y* ^ '((3295,) 3,+ 4,.Y-295,+ 54232+*,+ /'-+ 3 ]*45/, /,+ +Z+4a7 ,+
()01'1232+4,+ 2++5,+ / ]'54),+ /07 '2-,+ +.2,-42d95,+ :R '4Y*7 '4295,+ = WYZ+295, +4'42+4295,< @ D3
+, 4)05B, 95, /, .,44, 7 '-2a), = /, -071),5; 05423+ ( ,5B,-4 -05+ '2/,) ^ *45/2,) 3,+ +Z+4a7 ,+
2-80)7 '4295,+ @
V '-+ ., .Y'(24), -05+ -05+ 2-4*),++,)0-+ +5)4054 '5 .05(32-6 = 4,.Y-295, ( ,)7 ,44'-4 /, 7 '} 0),)
3, 4,7 (+ /, .0-B,)6,-., /,+ '360)24Y7 ,+ @ &,+ -04'420-+ 95, -05+ (),-/)0-+ +0-4 .,33,+ /,
K� '-N� = IR WNH.P

� ij � qpo�upoqnt

&' 7 *4Y0/, /, R 0-4,?Q')30 ( 05) 3,+ .Y'[-,+ /, R ')\0B ,+4 4)a+ ,� .'., ( 05) 3 ]*45/, /,+
+Z+4a7 ,+ +5) /,+ ,-+,713,+ /, 4)a+ 6)'-/, 4'233, = 3 ]2/*, /, 1'+, ,+4 /, +2753,) 5-, 7 ').Y, '3*'?
402), +5) 3,+ .0-d65)'420-+ /, 3 ],-+,713, ,- 95,+420- @ E-+524, = ,4 7 >7 , +2 3,+ .0-d65)'420-+
- ]0-4 95, 4)a+ ( ,5 /, B02+2-+ = 3' .Y'[-, /, R ')\0B ,-6,-/)'-4 3' 7 ').Y, '3*'402), B' .0-B,)?
6,) :B24, �< B,)+ 5-, /2+4)215420- 2-4*),++'-4, +5) 3 ],-+,713, /,+ .0-d65)'420-+ @ &,+ 80-/'420-+
7 '4Y*7 '4295,+ /, .,44, 4Y*0)2, ( ,5B,-4 +, 4)05B,) Kf)*GG = �MGgP = -05+ -, /0--,)0-+ 2.2 95,
3,+ )*+534'4+ 5423,+ /'-+ 3, .'/), /, 3 ]*45/, /,+ +Z+4a7 ,+ 2-80)7 '4295,+ /2+4)215*+ @
V , -071),5; /07 '2-,+ /2c*),-4+ 0-4 54232+* .,+ 4,.Y-295,+ /5)'-4 .,+ 952-~, /,)-2a),+ '--*,+ @
A05+ ( 05B0-+ .24,) (') ,;,7 (3, = 3 ],+427 '420- /5 B0357 , / ]5- .0)(+ .0-B,;, KVIL GOP ,4 .,33,
/5 ( ,)7 '-,-4 / ]5-, 7 '4)2., K�M� N FP @ &,+ B,)+20-+ ,;'.4,+ /, .,+ /,5; ()013a7 ,+ +0-4 /,+
()013a7 ,+

]
W?.07 (3,4+ K�MGgP @ �- ( ,54 '5++2 .24,) KL ')NOP ( 05) 5-, B5, / ],-+,713, /, 4054,+

3,+ '((32.'420-+ @
&' )'2+0- 3' (35+ .05)'-4, /, 3 ]2-4*)>4 ( 0)4* '5; 4,.Y-295,+ /, 7 '} 0)'420- /5 4,7 (+ /, .0-B,)?
6,-., / ]5-, .Y'[-, /, R ')\0B ,+4 .,33, /, 3 ]*.Y'-42330--'6, / ],-+,713, /, 4)a+ 6)'-/, 4'233, @
E- B02.2 3,+ ()2-.2('5; 4,)7 ,+ @

G F
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&,+ .Y'[-,+ /, R ')\0B :B02) 4054,+ 3,+ /*d-2420-+ '5 .Y'(24), O< +0-4 /,+ 05423+ (52++'-4+

95'-/ 0- ' 1 ,+02- / ]*.Y'-42330--,) 5- ,-+,713,
Ω

d-2 /, .0-d65)'420-+ @ & ]2/*, ,+4 /, .0--,.?
4,) ,-+,713, 3,+ *3*7 ,-4+ /,

Ω
,- .Y02+2++'-4 ( 05) .Y'.5- / ],5; 5- -071), :/, ()*8*),-.,

( ,424< /, B02+2-+ @ E-+524, = (')4'-4 / ]5- *4'4 ')124)'2), /,
Ω

= 3' 7 ').Y, B2+24,)' 3,+ /2c*),-4,+
.0-d65)'420-+ = +, 1'3'/'-4 /, 3 ]5-, ^ 3 ]'54), @ D335+4)0-+ .,3' ^ 3 ]'2/, / ]5- ,;,7 (3, +27 (3, @
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� ������ ��� ����� @��� 
��=� ����� �� F
"�" ��� ���� ��� ��� ���
=� ��� ��� ������K � !��
���� B � A �
" C� � � ��
R�� ����M �
�� �� �� ��������� � !������ � !=���� F� !����� @�� �� ���� ���
����� @��� �� ��� � ���K ��� �� � !�����
� �� ��� �����
�
��� �� ��� ���� ���A �����
���

I
��

I ′
F
�


��� ����� @���K �� � �
 ���� �
���� �� �� � �� �
�� ���
φ(I, I ′) = 1

" Q� �
������ �� � ��� 
��
=��� � �=A �
� ��� �� ��� @�� � !=�=� ���� ��
 � � ���� �� � ���� �� ��� ���� ����� @���> �� � ���
�
� ���� ��� � ���B � ��=���
��

(It)t∈N

�� �� � ��
R�� ��
�����"
� ������

I0
� !=��� 
�
�
�� F��� �� ��� �� � !����� @�� �
��K "

� �
� �=� =��� Z
I " 
B�
�
� �� ��� � ��

v
��
��� � ��� �
���
@��
�� ��
? ��� � ���

V
F� !����� @�� ��� ��� � ���

�� ���� B �K "
J " � �
�

; < 

v ∈ It

�� � !���R�� Z
It+1 = It − {v}

; < 

v /∈ It

�� �� ��P ���� �
 � !��� � ���
@�� ��
� Z
• It+1 = It ∪ {v} �


v
� !��� ��
�
� � !����� ��� =�=� ���� ��

It

• It+1 = It
�
��� "

�� � ��� �
��
 �=��
�� �� �B���� �� � ��
�� ��� � !����� @�� ��� ����� @��� 
��=� ������� ���
��� � ��@�@
�
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; p(I, I ′) = 1/n
�


φ(I, I ′) = 1
; p(I, I ′) = 0

�

φ(I, I ′) > 1

; p(I, I ′) = 1 − ∑

J 6=I p(I, J)
�


I = I ′Q� ��
�� �� �=������� ��� ���� �� ���� � �=� ����� ��� � ��� �
�� �� �������
 ����� �B���� ��� �� �
@���� ����
���� � ��� � !=�B���
� ������ �"

♣

&'()*+*,) � .N . 0
 79,	 *
 *+' : C�� �B���� �� � ��
�� ��� �
�� ��� ��
�� � �
 �� �� ��� Z
I " ���=����
@��> 
 "�" ∀x, y ∈ Ω


� �� 
���
t

��� ���
pt(x, y) > 0

"
J " �� =�
��
���> 
 "�" ∀x, y ∈ Ω

�� � �
% �� � !����� @�� Z {t|pt(x, y) > 0} ����
1

"
�- ( ,54 ),7 ')95,) 95, 3' .Y'[-, /, R ')\0B +5) 3,+ ,-+,713,+ 2-/*( ,-/'-4+ ,+4 2))*/5.?

421 3, @ E- ,c,4 = 0- ( ,54 '33,) /, - ]27 (0)4, 95,33, .0-d65)'420-+ ^ 3 ],-+,713, B2/, = ,- ,-3,B'-4
/,+ +07 7 ,4+ @ V , (35+ = .,44, .Y'[-, /, R ')\0B ,+4 '5++2 '( *)20/295, @ E- ,c,4 3' (35(')4 /,+
.0-d65)'420-+ 0-4 /,+ 4)'-+2420-+ +5) ,33,+?7 >7 ,+ /5,+ '5 8'24 95, .,)4'2-+ +07 7 ,4+ -, ( ,5B,-4
>4), )'} 054*+ @
�- ( ,54 ),-/), 8'.23,7 ,-4 5-, .Y'[-, /, R ')\0B '( *)20/295, ,- '} 054'-4 /,+ 4)'-+2420-+ +5)
,33,+?7 >7 ,+ '5; .0-d65)'420-+ @ Q,44, 0( *)'420- -, .Y'-6, ('+ 4)0( 3, 4,7 (+ /, .0-B,)6,-.,
/,+ '360)24Y7 ,+ @

&,+ /,5; 3,7 7 ,+ +52B'-4+ /*.)2B,-4 3,+ ()2-.2('3,+ ()0()2*4*+ /,+ .Y'[-,+ /, R ')\0B ,)60?
/295,+ = ,4 -*.,++24,-4 5-, /*d-2420- ()*'3'13, @
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p
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���
@��
��

π
���

Ω
��� �
�� ����
����
�� �
 �� �� ���
�? �
�

tπ = tπp,

��
�> � ��� � �=�
�=� ���> � ��� ����
i

��
Ω

Z

π(i) =
∑

j∈Ω

π(j)pij


���� =����
�� ��� ��� ��=� =����
�� �� @
��� � ��@���"

�2332 � .- . 0�,)�2792)
2 �275 8V 	 *5+7*WU+*,) 5+V+*,))V*72 : C�� �B���� �� � ��
��
E ������ � !=���� A �
 ��� ��
��� ������� � ���� ��� ��
��� �
���
@��
�� ����
����
��

π
>
"�"> ����

����
x, y ∈ Ω

> �� � Z
lim
t→∞

pt(x, y) = π(y).

�2332 � .� . 0
�UV+*,) 	U W*8V) 	'+V*88'2 : <�
�
M

��� �B���� �� � ��
�� ���
Ω

�$���
���� � ���
�� �� �����
�
��

p
" < 


π : Ω → [0, 1]
��� ��� ? ����
�� ���
�? �
��� � E � !=����
�� ��

@
��� �
�� /*4'233*, Z
∀x, y ∈ Ω π(x)p(x, y) = π(y)p(y, x)�� �
 �� �� ���
�? �
� ∑

x∈Ω π(x) = 1
����� �� �� ��� � !��
�� � �
� ��
@��
�� ����
����
�� ��

M
"

&,+ (),5B,+ /, .,+ /,5; 3,7 7 ,+ .3'++295,+ +, 4)05B,-4 /'-+ /, -071),5; 05B)'6,+ = (')7 2
3,+95,3+ 0- ( ,54 .24,) Kf)*GGP @
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I, I ′
�� �

p(I, I ′) = p(I ′, I)
> �� ������ � � ���� �� ��� � � � "X �� � � !�� 
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@��
��
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�� �� ����� �B��� � �� � ��
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���
@��
�� ��
? ��� �"
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♣

D3 ),+4, 7 '2-4,-'-4 /,5; 95,+420-+ .)5.2'3,+ ^ )*+05/), @ &' (),7 2a), ,+4 .07 7 ,-4 8'2),
( 05) *.Y'-42330--,) +52B'-4 /,+ /2+4)215420-+ (35+ .07 (3,;,+ 95, 3' /2+4)215420- 5-280)7 , = +,)'
)*+035 /'-+ 3, (')'6)'(Y, +52B'-4 @ &' +,.0-/, ,+4 /, +'B02) .0712,- /, 4,7 (+ 23 8'54 +2753,)
3' .Y'[-, /, R ')\0B 'B'-4 / ]>4), '++,~ ()0 .Y, /, 3' /2+4)215420- +4'420--'2), @ &' )*+035420- /,
., ()013a7 , ,4 +,+ '((32.'420-+ 0 ..5( ,)' 5-, 6)'-/, (')42, /, 3' +524, /, 3' 4Ya+, @
� ���� � %��!"���� �� � ��!� �%"�

& ]'360)24Y7 , /, R ,4)0( 032+ X'+42-6+ KR 03NOP ,+4 ),7 ')95'13,7 ,-4 +27 (3, @ Q ],+4 3, ( 02-4
/, /*(')4 /,+ 4,.Y-295,+ / ]*.Y'-42330--'6, @ D3 -05+ ( ,)7 ,4 /, /0--,) 5-, 4,.Y-295, +Z+4*7 '?
4295, ( 05) .0-+4)52), 5-, .Y'[-, /, R ')\0B 952 .0-B,)6, B,)+ 5-, /2+4)215420- d;*,

π
@

T89,7*+�32 	2 � 2+7,4,8*5 


M024 5- B02+2-'6, d;* ,-4), 3,+ .0-d65)'420-+ @
W')4'-4 / ]5-, .0-d65)'420- 2-242'3,

x
= 0- )*( a4, _
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 �� ��� ��
�
 �� ��
���� �

F@ QY02+2) 5- B02+2-
y

/,
x

5-280)7 *7 ,-4 ,4 /, 7 '-2a), '3*'402), 'B,. 3' ()01'12324*
1/2∆0�

∆
,+4 3, -071), 7 ';2757 /, B02+2-+ @

O @ M, ),-/), ,-
y

'B,. 3' ()01'12324*
p = min(1, π(y)

π(x))
@

� @ � ,+4,) ,-
x

= 'B,. 3' ()01'12324*
1 − p

@
E- 54232+'-4 3, 3,7 7 , g @� +5) 3 ]*95'420- /5 123'- /*4'233*, = 0- B*)2d, 95,

π
,+4 12,- 3'

/2+4)215420- +4'420--'2), /, .,44, .Y'[-, /, R ')\0B @ E- ,c,4 = +2
x

,4
y

+0-4 B02+2-+ :+5(( 0+0-+
+'-+ ( ,)4, /, 6*-*)'324*+

π(y) ≤ π(x)
= '30)+

p(x, y) = 1
2∆

π(y)
π(x)

,4
p(y, x) = 1

2∆

,4 0- ' /0-.
12,- 3 ]*95'420- /5 123'- B*)2d*, :,- ,c,4 +2

x
,4

y
-, +0-4 ('+ B02+2-+

p(x, y) = p(y, x) = 0
< @
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π(I) = λ|I|/Z,

�Y
Z =

∑

J∈Ω λ|J | ��� ��� ��������� ���� ��
��� ��" 
���� �
���
@��
�� ������� ��� E ��� �
���
�
@��
�� ������� �� ��� ��� ����� @��� 
��=� ����� �� F��
� ��� �� ��� �� �#�����K " 
��� � �������
��� �> �� �=A �
� ��� ����� @��� ��
�
�� ��� ���� ��
 ��� ��� �
������ �� � ��� 
�� 
�? =�
���� E
1

" <�
�
I

��
I ′

���� ���� ����� @��� ����
I ′ = I ∪ {v} " � ���� �� �

π(I ′) = λπ(I)
"

Q !��� ��
�B� � �� � �������
� ���� ����
�� � ����> �� !�A � � !=�B���
� ������ ��� ����� @�� ��
����
����� �
� ��
@��
�� > 
� ? ��� �������
�� �� �B���� �� � ��
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R�� ��
����� Z

p(I, I ′) =
1

2N
min(1, λ)

��>
p(I ′, I) =

1

2N
min(1, λ−1)

�� � ��� ��� ������ ��� �� ��������� ���� ��
����
�� � !�������� � ��� ���� �� �����
� �
�� ��
�� �B���� �� � ��
�� " � �������� ���> � !�
� �����> ��� ���� � !����� ����� � �$�� �� �� ����� ��� "

♣

D3 ),+4, /0-. 7 '2-4,-'-4 5-, +,53, 95,+420- 80-/'7 ,-4'3, = .0712,- /, 4,7 (+ /,B0-+ -05+
+2753,) 3' .Y'[-, ( 05) >4), '++,~ ()0 .Y, /, 3' /2+4)215420- +4'420--'2), �

� i� �qvx {on�
Q,44, (')42, /5 .Y'(24), +,)' .0-+'.)*, ^ 3' /,+.)2(420- / ]5-, 4,.Y-295, (')42.532a),7 ,-4

5423, ( 05) 3' 7 ,+5), /5 4,7 (+ /, .0-B,)6,-., /,+ .Y'[-,+ /, R ')\0B ,)60/295,+ = .,33, /5
.05(32-6 @
D3 -05+ 8'5/)' 4054 / ]'1 0)/ /*d-2) 3, 4,7 (+ /, .0-B,)6,-., :4,7 (+ /, 7 *3'-6,< = (52+ /*.)2),
,- /*4'23 3,+ /2c*),-4,+ *4'( ,+ /5 .05(32-6 @ & ],-+,713, /, .,+ )*+534'4+ ( ,54 +, ),4)05B,) /'-+
/, -071),5+,+ )*8*),-.,+ :.240-+ (') ,;,7 (3, Kf)*GGP< @
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&' -0420- .3'++295, ( ,)7 ,44'-4 /, 7 ,+5),) 3, 4,7 (+ /, .0-B,)6,-., / ]5-, .Y'[-, /, R ')?
\0B ,)60/295, B,)+ +' /2+4)215420- +4'420--'2), ,+4 '(( ,3*, 3, 4,7 (+ /, 7 *3'-6, @ Q, 4,7 (+ +,
7 ,+5), ,- 4,)7 , /, /2+4'-., ,- B')2'420- ,-4), 3 ]*4'4 .05)'-4 /, 3' .Y'[-, ^ 3 ]2-+4'-4

t
,4 3'

/2+4)215420- +4'420--'2),
π

@
W05) 5-, .07 (')'2+0- ,-4), 3,+ /2c*),-4+ 4,7 (+ /, .0-B,)6,-., = 0- ( 05))' *45/2,) 3,+ )*8*?
),-.,+ KSI') = &J GUP @

&'()*+*,) � .� . 0& *5+V)
2 2) �V7*V+*,) : < �
�
pt(x, y)

�� � ��@�@
�
�= �� �� ������ ��
x E y��

t
=��� �� " Q� �
������ �� ���
��
�� ������ �� ���� �

t
��� �=A �
� ��� Z

||pt, π||vt = max
x∈Ω

1

2

∑

y∈Ω

|pt(x, y) − π(y)|.

�� ������ ||pt(x, .), π|| = 1
2

∑

y∈Ω |pt(x, y) − π(y)|.Q,3' .0)),+( 0-/ ^ 3' -0)7 ,
L1

= 3, 8'.4,5) 1
2

*4'-4 2-4)0/524 ( 05) 95, 3' /2+4'-., +024 '5
(35+

1
@ A 05+ ( 05B0-+ ^ ()*+,-4 /0--,) 3' /*d-2420- +52B'-4, @

&'()*+*,) � .� . 012345 	2 3'8V)92 : � ���
ε > 0

> �� ���� � �� � =���� �
τ(ε)

��� �=A �
 ��� Z
τ(ε) = min{t : ||pt′ , π||vt ≤ ε,∀t′ ≥ t}.

�� �
�� �� !��� �B���� �� � ��
�� ��� ��� 
��� ��� � 
� �� �� �
 �� ���� � �� � =���� � ��� � ��$��� 
��
��

N
�� ��

log(ε−1)
"

� 23V7�U25 


&' 6)'-/,5) .3'++295, ( ,)7 ,44'-4 /, 7 ,+5),) 3' -0420- /, .0-B,)6,-., B,)+ 3' /2+4)215420-
+4'420--'2), ,+4 (354|4 3, )'Z0- +( ,.4)'3 @ Q, )'Z0- +( ,.4)'3 ,+4 /*d-2 .07 7 , 3' B'3,5) /, 3'
+,.0-/, (35+ 6)'-/, B'3,5) ()0(), /, 3' 7 '4)2., /, 4)'-+2420- /, 3' .Y'[-, @
A05+ ( 05B0-+ ),7 ')95,) 4054 / ]'1 0)/ 95, 3,+ /,5; -0420-+ +0-4 /,+ 6)'-/,5)+ B02+2-,+ @ E-
,c,4 /,+ )*+534'4+ /, KM2-G� = SI')P ),32,-4 3,+ /,5; -0420-+ @

&, 4,7 (+ /, 7 *3'-6, ,+4 5-, 6)'-/,5) .)5.2'3, @ W') ,;,7 (3, = ( 05) 3 ]*45/, /5 -071), /,
+035420-+ /, ()013a7 ,+ AW?.07 (3,4+ :()013a7 ,+ /, .07 (4'6, 95, 3 ]0- '(( ,33,

]
W?.07 (3,4+< =

3' .0--'2++'-., /5 4,7 (+ /, 7 *3'-6, ( ,)7 ,4 / ],+427 ,) 3, -071), /, 4,33,+ +035420-+ @ E- ,c,4 =
/'-+ 3' 7 '} 0)24* /,+ .'+ = 23 +5� 4 /, +2753,) 5-, 7 ').Y, '3*'402), +5) 3 ],-+,713, /,+ +035420-+ =
952 .0-B,)6, :)'(2/,7 ,-4< B,)+ 3' /2+4)215420- 5-280)7 , +5) 3,+ +035420-+ = ( 05) 014,-2) 5-,
1 0--, '(()0; 27 '420- /5 -071), /, +035420-+ @ &, .'3.53 /5 4,7 (+ /, 7 *3'-6, +, 8'24 +05B,-4
(') .05(32-6 .') 23 ,+4 /2� .23, /, 7 ,+5),) 3' /2+4'-., B,)+ 5-, /2+4)215420- +4'420--'2), 95 ]0-
-, .0--'24 ('+ @ �- ( ,54 4)05B,) (35+2,5)+ ,;,7 (3,+ / ]'((32.'420- :.030)2'6, /, 6)'(Y, = ()0?
13a7 , /5 +'. ^ /0+ = ),.05B),7 ,-4 /, 6)'(Y,+< ,4 3' 4Y*0)2, /'-+ K�MGgP (') ,;,7 (3, @

V , (35+ = 23 ,+4 +05B,-4 27 ( 0++21 3, :,- 2-80)7 '4295, ,- (')42.532,)< /, .'3.53,) 3,+ B'3,5)+
()0(),+ @ E- ,c,4 3' 4'233, /,+ +Z+4a7 ,+ ,+4 +05B,-4 ,;( 0-,-42,33, ,- 3, -071), /, 7 '.Y2-,+ ,4
3,+ 7 '4)2.,+ +0-4 +05B,-4 27 ( 0++21 3,+ ^ /*.)2), @

&, .05(32-6 -05+ ( ,)7 ,4 /0-. / ],+427 ,) .,44, -0420- @ M' +27 (32.24* ,4 +' (52++'-., 3 ]0-4
),-/5 ,;4)>7 ,7 ,-4 ( 0(53'2), @ E- B02.2 3,+ -0420-+ ()2-.2('3,+ @
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&'()*+*,) � ./� . 0�,U48*)9 : L ���� ���� =� ��� �B���� �� � ��
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M
> �� ���� �
�� ��� �� �

�B���� �� � ��
�� ���
Ω×Ω

�=A �
����� �� � �������� ����B���
�� �
(Xt, Yt)t∈N

���� ��� � ��� �
=�
�=� ��
������ Z

I " 
B���� ��� ���� � ��������
Xt

��
Yt

��� �� � ��� 
� �� ���� �� �� �B���� �� � ��
�� � !��
� 
� �
M

FL ���� 
�
�
��� ���� =�
X0 = x

��
Y0 = y

K "
J " < 


Xt = Yt
> �����

Xt+1 = Yt+1
>

&' .0-/2420-
1

'++5), 95, .Y'95, ()0.,++5+ B5 2+03*7 ,-4 +2753, 3' .Y'[-, /, R ')\0B 0)2?
62-'3, = 7 '2+ 3, .05(32-6 8'24 *B035,) 3,+ /,5; .Y'[-,+ +27534'-*7 ,-4 ,4 /, 7 '-2a), ^ 3,+ ),-/),
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τ(ε) = O(n ln(nε−1)).
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= 0- ),.07 7 ,-., 5- -05B,'5 } ,5
� @ M2 3, } ,5 + ]'))>4, 'B,.

` = d
,4

d = N − 1
= '30)+ 0- '))>4, 3' 1 05.3,

�- ( ,54 -04,) 95, .Y'95, } ,5 :^ (')4 3, (),7 2,)< /*154, 'B,.
` = d − 1

@ A 05+ ( 05B0-+
'30)+ /0--,) 3, )*+534'4 +52B'-4 _
� 7,4,5*+*,) � ./� . <�
�

d
�� �� �
�� A � => �� � ���� ��

jeu(d, d − 1)
��� ��� ���
��� ��
������ Z

I " Q� � ��@�@
�
�= �� ���� 
��� ��
` = d

F���
1
K ��� d−1

dJ " Q� � ��@�@
�
�= �� ���� 
��� ��
` = 0

F���
2
K ��� 1

d� " Q� ���=� � �$��� � � !�� P �� ��� � �P ��=� ��� d−1
2pq

F≤ N
2pq )

% =� �������
�� " Q, } ,5 /, )52-, /5 } 05,5) ,+4 5- } ,5 *952321)* 7 '2+ /0-4 3' +07 7 , /, ( ,)4,
,4 /, 6'2- -, 80-4 ('+

1
= /, ., 8'24 3,+ /,5; (),7 2a),+ '++,)420-+ +0-4 /,+ .0-+*95,-.,+ 27 ?

7 */2'4,+ /5 4Y*0)a7 , g @Fg @ E- ,c,4 = 3, 8'24 95, 3, } ,5 +024 *952321)* +5� 4 ( 05) /*4,)7 2-,) 3,+
()01'12324*+ /, +0)42) / ]5- .|4* 05 /, 3 ]'54), /, 3' .Y'[-, @
W') .0-4), ( 05) 3' 4)02+2a7 , '++,)420- 23 8'54 4)05B,) 3, 4,7 (+ 7 0Z,- 95, 3 ]0- ),+4, /'-+ .Y'95,
*4'4 +'-+ Z +0)42) @ A040-+

Ta
., 4,7 (+ = '30)+ 0- ' �

(Ta = k) = αk 0�
α = p2 + q2 @ V, ., 8'24 _

E(Ta) =
∑

k≥1

αk =
α

1 − α
=

1

2pq
− 1 ≤ 1

2pq
.

�- 75342( 32, /0-. 3, 4,7 (+ /, +0)42, /'-+ 3, .'+ /, 3' )52-, /5 } 05,5) .3'++295, :B02) 3,
4Y*0)a7 , g @Fe 2.2

a = d
,4

z = d − 1
< 'B,. 3, 4,7 (+ 7 0Z,- / ]'44,-4, /'-+ .Y'95, *4'4 ( 05)

014,-2) 3' 4)02+2a7 , '++,)420- @

�- ( ,54 /0-. ),()*+,-4,) 3 ]*B035420- /,
d

,-4), /,5; } ,5; .0-+*.5428 /'-+ 3' d65), g @FO @
& ]*B035420- /,

d
/5)'-4 3, } ,5 24*)* ,+4 /0--*, ,- d65), g @F� @

� �� �� � #��%����
&' +,.0-/, (Y'+, /5 .05(32-6 :3, .05(3'6, /,+ /,5; /,)-2a),+ (')42.53,+< (),-/ ,- 7 0Z,--,

∑M
i=1 E(Ti)

= /'-+ 3,95,3
M

,+4 5-, B')2'13, '3*'402), .0)),+( 0-/'-4 '5 -071), /, } ,5; = ,4
Ti
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d d + 1 N − d + 1
d−1

d

1
d

��� ������ �

��� ������ 	

��� � g @FO � EB035420- /,
d

^ 3' d- /, .Y'95, } ,5 @

d = 2 d = 3 d = 4 d = N − 3 d = N − 2 d = N − 1 d = N
1
2

2
3

N−4
N−3

N−3
N−2

N−2
N−1

1
2

1
3

1
4

1
N−1

1
N−2

1
N−3


��


��� � g @F� � EB035420- /,
d

( ,-/'-4 3, } ,5 24*)* @
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 FNG
3' /5)*, /5

ime } ,5 @ E- 54232+'-4 3, 3,7 7 , /, J'3/ :B02) (') ,;,7 (3, Kf)*GGP< = 0- ' _
M
∑

i=1

E(Ti) ≤ E(M) × max
i

(E(Ti)) = E(M) × N

2pq
�- 0142,-4 5-, 1 0)-, +5( *)2,5), /,

M
6)�., ^ 3' ()0( 0+2420- g @ON /0--*, 5- ( ,5 (35+ 302- = ,4

,33, B'54
2N

@ �- ,- /*/524 95, 3' +,.0-/, (Y'+, (),-/ ,- 7 0Z,--, '5 (35+ N2

pq

405)+ @ V , .,
8'24 3, 4,7 (+ /, .05(32-6 /5 ()0.,++5+ ,-42,) :2-.35'-4 3' (),7 2a), (Y'+,< ,+4 / ]'5 (35+ 2N2

pq

@
�- ( ,54 /0-. 80)753,) 3, )*+534'4 +52B'-4 _

1�',7�32 � ./� . Q� ���� � �� � =���� � �� � !�<L� ��� �� ������ ���� ���� ����
����� ��� ��
� ��� 2eN2

pq ln(ε−1)W05) '.Y,B,) 3' (),5B, /5 4Y*0)a7 , 23 -05+ ),+4, /0-. ^ 4)05B,) 5-, 1 0)-, +5( *)2,5), /5
-071), 7 0Z,- /, } ,5; = +024 ^ 4)05B,) 5-, 1 0)-, +5( *)2,5), ( 05) 3 ]'1+0)(420- :*4'4

d = N
< /,

3' .Y'[-, /, R ')\0B /*.)24, ,- d65), g @F� @
Q0-+2/*)0-+ 3' 7 '4)2.,

(N −2)× (N −2) A = (ai,j)
.0)),+( 0-/'-4, ^ 3' .Y'[-, /, R ')\0B

)*/524, '5; *4'4+ 4)'-+2402),+ :0- '
2 ≤ i ≤ N − 1

,4
2 ≤ j ≤ N − 1

< @ �- ' _
�

ak,k+1 = k−1
k

( 05)
k = 2, ..., N − 2

=
�

ak,N−k+1 = 1
k

(05)
k = 2, ..., N − 1

=
�

ai,j = 0
= +2-0- @

�- ( ,54 ),7 ')95,) 95, = ( 05)
N

('2) ,4
k = N

2

_
ak,k+1 = ak,N−k+1 = 1

@ &' 7 '4)2.,
A,+4 3' +52B'-4, _

A =



































0 1
2 0 0 . . . 0 0 0 1

2
0 0 2

3 0 . . . 0 0 1
3 0

0 0 0 3
4 . . . 0 1

4 0 0@@@ @ @ @ @ @ @ @@@@@@ @ @ @ @@@@@@ @ @ @ @ @ @
0

@@@
0 0 1

N−3 0 . . . 0 0 N−4
N−3 0

0 1
N−2 0 0 . . . 0 0 0 N−3

N−2
1

N−1 0 0 0 . . . 0 0 0 0



































.

A05+ /,B0-+ /0-. .'3.53,)
max2≤i≤N−1(Ei)

0�
Ei

,+4 3, 4,7 (+ 7 0Z,- ( 05) 3' 7 ').Y,
'3*'402), /*.)24, (') 3' 7 '4)2.,

A
/, +, ),-/), /'-+ 3 ]*4'4 '1+0)1'-4

N
/,(52+ 3 ]*4'4

i
@

� 7,4,5*+*,) � .N� .
∀i ∈ 2, ..., N − 1, Ei ≤ 2N.% =� �������
�� " &' (),5B, ,+4 8'24, ,- 4)02+ *4'( ,+ _

F@ Q'3.53 /,
(Ei)26i6N−1

@ &, B,.4,5)
(Ei)26i6N−1

,+4 .'3.53* (')
(I − A)−11

= 0�
I

,+4 3'
7 '4)2., 2/,-424* ,4

1
),()*+,-4, 3, B,.4,5) /0-4 4054,+ 3,+ .0 0)/0--*,+ B'3,-4

1
:B02)

Kf)*GGP< @ M024
B = (bi,j)

/*d-2 (') _
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�
bi,j = j

2(N−j)

+2
2 6 j < i 6 N − j + 1 6 N − 1

=
�

bi,j = (i−1)(2N−i)
2(j−1)(N−j)

+2
2 6 i 6 j 6 N − i + 1 6 N − 1

=
�

bi,j = (N+j−1)
2(j−1)

+2
1 6 N − j + 1 6 i 6 j 6 N − 1

=
�

bi,j = (N−i)(N−i+1)
2(j−1)(N−j)

+2
N − i + 1 6 j < i 6 N − 1

@
�- ( ,54 B*)2d,) 95,

B = (I − A)−1 @ S 2-+2
(Ei)26i6N−1 = B1

= /0-. _
Ei =

∑N−1
j=2 bi,j

= ∀i ∈ {1, ..., N − 1},

Ei = N
∑N−2

j=N−i+1
1
j + (i−1)(2N−i)

N−1

∑N−i
j=i−1

1
j ,

28
2 6 i 6 N+1

2 ,

Ei = N
∑N−2

j=i−1
1
j + (N−i)(N−i+1)

N−1

∑i−2
j=N−i+1

1
j ,

28 N+1
2 < i 6 N − 1.

O @ f0)-,+ ( 05)
iN

@ & ' B'3,5) /, 3 ]2-/2.,
iN

(05) 3,95,3 3, 7 ';2757 /,
Ei

:
2 6 i 6 N − 1

<
,+4 '44,2-4 = ,+4 4,33, 95, _ N+1

4 ≤ iN ≤ N+1
2

:B02) 3, 3,7 7 , g @O�< @
� @ f0)-, 7 ';27 '3, /,

EiN

@ &, 3,7 7 , g @OH -05+ /0--, 5-, .0-+4'-4,
C 6 2

4,33, 95,
N+1

4 ≤ i ≤ N+1
2

= 0- ' _
Ei ≤ CN

@
&' .0712-'2+0- /,+ /,5; /,)-2,)+ )*+534'4+ '.YaB, 3' (),5B, @

� ,+4,-4 ^ ()05B,) 3,+ 3,7 7 ,+ g @O� ,4 g @OH @ E- B02.2 3, /*4'23 _
&' ()0( 0+2420- g @ON ),( 0+, +5) 3,+ 3,7 7 ,+ g @O� ,4 g @OH = 952 ,5;?7 >7 ,+ ),( 0+,-4 +5) 3,+

3,7 7 ,+ g @O F ,4 g @OO @
�2332 � .N /. < 


2 6 i < N+1
2

> �� � Z
Ei − EN−i+1 > 0.

% =� �������
�� " M024
2 6 i < N+1

2

@ M2
j < i

05
j > N − i + 1

= 0- '
bi,j − bN−i+1,j = 0

@ M2
i 6 j < N − i + 1

= 0- '
bi,j − bN−i+1,j = (i−1)(N−i)

(j−1)(N−j) > 0
@

�2332 � .NN . < 

3 6 i 6 N+1

2

> �� � Z

Ei − Ei−1 = −1 +
2(N − i + 1)

N − 1

N−i
∑

i−1

1

j
.

+
�2332 � .NS . <�
�

iN
���� {2, ..., N − 1} ��� �� ���

EiN = max {Ei ; i ∈ {2, ..., N − 1} }.
� ���� Z

N + 1

4
6 iN 6

N + 1

2
.

% =� �������
�� " � )�., '5 3,7 7 , g @O F= 0- '
iN 6 N+1

2 .
W05) 3 ]'54), 2-*6'324* = 0- ( ,54 +5(( 0+,)

N > 8
@
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� M024

i
4,3 95,

3 6 i 6 N+1
2

C '30)+ =
Ei > Ei−1

+2 ,4 +,53,7 ,-4 +2 ∑N−i
i−1

1
j > N−1

2(N−i+1)

:B02)
3, 3,7 7 , g @OO< @ Q07 7 ,

i 7→ ∑N−i
i−1

1
j

,+4 5-, +524, /*.)02++'-4, /, ∑N−2
1

1
j

B,)+ 4(N−1)
N(N−2)05 2

N+1

= +,30- 3' (')24* /,
N

= ,4
i 7→ N−1

2(N−i+1)

,+4 5- +524, .)02++'-4, /, 1
2

^ N−1
N+2

05
N−1
N+1

),+( ,.42B,7 ,-4 = 23 ,; 2+4, 5- 2-/2.,
l

4,3 95,
E2...El

,+4 .)02++'-4, ,4 3' +524,
El+1, ...,+4 /*.)02++'-4, @ V , (35+ = 0- /024 'B02)

l = iN
,4

iN
,+4 .')'.4*)2+* (') _

{

∀i 6 iN , Ei > Ei−1,
∀i > iN , Ei < Ei−1.

.

� M024
i

3, ( 35+ 6)'-/ ,-42,) (35+ 6)'-/ 05 *6'3 ^ N+1
4

:N+1
4 6 i 6 N+4

4

< @ Sd- /, ()05B,)
N+1

4 6 iN
= 23 +5� 4 /, /*7 0-4),) 95,

Ei > Ei−1
@

Ei − Ei−1 = −1 + 2(N−i+1)
N−1

∑N−i
i−1

1
j > −1 + 3N

2(N−1)

∑N−i
i−1

1
j > −1 + 3

2

∑N−i
i−1

1
j .

� '(( ,30-+ 3 ]2-*6'324*
ln N−i+1

i−1 6
∑N−i

i−1
1
j

:54232+'-4 1
j > ln j+1

j

< @ S 2-+2 _
Ei − Ei−1 >

−1 + 3
2 ln N−i+1

i−1 > −1 + 3
2 ln 3N

N = −1 + 3
2 ln 3 > 0.

�2332 � .N- . � � �� 
���
C > 0

����
0 < C ≤ 2

��� �� �> � ��� ����
N ∈ N

�� ����
i

����
N+1

4 6 i 6 N+2
2

> �� � Z
Ei 6 CN.

% =� �������
�� " M024
N > 8

,4
i

4,3+ 95, N+1
4 6 i 6 N+1

2

@ S 30)+ _
Ei = N

∑N−2
j=N−i+1

1
j + i(2N−i)

N−1

∑j=N−i
j=i−1

1
j

@
� '(( ,30-+ 95, _ ∑m

l
1
j 6 ln m

l−1

:54232+'-4 1
j 6 ln j

j−1

< @ S 2-+2 _

Ei 6 N ln N−2
N−i + (i−1)(2N−i)

N−1 ln N−i
i−2

6 N ln 2(N−2)
N−1 + (N−1

2
7N
4

1
N−1) ln 3N−1

N−7

6 N(ln 2 + 7
8 ln 3).
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Q� �
� ����= ���� �� ���=�����> �
�� � �� �� �� !�� �� ��� ����� E�� ? �
� � =�����
�� �� 
�����
@��"
� ������ �
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�� �

Q, .Y'(24), ,+4 .0-+'.)* ^ 3 ]'((32.'420- /,+ 4,.Y-295,+ /, .05(32-6 ( 05) /,+ '360)24Y7 ,+ 2-?
80)7 '4295,+ +5) /,+ +Z+4a7 ,+ /2+4)215*+ @ A05+ -05+ 2-4*),++,)0-+ -04'7 7 ,-4 '5; '360)24Y7 ,+
'540?+4'1232+'-4+ @ &,+ /*d-2420-+ ()*.2+,+ /, 4054,+ .,+ -0420-+ /0--*,+ /'-+ 3,+ +,.420-+ e @F
,4 e @O ),7 (32)0-4 3' (),7 2a), (')42, /5 .Y'(24), = ,4 3,+ /*.32-'2+0-+ /5 .05(32-6 ,4 3,5)+ '(?
(32.'420-+ ^ -0+ ()013a7 ,+ +, 4)05B,)0-4 /'-+ 3,+ +,.420-+ e @H ,4 e @� @ &,+ -04'420-+ 95, -05+
54232+,)0-+ 2.2 +0-4 ()2-.2('3,7 ,-4 .,33, /, 3' 4Ya+, /, R ')2, V5	04 KV58N�P ,4 /, 3 ]')42.3,
KIR WNH1P @

� ij ��tp�w st r otpyoz vlt
b- �$��R� � �
���
@�== *6'3,7 ,-4 '(( ,3* �$��R� � �=����
= +, /*d-24 /, 3' 7 '-2a), +52B'-4, @

D3 +, .07 (0+, / ]5- ,-+,713, / ],-424*+ '540-07 ,+ :0)/2-'4,5)+ = ()0 .,++,5)+ = '5407 '4,+ = ()0?
.,++5+ @@@< ),32*+ '5 7 0Z,- /, .'-'5; /, .07 75-2.'420- 05 /, B')2'13,+ (')4'6*,+ @ D3+ ( ,5B,-4
/0-. .07 75-295,) ,-4), ,5; ,4 *B035,) ,- 80-.420- /, 3,5) ()0(), *4'4 ,4 /,+ 2-80)7 '420-+
*.Y'-6*,+ @ �- 54232+, +05B,-4 3, 80)7 '32+7 , /,+ 6)'(Y,+ ( 05) /*.)2), 3' 40( 03062, /, .,+ +Z+?
4a7 ,+ @ S 2-+2 = 3,+ ,-424*+ +0-4 '(( ,3*,+ 3,+ ����� /5 +Z+4a7 , ,4 0- 54232+, /,+ ')>4,+ ( 05)
),()*+,-4,) 3,+ .07 75-2.'420-+ ,-4), 3,+ -�5/+ @ b- ,;,7 (3, /, +Z+4a7 , /2+4)215* ,+4 /0--*
^ 3' d65), e @F@

V , -0+ } 05)+ = 0- -, 7 ,4 (35+ ,- /054, 3 ]542324* /,+ +Z+4a7 ,+ /2+4)215*+ ,4 /,+ '360)24Y7 ,+
952 3,5) +0-4 '++0 .2*+ @ Q,5;?.2 +0-4 ()*+,-4+ /'-+ /,+ '((32.'420-+ '5++2 /2B,)+,+ 95, 3,+ )*+,'5;
:95 ]23+ +02,-4 30 .'5; = 05 30-65, /2+4'-., .07 7 , D-4,)-,4< = 3,+ 0)/2-'4,5)+ 75342()0 .,++,5)+ =
05 .,)4'2-+ +Z+4a7 ,+ .)24295,+ /'-+ 3,+95,3+ 0- 54232+, (35+2,5)+ 7 0/53,+ ,c ,.45'-4 3' 7 >7 ,
4�.Y, ( 05) '567 ,-4,) 3' d'12324* @ &' +,.420- e @F@O ()*+,-4, 3,+ /2c *),-4+ 01} ,.428+ B2+*+ (') 3,+
+Z+4a7 ,+ /2+4)215*+ = '2-+2 95, 3,+ /07 '2-,+ '++0.2*+ ^ .,+ 01} ,.428+ @

`054,+ .,+ .0-+2/*)'420-+ +5) 3,+ +Z+4a7 ,+ /2+4)215*+ = '2-+2 95, /, -071),5; ,;,7 (3,+ /,
+Z+4a7 ,+ 05 '360)24Y7 ,+ /2+4)215*+ ( ,5B,-4 >4), 4)05B*+ /'-+ K`,3G F = `,3GH = &Z-GgP @

FF�
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-�5/

.'-'3 /, .07 75-2.'420-

��� � e @F � b- ,;,7 (3, /, )*+,'5 '++0.2* ^ 5- +Z+4a7 , /2+4)215* @

� ���� � ��"��� �� $���
V5 8'24 95, 3,+ +Z+4a7 ,+ /2+4)215*+ ( 0++a/,-4 /,5; -2B,'5; / ]'1+4)'.420- 12,- /2+42-.4+

:.,35 2 /,+ ()0 .,++5+ ,4 .,35 2 /5 +Z+4a7 , 4054 ,-42,)< = 0- ' 1 ,+02- /, -0420-+ ),3'42B,+ ^ .,+
/,5; -2B,'5; @

�- 54232+, 3' -0420- / ]=��� �����= 05 4054 +27 (3,7 ,-4 / ]=��� ( 05) /*+26-,) .,35 2 / ]5- ()0?
.,++5+ @ & ]=��� � ��@�� /5 +Z+4a7 , = . ],+4?^?/2), 3' 32+4, /,+ *4'4+ 30 .'5; /,+ ()0 .,++5+ = ,+4 '(( ,3*
���A �����
�� @

V , 7 >7 , = ( 05) .')'.4*)2+,) 3 ]*B035420- /5 +Z+4a7 , = 0- 54232+, 3, 4,)7 , / ]���
�� ( 05) /*+2?
6-,) 5- ('+ / ]*B035420- / ]5- ()0.,++5+ = ,4 3, 4,)7 , /, �����
�
�� ( 05) 5- ('+ / ]*B035420- /5
+Z+4a7 , 6301'3 @ S 2-+2 5-, 4)'-+2420- .0)),+( 0-/ ^ ., 95 ]5- :05 (35+2,5)+< ()0.,++5+ ,c,.45, :-4
+27534'-*7 ,-4< 5-, '.420- @

� ���� �$� ���"�� ��� �������� �"��!"$�#�
&,+ +245'420-+ 27 (3295'-4 3,+ +Z+4a7 ,+ /2+4)215*+ +0-4 4)a+ B')2*,+ = ,4 B2+,-4 /,+ 154+ /2c *?

),-4+ @ E- B02.2 3,+ ()2-.2('5; _
� � �'
�V)92 	 �*) �,73V+*,)5 
 &, 1 ,+02- / ]*.Y'-6,) /,+ 2-80)7 '420-+ ,-4), 0)/2-'4,5)+

+ ],+4 /*B,30(( * /'-+ 3,+ '--*,+ +02; '-4, = '30)+ 95, 3,+ 6)'-/,+ 5-2B,)+24*+ ,4 3,+ ,-4),?
()2+,+ +, /04'2,-4 /, 3,5)+ ()0(),+ +,)B,5)+ @ &' .00( *)'420- ,-4), .,+ /2c *),-4,+ 0)6'-2?
+'420-+ ' *4* 8'.2324*, (') 3 ]*.Y'-6, /, /0--*,+ ,-4), 0)/2-'4,5)+ = ,4 ,33, ' ,-.05)'6* 3,
/*B,30(( ,7 ,-4 /, )*+,'5; 30-65, /2+4'-., @ S5} 05)/ ]Y52 .,+ )*+,'5; +0-4 (')4054 = 95,
., +024 ^ 6)'-/, *.Y,33, :D-4,)-,4 ),32'-4 3,+ /2c*),-4,+ )*620-+ /5 7 0-/,< 05 ^ (35+
( ,424, *.Y,33, :D-4)'-,4 ),32'-4 3,+ /2c*),-4+ 0)/2-'4,5)+ / ]5-, 7 >7 , ,-4),()2+,< @ D3+ ( ,)?
7 ,44,-4 '5; (')42.532,)+ .07 7 , '5; ()08,++20--,3+ / ]*.Y'-6,) /,+ /0--*,+ = (') ,;,7 (3,
,- 4*3*.Y')6,'-4 /,+ d.Y2,)+ 05 (') .05))2,) *3,.4)0-295, @

� �2 4V7+V92 	25 7255,U7
25 
 M2 3,+ 0)/2-'4,5)+ +, +0-4 )*('-/5+ '5 ( 02-4 95, /,
-071),5+,+ ( ,)+0--,+ ,- +0-4 *952( *,+ /'-+ 5-, ,-4),()2+, = ., - ],+4 ('+ 3, .'+ /, 405+
3,+ ( *)2(Y*)295,+ :27 ()27 '-4,+ = 5-24*+ /, +40 .\'6, =@@@< D3 ,+4 '30)+ }5/2.2,5; /, .0--,.4,)
/,+ 7 '.Y2-,+ '5 +,2- / ]5- )*+,'5 30 .'3 = ( 05) 3,5) ( ,)7 ,44), / ]'..*/,) ^ .,+ ( *)2(Y*)295,+
(')4'6*+ @
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� TU932)+V+*,) 	2 8V (VW*8*+' 
 V '-+ 5- +Z+4a7 , /2+4)215* = /5 8'24 /, 3 ],; 2+4,-., /,

( ,424,+ ,-424*+ :3,+ -�5/+ /5 +Z+4a7 ,< = 23 ,+4 +05Y'24'13, 95, = '30)+ 95, .,)4'2-+ -�5/+
+0-4 /*8'233'-4+ = / ]'54), .0-42-5,-4 ^ 80-.420--,) ,- (),-'-4 ,- .Y')6, 3, 4)'B'23 /,+
-�5/+ /*8'233'-4+ @ S 2-+2 = +2 3 ]0- 8'24 ,c ,.45,) 3' 7 >7 , 4�.Y, (') (35+2,5)+ ()0.,++,5)+
/2+42-.4+ = ,- (),-'-4 ,- +0)42, 3, )*+534'4 3, (35+ ()01'13, :2 @, @ 014,-5 (') 3, (35+ 6)'-/
-071), /, ()0 .,++,5)+< = 0- '567 ,-4, 3' d'12324* 6)�., ^ 3' )*(')42420- @

� TU932)+V+*,) 	25 4 27�,73V)
25 
 &, 8'24 /, /2+( 0+,) /, (35+2,5)+ ()0 .,++,5)+ = 95,
., +024 '5 +,2- / ]5-, 7 >7 , 7 '.Y2-, 05 �
� 5- )*+,'5 = ( ,54 ( ,)7 ,44), /, (')4'6,) 5-,
4�.Y, ^ ,c,.45,) ,-4), (35+2,5)+ ()0 .,++,5)+ = ,4 /, 3,+ 8'2), 405)-,) ,- (')'33a3, @ S 2-+2 3,
4,7 (+ 6301'3 -*.,++'2), ( 05) ,c,.45,) 3' 4�.Y, ( ,54 >4), /27 2-5* / ]'54'-4 @

V '-+ 3, .'/), /, 3 ]'567 ,-4'420- /, 3' d'12324* ,4 /,+ ( ,)80)7 '-.,+ = 0- .0-+2/a), +5)4054
/,+ 7 '.Y2-,+ 75342()0 .,++,5)+ @ D3 '))2B, *6'3,7 ,-4 95, /,+ 0)/2-'4,5)+ /2+4'-4+ +, 7 ,44,-4
^ (')42.2( ,) ^ 5-, 7 >7 , 4�.Y, = .07 7 , (') ,;,7 (3, 3, ()0} ,4 �Q� � 952 .0-+2+4'24 ^ 4)05B,)
5-, .3,8 /, gH 124+ ,- 4,-4'-4 4054,+ 3,+ +035420-+ ( 0++21 3,+ @ Q, ()0} ,4 ' *4* 7 ,-* ^ 12,- ,-
()a+ /, � '-+ = ,4 '5 404'3 (') (35+ /, �NNNNN ( ,)+0--,+ @ &,+ *.Y'-6,+ / ]2-80)7 '420- +, 80-4
+5) 3,+ )*+,'5; = 95, ., +02,-4 3,+ )*+,'5; 30-65, /2+4'-., 05 3,+ )*+,'5; 30.'5; @ &, (')4'6,
/,+ ),++05).,+ +, 8'24 95'-4 ^ 352 ()2-.2('3,7 ,-4 ^ 3 ]*.Y,33, /,+ )*+,'5; 30.'5; = 7 '2+ ('+
5-295,7 ,-4 @

� ���� � !�$ %���� ���%�	#�  �! %�� �������� �"��!"$�#�

Q,+ +Z+4a7 ,+ /2+4)215*+ '(( 0)4,-4 / ]5-, (')4 /,+ +035420-+ -05B,33,+ 05 (')802+ (35+ )'?
(2/,+ ^ /, -071),5; ()013a7 ,+ ,4 +053aB,-4 / ]'54), (')4 /, -05B,33,+ 95,+420-+ @ &,+ +Z+4a7 ,+
/2+4)215*+ 0-4 1 ,+02- /, 7 *4Y0/,+ (')42.532a),+ ( 05) >4), *45/2*+ .') 23+ +0-4 ),3'42B,7 ,-4
/2c *),-4+ /,+ +Z+4a7 ,+ .3'++295,+ @

`054 / ]'1 0)/ 23 ,+4 .05)'-4 ,- '360)24Y7 295, /2+4)215*, 95, .Y'95, ,-424* -, .0--'2++,
95 ]5-, (')42, /, 3 ]*4'4 /5 +Z+4a7 , = .0-4)'2),7 ,-4 '5 .'+ .3'++295, 0� 3 ]0- ' 5-, .0--'2++'-.,
6301'3, /, .,35 2?.2 @ Q,44, YZ( 04Ya+, ,+4 4054 ^ 8'24 )'2+0--'13, @ E- ,c,4 = 0- 27 '62-, 7 '3 =
/'-+ 5- +Z+4a7 , .07 (0)4'-4 /, -071),5; ()0 .,++5+ = 95, .Y'.5- / ],-4), ,5; 7 '2-42,--, 5-,
.0--'2++'-., 6301'3, /5 +Z+4a7 , @ Q,3' /,7 '-/,)'24 5-, (3'., 7 *7 02), 4)0( 27 ( 0)4'-4, = 05
1 ,'5.05( / ]*.Y'-6,+ /, 7 ,++'6,+ @ V '-+ 3, .'+ /2+4)215* 0- /024 /0-. )*5++2) ^ '..07 (32) /,+
4�.Y,+ ,- - ]'Z'-4 95 ]5-, .0--'2++'-., (')42,33, /5 +Z+4a7 , @
&0)+95 ]0- B,54 = /'-+ 3, .'+ /, 3 ],;.35+20- 7545,33, = + ]'++5),) 95 ]5- +,53 ()0 .,++5+ /5 )*+,'5
( 0++a/, 5- .,)4'2- ()2B 23a6, = 3' /2� .534* B2,-4 } 5+4,7 ,-4 /5 8'24 95 ]23 ,+4 27 ( 0++21 3, = ( 05)
- ]27 ( 0)4, 95,3 ()0.,++5+ = /, +'B02) +2 = ^ 3 ]'54), 1 054 /5 )*+,'5 = 5- '54), ()0.,++5+ ( 0++a/,
05 -0- 5- ()2B 23a6, @

b- '54), ( 02-4 27 ( 0)4'-4 ,+4 3 ]'1+,-., /, 4,7 (+ 6301'3 +5) 3, +Z+4a7 , @ QY'95, ()0.,++5+
'540-07 , ( ,54 � � �
��
 *B035,) +,30- 5-, *.Y,33, /, 4,7 (+ 952 35 2 ,+4 ()0(), @ S 2-+2 0- - ]' ('+
B)'27 ,-4 /, .0-4)|3, ( ,)7 ,44'-4 /, +'B02) /'-+ 95,3 0)/), 3,+ ()0.,++5+ B0-4 '62) @ Q,)4'2-+
*B*-,7 ,-4+ ( ,5B,-4 7 >7 , 'B02) 32,5 /, 7 '-2a), +27534'-*, @ S 2-+2 = ( 05) 80)7 '32+,) .,44, -0420-
/ ]0)/), 05 /, +27534'-*24* /,+ '.420-+ = 0- B' 'B02) 1 ,+02- / ]5- 7 0/a3, = .,35 2 /, ( 0324295, /*d-2
'5 .Y'(24), O :05 '5++2 /, �=� �� 05 +.Y,/53,) ,- '-63'2+< @
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� ���� �������� �"��!"$�#�  !�$�$"%"����
&,+ ()01'12324*+ 0-4 *4* 2-4)0/524,+ = /'-+ 3,+ +Z+4a7 ,+ /2+4)215*+ .07 7 , '233,5)+ = ( 05)

()2-.2('3,7 ,-4 /,5; )'2+0-+ @ V ]5- .|4* ,33,+ ( ,)7 ,44,-4 /, )*+05/), (35+ ,� .'.,7 ,-4 .,)?
4'2-+ ()013a7 ,+ = ,4 / ]5- '54), .|4* ,33,+ ( ,)7 ,44,-4 /, )*+05/), / ]'54),+ ()013a7 ,+ /0-4 0-
-, .0--'2++'24 ('+ /, +035420- /'-+ 3, .'/), /*4,)7 2-2+4, = B02), /0-4 0- 'B'24 ()05B* 95 ]23
- ],; 2+4'24 ('+ /, +035420- /*4,)7 2-2+4, @ b- ,;,7 (3, /, ., /,)-2,) .'+ ,+4 3 ]'360)24Y7 , /5 /[?
-,) /,+ (Y230+0(Y,+ = ( 05) 3,95,3 23 ' *4* ()05B* 95 ]23 - ],;2+4'24 ('+ /, +035420- /*4,)7 2-2+4, =
+Z7 *4)295, ,4 404'3,7 ,-4 /2+4)215*, :B02) K�&GHP< @

S5++2 = 23 ' 8'335 '/'(4,) 3, .'/), /,+ +Z+4a7 ,+ /2+4)215*+ ^ 3 ]54232+'420- /, .Y02; ()01'12?
32+4,+ @
&0)+95, 3 ]0- 2-4)0/524 /,+ ()01'12324*+ /'-+ 5- +Z+4a7 , /2+4)215* = 0- ),4)05B, 3, 7 0/a3, /,
()0 .,++5+ /, /*.2+20- 7 ')\0B2,- /*.)24 ^ 3' +,.420- O @� @ V '-+ ., .'+ = . ],+4 3' ( 0324295, 952 ,+4
+05)., /, -0-?/*4,)7 2-2+7 , @
&,+ '.420-+ /5 ()0 .,++5+ /, /*.2+20- 7 ')\0B2,- .0)),+( 0-/,-4 2.2 '5; .Y02; -0- /*4,)7 2-2+4,+
/, 3' ( 0324295, ,-4), 3,+ :+05+?,-+,713,+ /,< ( 0+2420-+ '.42B'13,+ @ &,+ /2+4)215420-+ /, ()0?
1'12324*+ 95, 3 ]0- 'B'24 /'-+ 3, ()0 .,++5+ /, /*.2+20- 7 ')\0B2,- .0)),+( 0-/,-4 2.2 '5; .Y02;
()01'1232+4,+ ,-4), 3,+ /2c*),-4+ )*+534'4+ ( 0++21 3,+ /,+ )a63,+ ()01'1232+4,+ @

�23482 � ./ . 
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��� E N
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Σ = {0, 1, 2}> �� �=A �
 ��� ��� ���� �R� ��� � ��@�@
�
� ��� ��
������ Z

01 →
{

11
���� � ��@�@
�
�=

1/2
21

���� � ��@�@
�
�=
1/2

02 →
{

12
���� � ��@�@
�
�=

1/3
22

���� � ��@�@
�
�=
2/3
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@� =" � ����� � �� �� ���A �����
��
x =

01020
> 
� $ � ���� � �������� ���
��@���> �� ���
�
��� � �� J " < 
 �� �=� �� �=����
���� ��� ����

���
�
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�
�= ��� � !����� @�� ��� ���A �����
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�
@��� ��� Z

11120
���� � ��@�@
�
�= I� �

11220
���� � ��@�@
�
�= I� �

21120
���� � ��@�@
�
�= I� �

21220
���� � ��@�@
�
�= I� �

♣

&' /*d-2420- /, 3 ],+('., /, ()01'12324* +, 8'24 6)�., '5; /*d-2420-+ /0--*,+ /'-+ 3, .Y'?
(24), O 95, ., +024 ( 05) 3,+ +Z+4a7 ,+ (5),7 ,-4 ()01'1232+4,+ :.,5; 0� 5-, +,53, ( 0324295, ,+4
( 0++21 3,< 952 +0-4 7 0/*32+*+ (') /,+ .Y'[-,+ /, R ')\0B .07 7 , ( 05) 3,+ +Z+4a7 ,+ .07 (),-'-4
/5 -0- /*4,)7 2-2+7 , 7 0/*32+*+ (') /,+ ()0 .,++5+ /, /*.2+20- 7 ')\0B2,-+ @

� ���
 �������� �"��!"$�#� �� ������
V '-+ 3' +524, = +'58 95'-/ .,3' +,)' ()*.2+* '54),7 ,-4 = 0- B' + ]2-4*),++,) '5 .'+ (')42.532,)

0� 3,+ /2c *),-4+ ()0.,++,5)+ +0-4 /2+( 0+*+ ,- '--,'5 @ �- /2+( 0+, /0-. / ]5- -071), (')'7 *4)*
N

/, 7 '.Y2-,+ = (') ,;,7 (3,
N

'5407 '4,+ d-2+ = ,4 ( 05) ,c,.45,) 5-, 4)'-+2420- = .Y'95,
'5407 '4, ( ,54 (') ,;,7 (3, (),-/), ,- .07 (4, = 054), +0- *4'4 ()0(), = .,35 2 /, +0- :+,+<
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B02+2- :+< 27 7 */2'4 :+< @ & ]*4'4 /, .Y'95, ()0 .,++,5) ,+4 /0-. .0-+2/*)* .07 7 , 5-, B')2'13,
(')4'6*, = +5) 3'95,33, +,53 3, ()0 .,++,5) 35 2?7 >7 , ( 0++a/, 3, /)024 / ]'..a+ ,- *.)245), = 7 '2+
+0- :+,+< B02+2- :+< ( 0++a/,-4 5- /)024 / ]'..a+ ,- 3,.45), @

Q,4 ,;,7 (3, ,+4 2335+4)* /'-+ 3' d65), e @O = 0� 5-, 	a.Y, / ]5- ()0.,++,5)
P

B,)+ 5- ()0?
.,++,5)

Q
+26-2d, 95,

Q
( ,54 32), 3 ]*4'4 /, +0- B02+2-

P
@ V '-+ ., (),7 2,) ,;,7 (3, = 0- '5)'24

(5 -, ('+ ),()*+,-4,) 3,+ 	a.Y,+ +5) 3,+ 4)'-+2420-+ = /5 8'24 95, 3, )*+,'5 ,+4 12/2),.420--,3 @

q0 q1 q2 qN−1. . .

P0 P1 P2 PN−1

��� � e @O � MZ+4a7 , ,- '--,'5 0� .Y'95, ()0.,++,5) 324 3 ]*4'4 /, +,+ /,5; B02+2-+ @

�- ( ,54 '5++2 27 '62-,) 3, .'+ / ]5- )*+,'5 5-2/2),.420--,3 0� .Y'95, ()0 .,++,5) -, ( ,54
32), 95, 3 ]*4'4 /, +0- B02+2- /, 6'5.Y, :d65), e @�< @ M,30- 3' /*d-2420- /, B02+2- = 3, ()0 .,++,5)
^ +' /)024, - ],+4 /0-. ('+ +0- B02+2- @

q0 q1 q2 qN−1. . .

P0 P1 P2 PN−1

��� � e @� � MZ+4a7 , ,- '--,'5 0� .Y'95, ()0.,++,5) ( ,54 32), 3 ]*4'4 /, +0- B02+2- /, 6'5.Y, @

A040-+ 95, ., +0-4 /,+ 40( 03062,+ /, ., 4Z( , 95, -05+ 'B0-+ *45/2*,+ /'-+ 3, .'/), /,
3 ]S MEW /'-+ 3, .Y'(24), g @
D3 -05+ '))2B,)' /, .0-+2/*),) / ]'54),+ 40( 03062,+ :32-*'2), = 6)'(Y,+< 95, -05+ /*d-2)0-+ (35+
4')/ @
� ���� � %��!"����� �"��!"$�#�  !�$�$"%"���� 	�� ����� ��� ��� ���� �� � �!


��	
� '(( ,30-+ 95, 3 ],-+,713, /,+ .0-d65)'420-+ /5 +Z+4a7 , ,+4 -04*

Ω
= ,4 95, -05+ ,-4,-/0-+

(') ( 0324295, :/*d-2 '5 .Y'(24), O< 3 ]0)/0--'-.,7 ,-4 952 .0-+2+4, ^ .Y02+2) ^ .Y'95, *4'( ,
95,33,+ 7 '.Y2-,+ +,)0-4 7 2+,+ ^ } 05) :(')802+ '(( ,3* /*7 0- 05 +.Y,/53,)< @
V '-+ ., .Y'(24), = -05+ .0-+2/*),)0-+ 95, 3' ( 0324295, ,+4 d;*, ,4 +'-+ 7 *7 02), _ ^ .Y'95,
*4'( , 3' ( 0324295, .0-+2+4, ,- 3, .Y02; / ]5- +05+ ,-+,713, /, 7 '.Y2-,+ -, /*( ,-/'-4 95, /,
3' .0-d65)'420- '.45,33, @
W') ,;,7 (3, = -05+ .0-+2/*),)0-+ 3, .'+ / ]5-, ( 0324295, �$��B��� � :),+( @ �������� ��=���
��< 952
+*3,.420--, ^ .Y'95, *4'( , 4054,+ 3,+ 7 '.Y2-,+ :),+( @ 5-, +,53, .Y02+2, /, 7 '-2a), '3*'402), ,4
5-280)7 ,< @
b-, 802+ 95 ]5-, 7 '.Y2-, ,+4 +*3,.420--*, = +0- *4'4 :,4 (')802+ .,35 2 /, +,+ B02+2-+< +, 7 ,4 ^
} 05) ,- +52B'-4 3 ]'360)24Y7 , @
W05) 5-, ( 0324295, +'-+ 7 *7 02), ,4 d;*, 5- '360)24Y7 , /2+4)215* ()01'1232+4, ( ,54 >4), 7 0?
/*32+* .07 7 , 5-, .Y'[-, /, R ')\0B A +5)

Ω
:B02) KVIWNF1P< _ 3' ()01'12324* = ^ .Y'95, *4'( , =
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( 05) +, ),-/), / ]5-, .0-d65)'420-
x

^ 5-, '54),
y

,+4 5-, .0-+4'-4, = -04*
P(x, y)

= 952 -,
/*( ,-/ 95, /,

x
,4

y
@

M5(( 0+0-+ 95, 4054,+ 3,+ .0-d65)'420-+ /,
Ω

+0-4 /, 3' 80)7 ,
xe e ∈ {1, 2, · · · , |Ω|} @ S 2-+2 = A,+4 .')'.4*)2+*, (') 3' 7 '4)2., /, 4)'-+2420- /, 3' .Y'[-, /, R ')\0B '++0 .2*,

P
+5)

Ω×Ω
952 '

P(xe, xf )
( 05)

(e, f)
?.0 0)/0--*, @ &' ()01'12324* ( 05) +, ),-/), /,

x
^

y
,-

t
*4'( , ,+4

Pt(x, y)
@

W') 3' +524, = 5-, 802+ 95, 3' ( 0324295, ,+4 d;*, -05+ -05+ +,)B2)0-+ /, .,44, 7 0/*32+'420-
( 05) .0-80-/), 5- '360)24Y7 , /2+4)215* ()01'1232+4, ,4 +' .Y'[-, /, R ')\0B '++0 .2*, @

� i� �vpq�tpuz o{otupoqn
� �� �� ��%#!���� ��� ������

Q07 7 , 4054 +Z+4a7 , = 3,+ +Z+4a7 ,+ /2+4)215*+ +0-4 +5+.,(421 3,+ /, +512) /,+ ('--,+ :05
8'54,+< = ^ +'B02) 95, 4054 05 (')42, /5 +Z+4a7 , ( ,54 = ^ 5- 7 07 ,-4 /0--* = .,++,) /, )*'62) +52?
B'-4 +' +( *.2d.'420- @ Q,44, -0420- /, 8'54, ),.05B), /,+ .'+ '++,~ /2B,)+ .07 7 , 3' .0))5(420-
/, .0/, = 3,+ ()013a7 ,+ /, 4)'-+7 2++20- /, 7 ,++'6,+ = 3, )'3,-42++,7 ,-4 / ]5- ()0 .,++,5) = B02),
+0- '))>4 2-4,7 (,+428 @

b- +Z+4a7 , 403*)'-4 '5; 8'54,+ /,B)'24 = 2/*'3,7 ,-4 = ( 05B02) .0-42-5,) ^ 80-.420--,) .0)?
),.4,7 ,-4 /'-+ /, 4,33,+ +245'420-+ @ M2 3,+ 8'54,+ ( ,5B,-4 '))2B,) - ]27 (0)4, 95'-/ ,4 >4), /,
- ]27 ( 0)4, 95,33, -'45), = 3, ()013a7 , /,B2,-4 B24, 4)a+ .07 (3,;, @

M,30- 3, 4Z( , /, 8'54, ( 0++21 3, = 3,+ 8'�0-+ / ]Z ),7 */2,) +0-4 /2B,)+,+ @
M2 (') ,;,7 (3, 3,+ 8'54,+ +, +245,-4 '5 -2B,'5 /, 3' 4)'-+7 2++20- /,+ 7 ,++'6,+ = 952 ( ,5B,-4 >4),
3*6a),7 ,-4 /*80)7 *+ '5 .05)+ /, 3' 4)'-+7 2++20- = 23 ,+4 ( 0++21 3, / ]54232+,) /,+ .0/,+ /*4,.4,5)+
/ ],)),5) @ &, ()2-.2( , ,+4 / ],-B0Z,) = ,- (35+ /5 7 ,++'6, = 5-, (')4 / ]2-80)7 '420- +5((3*7 ,-4'2), =
952 ,+4 80-.420- /5 7 ,++'6, @ &, ),.,B,5) ( ,54 '30)+ )*.5( *),) 3,+ /,5; (')42,+ = ),.'3.53,)
3' 80-.420- = ,4 +2 3, )*+534'4 95 ]23 0142,-4 - ],+4 ('+ .0-80)7 , ^ 3 ]2-80)7 '420- +5((3*7 ,-4'2),
,-B0Z*, = 23 /*4,.4, 3 ],)),5) ,4 ( ,54 /,7 '-/,) 95 ]0- 352 ,-B02, 3, 7 ,++'6, /, -05B,'5 @
M2 3 ]0- B,54 ( 05B02) ),4)05B,) 3, 7 ,++'6, ^ (')42) /5 7 ,++'6, 7 0/2d* = 0- ( ,54 54232+,) /,+
.0/,+ .0)),.4,5)+ / ],)),5) @ & ]2-80)7 '420- ,+4 '30)+ ,-B0Z*, /, 7 '-2a), ),/0-/'-4, = +2 1 2,- 95, =
30)+95, 3' 95'-424* / ],)),5)+ - ],+4 ('+ 4)0( 6)'-/, = 0- ( ,54 ),.0-+4245,) 3, 7 ,++'6, 0)262-'3
/2),.4,7 ,-4 ^ (')42) /5 7 ,++'6, /*80)7 * @
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��
�� 30)+95 ],33, - ]2-4,)B2,-4 95 ]5-, +,53, 802+ = ,4 95, =
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�	� 	 � 
���
������
����� FFG
( ,5B,-4 >4), /,+ 4)'[4),+ = ,4 /0-. '62) ^ 3,5) 652+, = ,-B0Z'-4 /,+ 7 '5B'2+,+ 2-80)7 '420-+ = B02),
/,+ 2-80)7 '420-+ .0-4)'/2.402),+ @
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E- ., 952 .0-.,)-, .,44, /,5; 2a7 , (0++21 2324* = ,4 30)+95, 3, ),405) ^ 5- .07 (0)4,7 ,-4
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�
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P
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E
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E
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E
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P
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E

@
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95*, (') V 2}\+4)' ^ 3 ]0)262-, KV 2} eHP< = ,4 952 -05+ ( ,)7 ,44)' /, /2+42-65,) 5-, .,)4'2-, .3'++,
/ ]'360)24Y7 ,+ '540?+4'1232+'-4+ @



FON �������� �	 ��
���� � � � � 
���
������
�����

&'()*+*,) � .- . �� �
�� �� !�� ��� ��
�B� � A ��� ��������@
�
���� ���� L �� ���� �� % 
P �
 ���
��
 Z

I " L ��� ? ����� ��� ���� �� �>
J " L ��� ����> ��>
� " A ������� � ���� L "

D ����� �� � ��� ���� ����
R��� B$���BR��� ������������� E ��� �� �� �� �=A �
�
�� �"J
� 23V7�U2 
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+,-4'420- +, 8'24 +5) 5- 6)'(Y, /, 7 '.Y2-,+ 0� 3,+ 7 '.Y2-,+ (3'.*,+ +5) /,+ -0,5/+ .0--,.4*+
+0-4 '(( ,3*,+ B02+2-+ @ V , (35+ = 23 /*d-24 3' -0420- /, � �
�
�R� � .07 7 , 5-, 80-.420- 1 003*,--,
/, 3 ]*4'4 / ]5-, 7 '.Y2-, ,4 /, +,+ B02+2-+ 2-/295'-4 +2 5-, 4)'-+2420- ,+4 ( 0++21 3, ( 05) .,44,
7 '.Y2-, @ M05+ .,+ -04'420-+ 23 /*d-24 3 ]'540?+4'1232+'420- /, 3' 7 '-2a), +52B'-4, _

:'< V '-+ 405+ 3,+ *4'4+ /, L 23 Z ' 405} 05)+ '5 7 02-+ 5- ()2B 23a6, =
:1 < L ,+4 .30+ =
:.< QY'95, ()2B 23a6, /024 >4), ()*+,-4 /'-+ '5 7 02-+ 5- /,+ *4'4+ /, L =
:/ < W05) 4054 .05(3, / ]*4'4+ /, L = 23 ,; 2+4, 5-, +524, /, 4)'-+2420-+ 7 ,-'-4 /, 3 ]5- ^

3 ]'54), =
:,< A .0-B,)6, B,)+ L @
&' .0-/2420- :1 < .0)),+( 0-/ ^ -04), .0-/2420-

2
,4 3' .0-/2420- :,< ^ 3'

3
@ V , (35+ = 3, 8'24

95, -0+ +Z+4a7 ,+ B0-4 +, .07 (0)4,) .07 7 ,+ /,+ .Y'[-,+ /, R ')\0B '++5),)' 95, 3 ]'360)24Y7 ,
-, 4,)7 2-,)' } '7 '2+ = '2-+2 3' .0-/2420- :'< :*952B'3,-4, '5 8'24 95, 3 ]'360)24Y7 , -, 4,)7 2-,
('+< ,+4 B*)2d*, @ &,+ .0-/2420-+

1
,4 :/ < +0-4 *952B'3,-4,+ = ,- ,c,4 3' .0-/2420- :/ < /0--, 3'

/*d-2420- /, 3' 80)4, .0--,; 24* @ E-d- = 3' .0-/2420- :.< ,+4 +05B,-4 .0-+2/*)*, .07 7 , 2-5423,
:B02) (') ,;,7 (3, KM.YG�P< = . ],+4 ( 05) .,44, )'2+0- 95, -05+ 3 ]'B0-+ 07 2+, @ A04), /*d-2420-
.0)),+( 0-/ /0-. ^ 3 ]'540?+4'1232+'420- '5 +,-+ /, V 2}\+4)' @
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/, /0--,) 3' /*d-2420- 80)7 ,33, /, 3' .0-B,)6,-., ()01'1232+4, @
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∀x ∈ X,
�

x,Ω(σ = x0, J0, ..., xn, Jn, ... ∈ Ωx,O|∃i : xi ∈ L) = 1

:0� .Y'95,
Ji
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xi

.Y02+2 (') O<
+,)' '1)*6*, ,- _

∀x ∈ X,
�

(x
O−→
S

∗L) = 1.

V0--0-+ ^ ()*+,-4 3, )*+534'4 32'-4 3,+ .Y'[-,+ /, R ')\0B '5; '360)24Y7 ,+ '540?+4'1232+'-4+
'5 +,-+ /, V2} +\4)' @
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Q,4 ,;,7 (3, -05+ ( ,)7 ,44)' / ]2335+4),) 3,+ 4Y*0)a7 ,+ /0--*+ /'-+ 3,+ ()0.Y'2-,+ +,.420-+
/, 7 '-2a), +27 (3, @
� �� �� � !��	�� � %���"���� �� ���	�!�����

&,+ (),5B,+ .3'++295,+ ( 05) ()05B,) 3' .0-B,)6,-., /,+ '360)24Y7 ,+ '540?+4'1232+'-4+ ()0?
1'1232+4,+ .0-+2+4,-4 ,- 3' /*4,)7 2-'420- / ]5-, /2+4'-., +5) 3 ],-+,713, /,+ .0-d65)'420-+ 952
( ,54 /*.)0[4), ,- 5-, *4'( , @ A05+ ),(),-/)0-+ 2.2 3,+ 4Y*0)a7 ,+ /, 3' 4Ya+, /, R @ V5	04
KV58N�P :3,+ (),5B,+ +, 4)05B,-4 /'-+ 3' 4Ya+, ,4 /'-+ KVIWNF1P< @
A05+ -04,)0-+ (')

(Xt)t∈N

= +024 3' .Y'[-, /, R ')\0B = +024 3, ()0 .,++5+ /, /*.2+20- 7 ')\0B2,-
.0)),+( 0-/'-4 ^ 3 ]'360)24Y7 , *45/2* @
SB'-4 /, /0--,) 3,+ )*+534'4+ ()2-.2('5; = 0- ( ,54 )'(( ,3,) 95 ]23+ /*.053,-4 /5 4Y*0)a7 , O @O F
95'-/ 3 ]'360)24Y7 , ( ,54 >4), B5 .07 7 , 5-, .Y'[-, /, R ')\0B 05 /5 4Y*0)a7 , O @�G 30)+95 ]23
,+4 B5 .07 7 , 5- ()0 .,++5+ /, /*.2+20- 7 ')\0B2,- @

1�',7�32 � .� . � ��� � ���� = �� ��� ��
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�= ��� �� � �������� �� �=�
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�� � ��
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(S,A, p)
> ��������� �� !
� �� 
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D
�� �� ����� � ���� �� �

� ��� Z ∀X /∈ L ∀i ∈ A(x) ∃Y : (X
i−→
A

Y ∧ (Y ∈ L ∨ D(Y ) � D(X))))

����� � ��� ����� � ��
�
��� O > ∀X
�
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O−→
A

∗L) = 1
"

Q, 4Y*0)a7 , ( ,54 *B2/,7 7 ,-4 +, /*.32-,) /'-+ 3, .'+ 0� 3 ]'360)24Y7 , *45/2* - ]'540)2+,
95 ]5-, +,53, ( 0324295, :5-, .Y'[-, /, R ')\0B < @
1�',7�32 � .� . � ��� � ���� = �� ��� ��
�B� � A � ��=�
�= ��� �� � �B���� �� � ��
��> � !
� �� 
� ��
��� ? ����
��

D
�� �� ����� � ���� �� �

� ��� ! Z ∀X /∈ L ∃Y : (X −→
A

Y ∧ (Y ∈ L ∨ D(Y ) � D(X)))
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V '-+ KV58N� = VIWNF1P 0- ( ,54 4)05B,) /, -071),5; ,;,7 (3,+ / ]'((32.'420-+ /, .,+ 4Y*0?
)a7 ,+ /'-+ 3, .'/), /,+ ()0 .,++5+ /, /*.2+20- 7 ')\0B2,-+ 05 /,+ .Y'[-,+ /, R ')\0B @

� i� �sw x t rs �qn�sy�sn�s
S()a+ 'B02) 7 0-4)* 3' .0-B,)6,-., /,+ '360)24Y7 ,+ '540?+4'1232+'-4+ 23 ,+4 .)5.2'3 /, ( 05B02)

/*4,)7 2-,) 3, 4,7 (+ /, .0-B,)6,-., /, .,+ '360)24Y7 ,+ = ^ +'B02) 3, -071), / ]*4'( ,+ -*.,++'2),+
:-071), /, 4)'-+2420-+< 'B'-4 3 ]'))2B*, /'-+ 3 ],-+,713, /,+ *4'4+ 3*62427 ,+ @
W05) .,3' -05+ '330-+ /*d-2) /,5; -0420-+ /, 4,7 (+ /, .0-B,)6,-., = 3 ]5-, :3, 4,7 (+ /, Y2442-6 <
,+4 .,33, .05)'7 7 ,-4 54232+*, (') 3,+ ( ,)+0--,+ /5 /07 '2-, /, 3 ]'540?+4'1232+'420- = 3 ]'54), 3,
4,7 (+ /,

ε
?'1+0)(420- /*.053, /5 4,7 (+ /, 7 *3'-6, ,4 ( ,54 >4), (')802+ 5423, @

V '-+ .,44, +,.420- -05+ /0--,)0-+ '2-+2 3,+ /2c*),-4,+ 7 *4Y0/,+ .3'++295,+ /, .'3.53 /5 4,7 (+
/, .0-B,)6,-., @

&'()*+*,) � .� . <�
� ��� �B���� �� � ��
�� A �� �� ����� @�� L> �� ���� � �� B 
��
�� �� L ���
�� ���� � � !����� �=A �
 ��� Z

HL = maxx∈Ω E(HxL),

�Y ���� ��������
HxL = min{t : Xt ∈ L | X0 = x} "

A 05+ ( 05B0-+ /0--,) 2.2 /,5; ()0( 0+2420-+ -*.,++'2),+ ( 05) 3' +524, _

� 7,4,5*+*,) � ./� . L ���� ���� = �� ����� @�� ���� L> �

HL

��� A �
> ����� A ��� ��������@
�
����
���� L "
% =� �������
�� " M5((0+0-+ 95, A -, .0-B,)6, ('+ B,)+ L 23 ,; 2+4,)'24 5-, ,;*.5420-

Xt
,4

5- )*,3 ( 0+2428
a

4,3+ 95, ∀t ∈ N
�

[Xt ∈ L] ≥ a
/, ., 8'24

HxL = ∞ ., 952 ,+4 5-,
.0-4)'/2.420- @
� 7,4,5*+*,) � .//. L ���� ���� = �� ����� @�� ��� ��
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HL
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�� � L> �� ���� � � !

ε
�
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 ��� Z

ΘL(ε) = maxx∈Ω ΘxL(ε),

�Y
ΘxL(ε) = min{t : P (Xt ∈ L) ≥ 1 − ε | X0 = x} "
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3' /2+4)215420- +024 .0-80)7 , ^ 3' /2+4)215420- ^ 3' /2+4)215420- +4'420--'2), +5) L = 0- '44,-/
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&' +524, /, 3' +,.420- +,)' .0-+'.)*, '5; )'(( ,3+ /,+ 4,.Y-295,+ .3'++295,+ ( 05) .'3.53,) 3,
4,7 (+ /, .0-B,)6,-., @ &,+ -0420-+ ,++,-42,33,+ ^ ., +5} ,4 ( ,5B,-4 +, 4)05B,) /'-+ Kf)*GG = SI')P
:-04'7 7 ,-4 3,+ .07 (')'2+0-+ ( 0++21 3,+ ,-4), 3,+ /2c*),-4+ 4,7 (+ /, .0-B,)6,-., /'-+ 3, .'+
/,+ .Y'[-,+ /, R ')\0B 2))*/5.421 3,+< @

� �� �� ��%��% ��� 	�%��!�  !� !��
&' (),7 2a), 7 *4Y0/, 952 B2,-4 ^ 3 ],+()24 ( 05) .'3.53,) 3, 4,7 (+ /, .0-B,)6,-., / ]5-,

.Y'[-, /, R ')\0B ,+4 .,33, /, 3 ]*45/, /, 3' 7 '4)2., +40 .Y'+4295, '++0.2*, ,4 '5 .'3.53 /,+
B'3,5)+ ()0(),+ @ �- ( ,54 4)05B,) 3, /*4'23 /,+ ),3'420-+ ,-4), 3' /,5; 2a7 , B'3,5) ()0(), :)'Z0-
+( ,.4)'3< ,4 3,+ /2c *),-4+ 4,7 (+ /, .0-B,)6,-., /'-+ KSI') = f)*GGP (') ,;,7 (3, @
&, ()013a7 , ,++,-42,3 32* ^ .,+ 4,.Y-295,+ ,+4 95, 3' 7 '4)2., /, 3' .Y'[-, /, R ')\0B ,+4 +05B,-4
/'-+ 5- ,+('., /, 4'233, 27 7 ,-+, :/'-+ -0+ ,;,7 (3,+ 0- '

2N < ,4 95 ]23 ,+4 +05B,-4 27 ( 0++21 3,
/, 3,+ .'3.53,) -2 7 >7 , /, /*.)2), +27 (3,7 ,-4 3,+ 7 '4)2.,+ @
V '-+ KV58N� = VIWNF1P = 0- ( ,54 ),7 ')95,) 5-, 4,.Y-295, '+45.2,5+, 952 .0-+2+4, ^ )'++,713,)
,-4), ,5; :357 (2-6 < /,+ .0-d65)'420-+ 952 +, .07 (0)4,)0-4 /, 3' 7 >7 , 7 '-2a), (') )'(( 0)4
^ 5-, .,)4'2-, 80-.420- +5) 3 ],-+,713, /,+ .0-d65)'420-+

ϕ
@ Q,44, 7 *4Y0/, (') 357 (2-6 '

( ,)7 2+ /, )*+05/), 5- 6)'-/ -071), /, ()013a7 , /, B24,++, /, .0-B,)6,-., = 7 '2+ -*.,++24, /,
12,- .0--'[4), 3,+ '360)24Y7 ,+ *45/2*+ .') 23 8'54 ^ 3' 802+ 4)05B,) 5-, /2+4'-., 952 .0-B2,--,
,4 )'++,713,) 3,+ .0-d65)'420-+ /, 7 '-2a), '+45.2,5+, @
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b-, /,5;2a7 , 4,.Y-295, ,+4 54232+*, /'-+ KV��+NOP ( 05) 3' 7 '} 0)'420- /5 4,7 (+ / ]

ε
?

'1+0)(420- /'-+ 3, .'+ /, 3 ]'360)24Y7 , /5 /23,7 7 , /5 ()2+0--2,) 24*)* @ Q,44, 4,.Y-295, .0-+2+4,
,- 3' /*.05B,)4, :,-.0),< / ]5-, 80-.420- +5) 3 ],-+,713, /,+ .0-d65)'420-+ = (52+ ^ 3 ]54232+'420-
/, 4Y*0)a7 ,+ B,-5+ /, 3' 4Y*0)2, /,+ 7 ')42-6'3,+ :952 ,;(3024,-4 3' /*.)02++'-., ,- 7 0Z,--,<
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0
@

Q,44, 4,.Y-295, ,+4 +05B,-4 54232+*, /'-+ 3, .'+ /, 3 ]*45/, /,+ 7 ').Y,+ '3*'402),+ @
A05+ ()*+,-4,)0-+ /0-. 5-, 7 *4Y0/, 952 (')'24 ^ 3' 802+ (35+ +27 (3, ,4 (35+ ,� .'., ,4
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� ih � ysv�st x uy �qvx {on�
� '(( ,30-+ 95, 3,+ /*d-2420-+ /5 .05(32-6 +0-4 /0--*,+ /'-+ 3, .Y'(24), g

&, 4,7 (+ /, .05(32-6 ,+4 +05B,-4 .'3.53* .07 7 , 5-, 1 0)-, +5( *)2,5), /5 4,7 (+ /, 7 *3'-6, =
( 05) 7 0-4),) 3' ()0()2*4* /, 7 *3'-6, )'(2/, ( 05) 5-, .Y'[-, /, R ')\0B A :3, 8'24 95, 3,
4,7 (+ /, 7 *3'-6, ,+4 ( 03Z-07 2'3 ,-

N
,4

ln(1
ε )

< @
�- B' 7 0-4),) /'-+ .,44, +,.420- ,- 54232+'-4 3,+ -04'420-+ /, KIR WNH1P 95, 3, 4,7 (+ /,
.05(32-6 ( ,54 '5++2 /0--,) 5-, 1 0)-, +5( *)2,5), /5 4,7 (+ /, Y2442-6 @
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F@ � '(( ,30-+ 95, _
HxL = min{t : Xt ∈ L | X0 = x}, ,4

Txy = min{t : Xt = Yt | X0 =
x, Y 0 = y}. M5((0+0-+ ^ ()*+,-4 95,

y ∈ L @ S 30)+
Yt ∈ L .') L ,+4 .30+ @ S 2-+2 _

HxL ≤ Txy
(05) 4054

x ∈ Ω, y ∈ L @ E 4 ,- (),-'-4 3,+ ,+( *)'-.,+ = (52+ 3,+ 7 ';27 ' /,+
/,5; .|4*+ = 0- 0142,-4 _

HL ≤ T
@
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HL

:.0-.35+20-
F< (') 3' ()0( 0+2420- e @FF@
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M, 1'+'-4 +5) /,+ )*+534'4+ .3'++295,+ +5) 3, 4,7 (+ /, 7 *3'-6, :B02) KV�GUP< = -05+ /0--0-+
/'-+ .,44, +,.420- /,5; .0-/2420- +5� +'-4,+ ( 05) 7 '} 0),) 3, 4,7 (+ /, .05(32-6 @ V '-+ .Y'95,
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Xt = Yt
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∃β < 1 ∀(Xt, Yt) E(δ(Xt+1, Yt+1)) ≤ βδ(Xt, Yt). (∗)
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�� � ����� @�� ��� ��
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D = (D0,D1, · · · )
��� �� � �������� ����B���
�� � E �������

���
�
��� ��� {0, 1, · · · , B} ��� �� �
E[Dt+1] ≤ βDt

F����
0 < β < 1
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τ
��� �� � ��� 
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Dt = 0
> �� � Z

E[τ ] ≤ B/(1 − β).
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+, /*/52+,-4 /, 3' .0-.35+20-

1
= (') 3' ()0( 0+2420- e @FF@<

F@ Q0-+2/*)0-+ /,5; *3*7 ,-4+
x, y ∈ Ω

= ,4 3, .05(32-6
(Xt, Yt)

/, .0-d65)'420-+ 2- 242'3,+
(X0, Y0) = (x, y)

@ M024
Dt

3, ()0 .,++5+ +40 .Y'+4295, /*d-2 (')
Dt = δ(Xt, Yt)

( 05)
t ≥ 0

@ Q07 7 ,
δ(Xt, Yt) = 0

++2
Xt = Yt

= 3' 95'-424*
Tx,y

,+4 3, 4,7 (+ -*.,++'2), ^
Dt( 05) '44,2-/),

0
@ Q0-+2/*)0-+ 3, .05(32-6

(Xt, Yt)
(')4'-4 /,

(X0, Y0) = (x, y)
@ W') 3'

()0( 0+2420- e @F� = 0- ' = ( 05) 4054
x, y ∈ Ω

=
E(Tx,y) ≤ B/(1 − β)

@
S5++2 = (') 3, 4Y*0)a7 , e @F� = 0- /*/524 _

HL ≤ maxx,y E(Tx,y) ≤ B/(1 − β).

O @ Q07 7 ,
E(δ(Xt+1, Yt+1)) ≤ βδ(Xt, Yt)

= 0- '
E(δ(Xt, Yt)) ≤ βtδ(X0, Y0) ≤ βtB

@ R '2+ = 3 ]2-*6'324* /, R ')\0B :
P (X ≥ a) ≤ E[X]/a

<
-05+ /0--, _

P (δ(Xt, Yt) ≥ 1) ≤ E(δ(Xt, Yt)).

S2-+2 = ( 05) 4054
X0, Y0 ∈ Ω

,4 4054
t > 0

_

P (Xt 6= Yt) = P (δ(Xt, Yt) > 0) = P (δ(Xt, Yt) ≥ 1) ≤ E(δ(Xt, Yt)) ≤ βtB.

V, ., 8'24 = ( 05) 4054
X0, Y0 ∈ Ω

,4 4054
t > 0

_

P (Xt = Yt) ≥ 1 − βtB.

M5(( 0+0-+ 95,
Y0 ∈ L @ S 30)+

Yt ∈ L :.') L ,+4 .30+< = ,4
Xt = Yt

27 (3295,
Xt ∈ L @ S 2-+2 =

( 05) 4054
X0 ∈ Ω

,4 4054
t > 0

_

P (Xt ∈ L) ≥ 1 − βtB.

�- ,- /*/524 95,
P (Xt ∈ L) ≥ 1 − ε

= /a+ 95,
βtB ≤ ε

= 2 @, @=
t ≥ ln(B/ε)

ln(1/β)

@
S 2-+2

P (Xt ∈ L) ≥ 1 − ε
= /a+ 95,

t ≥ ln(B/ε)
1−β

:.')
1 − β ≤ ln( 1

β )
< @

b- 4Y*0)a7 , +27 23'2), ,;2+4, '5++2 30)+95,
β = 1

= +024 _

E(δ(Xt+1, Yt+1)) ≤ δ(Xt, Yt)
= +05+ 3' .0-/2420- 95, 3' ()01'12324* /, 3 ]*B*-,7 ,-4

(Xt+1, Yt+1) 6=
(Xt, Yt)

( ,54 >4), 7 2-0)* @



�	� 	 ��� 
��
 ��� ��
����� FOe
1�',7�32 � ./� . <�
� ��� �B���� �� � ��
�� A �� �� ����� @�� ��� ��
�� � L> ��������� �� !
�
�� 
��� �� ���� �
��

(Xt, Yt)
�� ��� ? ����
��

δ
��

Ω×Ω
��
 � ���� ��� ������� ���� {0, 1 · · · , B}�� ��� �� ���

δ(Xt, Yt) = 0
��


Xt = Yt
> �� ��� �� !
� �� 
���

α > 0
�=�
A �� �> ���� ����

(Xt, Yt)
����

Xt 6= Yt
Z

E(δ(Xt+1, Yt+1)) ≤ δ(Xt, Yt)
∧ P (δ(Xt+1, Yt+1) 6= δ(Xt, Yt)) ≥ α. (∗∗)

� ����
L ��� � !��
�� � ����� @�� ��� ��
�� � A ��� ��������@
�
���� ���� L " % � � ��� Z
I " Q� ���� � �� B 
��
�� �=�
A � Z

HL ≤ B2/α
"

J " Q� ���� � � !
ε

��@���� �
�� �=�
A � Z

ΘL(ε) ≤ deB2

α
edln(

1

ε
)e.

% =� �������
�� " &' (),5B, /5 4Y*0)a7 , e @Fg ,+4 '-'3065, ^ .,33, /5 4Y*0)a7 , e @FH = 7 '2+ ),?
( 0+, +5) 3' ()0( 0+2420- +52B'-4, :.0-+*95,-., /,+ 2-*6'324*+ /, V001 < _

� 7,4,5*+*,) � ./� . <�������� ���
D = (D0,D1, · · · )

��� �� � �������� ����B���
��� ��� {0, 1, · · · , B}��� ���
E[Dt+1] ≤ Dt

" % � � ��� ��������� �� �
P (Dt+1 6= Dt) ≥ α

F����
α > 0

K ������ �
Dt > 0

"
� ���� �


τ
��� �� � ��� 
�� ���� � ��� �� �

Dt = 0
> �� � Z

E[τ ] ≤ B2/α.

� ����� �� �B=��R� � �"I�@
M024 5-, 80-.420-

δ
B*)2d '-4 3,+ YZ( 04Ya+,+ /5 4Y*0)a7 , e @Fg = 7 0-4)0-+ 3,+ .0-.35+20-+

1
,4

2
@

:&, 8'24 95, L ,+4 3 ]5-295, ,-+,713, ,)60/295, = ,4 95, A ,+4 '540?+4'1232+'-4 +, /*/52+,-4 /,
3' .0-.35+20-

1
= (') 3' ()0( 0+2420- e @FF@<

F@ Q0-+2/*)0-+ /,5; *3*7 ,-4+
x, y

/,
Ω

,4 5- .05(32-6
(Xt, Yt)

/ ]*4'4 2- 242'3
(X0, Y0) =

(x, y)
@ M024

Dt = δ(Xt, Yt)
( 05)

t ≥ 0
@

Q07 7 ,
δ(Xt, Yt) = 0

++2
Xt = Yt

= 3' 95'-424*
Tx,y

,+4 3, 4,7 (+ -*.,++'2), ^
Dt

( 05)
'44,2-/),

0
@ V , (35+ = (') 3' ()0( 0+2420- e @Fe = 0- ' = ( 05) 4054

x, y ∈ Ω
=
E(Tx,y) ≤ B2/α

@
E 4 = 6)�., '5 4Y*0)a7 , e @F� = 0- /*/524 _

HL ≤ maxx,y E(Tx,y) ≤ B2/α.

O @ M024
Dt = δ(Xt, Yt)

@ D3 ,+4 *B2/,-4 95,
Dt

B*)2d, 3,+ YZ( 04Ya+,+ /, 3' ()0( 0+2420- e @Fe @
� '(( ,30-+ 95,

Tx,y
,+4 3, (),7 2,) 4,7 (+ 4,3 95,

Xt = Yt
= +024

Dt = 0
= 30)+95,

X0 = x,4
Y0 = y

@ �- ,- /*/524 (') 3' ()0( 0+2420- e @Fe _

E(Tx,y) ≤ B2/α.

M024
T = deB2/αe = (') 3 ]2-*6'324* /, R ')\0B 0- ' 3' ()01'12324* 95,

Tx,y > T
,+4 '5 (35+

e−1 @ M2 -05+ 3'-�0-+
s

,;*.5420-+ 2-/*( ,-/'-4,+ /, 30-65,5)
T

/, 3' .Y'[-, /, R ')\0B
'30)+ 3' ()01'12324* ( 05) 95,

Xt
,4

Yt
-, +02,-4 ('+ .05(3*+ ^ 3' d- /, .,+ ,;*.5420-+ ,+4

'5 (35+ /,
e−s @

S 2-+2 = ( 05)
t > T dln(ε−1)e = 3' ()01'12324* /, 3 ]*B*-,7 ,-4

Xt = Yt
,+4 '5 7 02-+

1 − ε
@

M5(( 0+0-+ 95,
Y0 ∈ L @ S 30)+

Yt ∈ L :.') L ,+4 .30+< = ,4 3, 8'24 95,
Xt = Yt

27 (3295,
Xt ∈ L @ V 0-. = ( 05) 4054

X0 ∈ Ω
,4 4054

t > T dln(ε−1)e _
P (Xt ∈ L) ≥ 1 − ε

@
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V, .,44, 7 '-2a), = 4)05B,) 5- .05(32-6
(Xt, Yt)

,4 5-, 80-.420-
δ

4,33, 95,
(∗) :),+( @

(∗∗)<
-05+ ( ,)7 ,4 /, ()05B,) 95, A ,+4 '540?+4'1232+'-4 = 7 '2+ '5++2 /, .'3.53,) /,+ 1 0)-,+ +5( *?
)2,5),+ ( 05) /,5; -0420-+ /2+42-.4,+ /, 4,7 (+ /, .0-B,)6,-., @

W05) 2335+4),) .,+ 4Y*0)a7 ,+ = '((32950-+?3,+ ^ 3 ]'360)24Y7 , /, X,)7 '- @

�23482 � ./� . #�� ������ � !�� ��� �� �� � !��� ��
�B� � �� � ��� �� > �� �������� ��� �
������
��� ��� ���� ��� �� ���A �����
��� " D ��� �� ���� ����� ��� �� �=��
� � !����� @�� ��� � ������ 
�
>
��� �� ������ �� ���� � �� ������� ���� ���� � ��� �� ��� � ��� �
�� �� ��� �� ���B�
��� �� ���B
���� �
�� ��� ���� �=��
���� �
��� �R� "

; Q05(32-6 _ Q� ���� �
�� ��� ���� �B�
�
����� ��� �� ���� �� ��� �
�� �� [ ���� �� ? ������ ���
�B�
� � ��@�@
�
� ��� ��
�� �� ��� �
 �� � ��B 
� �

i
� ��� �����
�
�� � ��@�@
�
� �� E ? �
�� E ��

? �
� ���� �� ���A �����
��
Xt

�� ���� �� ���A �����
��
Yt

F
 "�"> ������ �
Xt(i) = Xt(i− 1)��

Yt(i) = Yt(i−1)
K [ ���� �� ��� ��� � ��B 
� ��

i
��

Xt
��

Yt
���� ? ���=� �� ? �
�� �� � �� �

�B�
� � ��@�@
�
����> �
��

Xt+1(i)

��
Yt+1(i)

�����
���� Z

Xt+1(i) = Yt+1(i) =

{

0
���� � ��@�@
�
�=

1/2
>

1
���� � ��@�@
�
�=

1/2
"

; I0-.420-
δ

_ �� ? ����
��
δ(Xt, Yt)

��� ����M �
�� �� �� �� ������� ��� E �� �
� ����� � �� 
� ���
����� ���� � ��B 
� �� ��� � ��� ������� �
� R��� � �� ���

Xt
��

Yt
" Q !=���� �
�� ��

δ
��� ���� =�

���� �� A ���� �"H " � 
��
 �� �@�
�� � ���� ������ ���� ��� �=��
�� Z

1
2

X

Y

== 6= 6=

����� � �� 	 
��� �����

δ

1
2

1
2

1
2

��� � e @H � & ]*B035420- /,
δ

+05+ 3, .05(32-6

δ =







δ + 1
���� � ��@�@
�
�=

1/4
δ − 1

���� � ��@�@
�
�=
1/4

δ
���� � ��@�@
�
�=

1/2% ���>
E(δ(Xt+1, Yt+1)) = δ(Xt, Yt)L �>

P (δ(Xt+1, Yt+1) 6= δ(Xt, Yt)) ≥ 1
2% !�� �R� �� �B=��R� � �"I� �� ���� � �� B 
��
�� ��� � �P ��= � ��

2N2 > �� �@�
�� � =� ���� �� �
��� @���� �������
�� � �� ���� � � !

ε
��@���� �
�� "

♣

� �� �� ��� �!�"��� ��� �#������
SB'-4 /, + ]2-4*),++,) ^ 3 ]'((32.'420- /, .,+ )*+534'4+ +5) /,+ ,;,7 (3,+ = -05+ ( 05B0-+ -05+

'44')/,) +5) 3' .07 (')'2+0- ,-4), 3' 7 *4Y0/, .3'++295, /, (),5B, = ,4 .,33, 95, -05+ ()0( 0+0-+
KIR WNH1P @
&' 7 *4Y0/, .3'++295, -, ( ,)7 ,4 ('+ ^ 3' 802+ /, ()05B,) 3' .0-B,)6,-., ,4 /, 4)05B,) 3, 4,7 (+



�	� 	 �� ��� �
����� ��� ���� ���
���� � FOG
/, .0-B,)6,-., @ V , (35+ = ,33, -*.,++24, 5-, 1 0--, .0--'2++'-., /, 3 ]'360)24Y7 , :-04'7 7 ,-4 /,
3 ],-+,713, /,+ *4'4+ 3*62427 ,+< .') 23 8'54 4)05B,) 3' /2+4'-., :B,)42.'3,< +5) 3,+ .0-d65)'420-+ @
&, 4,7 (+ /, .0-B,)6,-., = 95'-4 ^ 352 = -*.,++24, .3'++295,7 ,-4 5- .'3.53 7 '4)2.2,3 .07 (3295* ,4
8'2+'13, 5-295,7 ,-4 /'-+ 3, .'+ 0� 3 ]0- ( ,54 )*/52), 3 ],+('., / ]*4'4+ @ A04), 7 *4Y0/, ( ,)7 ,4
/, +27 (32d,) 3, .'3.53 ,4 / ]014,-2) /,+ 1 0)-,+ ( 05) (35+2,5)+ -0420-+ /, 4,7 (+ /, .0-B,)6,-., @
&' d65), e @� 2335+4), 3' .07 (')'2+0- /,+ /,5; (),5B,+ @

X0

X1

Xn

X0 Y0

X1 Y1

δ(Xm, Ym) = 0 ⇒ Xm = Ym

Xm Ym

δ = l

δ = l − 1

δ = 0; Xm = Ym

ϕ = k

ϕ = k − 1

ϕ = 0; Xn ∈ L

ϕ(Xn) = 0 ⇒ Xn ∈ L

��� � e @� � b-, .07 (')'2+0- ,-4), 3,+ (),5B,+ /, .0-B,)6,-.,+

� i� �xpow otupoqn x uy x up���qvx {on�
Q07 7 , 3, 8'24 ),7 ')95,) K� '-N�P = 23 ,+4 +05B,-4 '++,~ /2� .23, /, 7 ,+5),) 3' B')2'420- /,

3' /2+4'-., ,-4), /,5; .0-d65)'420-+ 95,3.0-95,+ @
&' 7 *4Y0/, /5 ���B ���� �
�� = 2-4)0/524, (') f513,Z ,4 VZ,) KfV GeP = +27 (32d, 6)'-/,7 ,-4
3,+ (),5B,+ = .') ,33, ( ,)7 ,4 /, -, .0-+2/*),) 95, 3,+ ('2),+ ��
�
� ��@ Q,44, 4,.Y-295, = .07 7 ,
-05+ 3, B,))0-+ ^ 3' d- /, ., .,44, +,.420- +27 (32d, 6)'-/,7 ,-4 3,+ (),5B,+ /, .0-B,)6,-., ,4
( ,)7 ,4 /'-+ .,)4'2-+ .'+ / ]014,-2) /, 7 ,233,5),+ 1 0)-,+ 95, .,33,+ 014,-5,+ (') 3,+ 7 *4Y0/,+
.3'++295,+ KV��+NOP @
� �
 �� ��#�!���

&' 7 *4Y0/, /, ('4Y .05(32-6 -*.,++24, /, /*d-2) 5- .05(32-6
(Xt, Yt)

,- .0-+2/*)'-4 5-
�B �� 
�

Xt = Z0, Z1, · · · , Zr = Yt
,-4),

Xt
,4

Yt
/'-+ 3,95,3 3,+

Zi
B*)2d,-4 5- .,)4'2- -071),

/, .0-/2420-+ @
&' B,)+20- +52B'-4, /0--* (') VZ,) ,4 � ),,-Y233 /, 3' 7 *4Y0/, /, ('4Y .05(32-6 ,+4 .,33, 952
)*( 0-/)' 3, (35+ ^ -0+ '44,-4,+ _
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�2332 � ./� . 0&�27 V)	 �722)� *88 �&����: <�
�
δ

�� � � =��
�� � F�=�
A ��� � !
� =� ��
�=
��
������
��K �=A �
� ���

Ω×Ω
�� ��
 � ���� ��� ������� ��� {0, · · · , B} " <�
�

U
�� ���������� @��

��
Ω × Ω

��� ���> � ��� ����
(Xt, Yt) ∈ Ω × Ω

> 
� �� 
� �� �� �B �� 
�
Xt = Z0, Z1, · · · , Zr = Yt�����

Xt
��

Yt
����

(Zi, Zi+1) ∈ U
����

0 ≤ i < r
��

r−1
∑

i=0

δ(Zi, Zi+1) = δ(Xt, Yt).

<�������� �� !
� �� 
� �� �� ���� �
��
(X,Y ) 7→ (X ′, Y ′)

�� �� �B���� �� � ��
�� A ��� ����
��� ���� ���

(X,Y ) ∈ U
> �� ��� ������� ��

β ≤ 1
��� �� ���> ���� ����

(X,Y ) ∈ U
Z

E[δ(X ′, Y ′)] ≤ βδ(X,Y ). (∗ ∗ ∗)
� ���� �� ���� �
�� � ��� ���� =����� E �� ���� �
�� �� A ��� ���� ��� ���� ���

(X,Y ) ∈ Ω×Ω��
 �=�
A � ����

(∗ ∗ ∗) "

V ,5; .0-d65)'420-+
X

,4
Y

+0-4 /24,+ ��P ���� ��� +2
(X,Y ) ∈ U

@ & ]'B'-4'6, /, ., 3,7 7 ,
,+4 95 ]23 ( ,)7 ,4 /, B*)2d,) 3' ()0()2*4* .)5.2'3,

(∗∗∗) /,+ 4Y*0)a7 ,+ ()*.*/,-4+ +,53,7 ,-4 +5)
3 ],-+,713,

U
/,+ .05(3,+ /, .0-d65)'420-+ '/} '.,-4,+ '5 32,5 /, +5) 4054 3 ],+('.,

Ω × Ω
@ �-

( 05))' .0-+534,) 3,+ (),5B,+ /, ., 4Y*0)a7 , /'-+ KV� GUP @
&' d65), e @g 2335+4), /, 95,3 7 '-2a), 3, .05(32-6 /*d-2 +5) 3,+ .0-d65)'420-+ '/} '.,-4,+

+ ]*4,-/ ^ 3 ],+('., 4054 ,-42,) @

X′ = Z′

0

Z1

Z2

Z′

1 Z′

2

���� ��	 ���� ��	

X = Z0

Zr = Y

Z′

r = Y ′

��� � e @g � E4,-/), 5- .05(32-6 ^ (')42) / ]5- .Y,7 2- /'-+
U

&, 3,7 7 , e @FG .0712-* '5 4Y*0)a7 , e @FH :),+( @ 4Y*0)a7 , e @Fg< ( ,)7 ,4 / ]'7 *320),) -,4?
4,7 ,-4 -0+ (),5B,+ /, .0-B,)6,-., ,4 /, B24,++, /, .0-B,)6,-., ( 05) 3,+ '360)24Y7 ,+ '540?
+4'1232+'-4+ @
&' +,.420- +52B'-4, +,)' .0-+'.)*, ^ +0- '((32.'420- ^ /,5; ,;,7 (3,+ = 3 ]'360)24Y7 , /, X,)7 '- =
,4 3, ()013a7 , /5 /23,7 7 , /5 ()2+0--2,) 24*)* @
� �
 �� �  %"���"���
6273V)

� ,B,-0-+ ^ 3 ]'360)24Y7 , /, X,)7 '- @
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1�',7�32 � .N� . � ��� � !��� ��
�B� � �� � ��� �� ��

N

���
�> 
� �� 
� �� �� ���� ����� @��

U��
Ω × Ω

> �� ��� � =��
�� �
δ

���
Ω × Ω

� ������ ��� ������� ���� {0, · · · , N} �� �=�
A ��� ���
B$���B R��� �� ���� � �"I�> �� �� ���� �
�� �=A �
 ���

U
���� �� � Z

∀(Xt, Yt) ∈ U E[δ(Xt+1, Yt+1)] ≤ δ(Xt, Yt),

�� ∀(Xt, Yt) ∈ Ω × Ω (
����

Xt 6= Yt) :

P [δ(Xt+1, Yt+1) 6= δ(Xt, Yt)] ≥ 1/2.

% =� �������
�� " � � =��
�� �
δ

" A 05+ /*d-2++0-+
δ

.07 7 , 3' /2+4'-., /, X '7 7 2-6 = +024 _
δ(Xt, Yt)

,+4 3, -071), /, 7 '.Y2-,+ +5) 3,+95,33,+
Xt

,4
Yt

(),--,-4 /,+ B'3,5)+ /2c *?
),-4,+ :-040-+ 3 ],;4)>7 , +27 (32.24* /, .,44, /2+4'-., 952 -, -*.,++24, '5.5-, .0--'2++'-.,
4Y*0)295, /, 3 ]'360)24Y7 ,< @
&, .05(3,

(Xt, Yt)
'((')42,-4 ^

U
++2

δ(Xt, Yt) = 1
@

� 
��� �
�� " &, .05(32-6 ,+4 3, 7 >7 , 95, .,35 2 54232+* /'-+ 3' (),5B, (') .05(32-6 @ M024
( 05) 4054

i
:
1 ≤ i ≤ N

< = +2
Xt(i)

,4
Yt(i)

0-4 /,+ 4)'-+2420-+ ()01'1232+4,+ ^ 8'2), :2 @, @=
30)+95,

Xt(i) = Xt(i − 1)
,4

Yt(i) = Yt(i − 1)
< = 3,+

ime 7 '.Y2-,+ /,
Xt

,4
Yt

+0-4 80).*+
/, 8'2), 3, 7 >7 , .Y02; ()01'1232+4, = '2-+2

Xt+1(i)
,4

Yt+1(i)
.0�-.2/,-4 _

Xt+1(i) = Yt+1(i) =

{

0
'B,. ()01'12324*

1/2
=

1
'B,. ()01'12324*

1/2
@

� � ����� ��
E[δ(Xt+1, Yt+1)] = δ(Xt, Yt)

��
P (δ(Xt+1, Yt+1) 6= δ(Xt, Yt)) ≥ 1/2

"
S .Y'95, *4'( , 3,+ *4'4+ /,+ 7 '.Y2-,+

1, · · · , N
+0-4 7 2+ ^ } 05)+ .') 3 ]'360)24Y7 , ,+4

+Z-.Y)0-, @ M024
`

3' ( 0+2420- +5) 3'95,33, 3,+ /,5; .0-d65)'420-+ +0-4 ,- /*+'..0)/ :)'(?
( ,30-+ 95,

(Xt, Yt) ∈ U
< @

Sd- /, +27 (32d,) .0-+2/*)0-+ :+'-+ ( ,)4, /, 6*-*)'324*< 3,+ .0-d65)'420-+ +52B'-4,+ @

(

Xt

Yt

)

=
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j = i

05
j = i+k−2

@ D3 - ]Z ' ('+ /, ( 0+2420- 327 24,
+2

k = 1
:,33, ,+4 .0-80-/5, 'B,. 5-, /,+ /,5; ( 0+2420-+ ,;4*)2,5),+< = 5-, ( 0+2420-

327 24, +2
k = 2

= ,4 /,5; ( 0+2420-+ 327 24,+ +2
k = 3, 4, 5

@
&, 8'24 /, .Y02+2) 5-, ( 0+2420- 327 24, 8'24 /*.)0[4), 3' 4'233, /, 3' ~0-, /, /*+'..0)/ /,
2

@
Q,3' +, ()0/524 'B,. ()01'12324*

1/N
:),+( @

2/N
< 30)+95,

k = 2
:),+( @

k = 3, 4, 5
< @

Q,3' .0-4)215, ^ 3' 7 0/2d.'420- /,
E(δ)

/, 1
N (a0 − a2) = − 1

N a2
95'-/

k = 2
= ,4 /,

2
N (ak−2 − ak)

95'-/
k = 3, 4, 5

@

• � ��
�
�� 
��=�
���� Z Q,.2 +26-2d, 95,
j = i+1

05
j = i+k−3

@ D3 - ]Z ' ('+ /, ( 0+2420-
2-4*)2,5), +2

k = 1, 2
05

3
= 5-, +,53, +2

k = 4
= ,4 /,5; +2

k = 5
@

W05)
k = 4

= QY02+2) 5-, ( 0+2420- 2-4*)2,5), :
j = i+1

< 4)'-+80)7 , 3' ~0-, /, /*+'..0)/
,- /,5; ~0-,+ /, /*+'..0)/ /, 30-65,5)

1
@ Q,3' +, ()0/524 'B,. 3' ()01'12324*

1/N
=

,4 .0-4)215, ^ 3' 7 0/2d.'420- /,
E(δ)

/, _ 1
N (2a1 − a4)

@
W05)

k = 5
= &, 8'24 /, .Y02+2) 5-, ( 0+2420- 2-4*)2,5), :

j = i+1
0)

j = i+2
< 4)'-+80)7 ,

3' ~0-, /, /*+'..0)/ ,- /,5; ~0-,+ /, /*+'..0)/ /, 30-65,5)
1

,4
2

@ Q,3' +, ()0/524
'B,. ()01'12324*

2/N
= ,4 .0-4)215, ^ 3' 7 0/2d.'420- /,

E(δ)
/, _ 2

N (a1 + a2 − a5)
@

V , ., 8'24 = -05+ 'B0-+ 3,+ .'+ +52B'-4+ _

F@ 
�� 
� I " S 30)+ _
E(δ(X ′, Y ′)) − δ(X,Y ) = 2

N (a2 − a1).S2-+2
E(δ(X ′, Y ′)) = β1δ(X,Y )

'B,.
β1 = 1 − 2

N
a1−a2

a1:,- 54232+'-4 3, 8'24 95,
δ(X,Y )

,+4 2.2 *6'3 ^
a1

< @

O @ 
�� 
�J " S 30)+ _
E(δ(X ′, Y ′)) − δ(X,Y ) = 1

N (2(a3 − a2) + (a0 − a2)) = 1
N (2a3 − 3a2).S2-+2

E(δ(X ′, Y ′)) = β2δ(X,Y )
'B,.

β2 = 1 − 1
N

3a2−2a3

a2:,- 54232+'-4 3, 8'24 95,
δ(X,Y )

,+4 2.2 *6'3 ^
a2

< @

� @ 
�� 
�� " S 30)+ _
E(δ(X ′, Y ′)) − δ(X,Y ) = 2

N ((a4 − a3) + (a1 − a3)) = 2
N (a4 − 2a3 + a1).S2-+2

E(δ(X ′, Y ′)) = β3δ(X,Y )
'B,.

β3 = 1 − 2
N

2a3−a4−a1

a3:,- 54232+'-4 3, 8'24 95,
δ(X,Y )

,+4 2.2 *6'3 ^
a3

< @

H @ 
�� 
�H " S 30)+ _
E(δ(X ′, Y ′))− δ(X,Y ) = 1

N (2(a5 − a4)+ 2(a2 − a4)+ (2a1 − a4)) = 1
N (2a5 − 5a4 +

2a2 + 2a1).S2-+2
E(δ(X ′, Y ′)) = β4δ(X,Y )

'B,.
β4 = 1 − 1

N
5a4−2a5−2a2−2a1

a4
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:,- 54232+'-4 3, 8'24 95,

δ(X,Y )
,+4 2.2 *6'3 ^

a4
< @

� @ 
�� 
�X " S 30)+ _
E(δ(X ′, Y ′)) − δ(X,Y ) = 2

N ((a5 + a1 − a5) + (a3 − a5) + (a1 + a2 − a5)) =
2
N (−2a5 + a3 + a2 + 2a1).S2-+2

E(δ(X ′, Y ′)) = β5δ(X,Y )
'B,.

β5 = 1 − 2
N

2a5−a3−a2−2a1

a5:,- 54232+'-4 3, 8'24 95,
δ(X,Y )

,+4 2.2 *6'3 ^
a5

< @

V , ., 8'24 = ( 05) 4054
(X,Y ) ∈ U

=
E(δ(X ′, Y ′)) ≤ βδ(X,Y )

= 'B,.
β = max{βk}1≤k≤5

@
D3 +5� 4 ^ ()*+,-4 /, 4)05B,)

a1, · · · , a5
4,3 95,

β
+'42+8'24

0 < β < 1
@

b-, +035420- ( 0++21 3, ,+4 _
a1 = 21, a2 = 20, a3 = 29, a4 = 36, a5 = 48.

�- ,- /*/524
β ≤ 1 − (1/18N)

= /0-. 1
1−β ≤ 18N

@
R 0-4)0-+ ^ ()*+,-4 95,

δ
,+4 5-, 7 *4)295, +5)

Ω × Ω
= +024 ^ 7 0-4),) _

F@
δ(X,Y ) = 0

++2
X = Y

@
O @ ∀x, y, z δ(x, z) ≤ δ(x, y) + δ(y, z)

@
& ' (),7 2a), '++,)420- B2,-4 /5 8'24 95, 405+ 3,+ .0,� .2,-4+

ai
+0-4 +4)2.4,7 ,-4 ( 0+2428+ @

&' (),5B, /, 3' +,.0-/, '++,)420- ),( 0+, +5) 3, 8'24 +52B'-4 _
W05) 4054

k = 1, 2, 3, 4, 5
,4 4054, (')42420-

i1, .., i`
/,

k
:2 @, _

i1 + .. + i` = k
< = 0- ' _

ak < ai1 + ai2 + ... + ai`

@
I 2-'3,7 ,-4 = 23 ),+4, ^ B*)2d,) 95, ( 05) 4054

x, y ∈ Ω × Ω
= 23 ,; 2+4, 5- .Y,7 2-

x =
z0, z1, · · · , zr = y

0�
(zj , zj+1) ∈ U

= ∑r−1
j=0 δ(zj , zj+1) = δ(x, y)

@ W05) 4054
x, y

/'-+
Ω

=
0- .0-+2/a), 3, .Y,7 2- /,

x
^

y
+52B'-4 _

�- *327 2-, 4054 / ]'1 0)/ 4054,+ 3,+ ~0-,+ /, /*+'..0)/ /, 30-65,5)
5

:,- .07 7 ,-�'-4
(') 3' 6'5.Y,< = (52+ (') .,33,+ /, 30-65,5)

4
=
3

=
2

,4 d-'3,7 ,-4
1

@ V , (') 3' /*d-2420-
/, -04), 7 *4)295, 0- 0142,-4 95, ( 05)

x = z0, z1, · · · , zk = y
=0- ' _

∑k−1
j=0 δ(zj , zj+1) = δ(x, y).

E-d- = -040-+ 95, 3' B'3,5) 7 ';27 '3,
B

/,
δ

+5)
Ω × Ω

,+4 '5 (35+
a1dN

2 e ≤ 11N
@

V , ., 8'24 = 3' .0-} 0-.420- /5 4Y*0)a7 , e @FH = /5 3,7 7 , e @FG ,4 /5 4Y*0)a7 , e @O� -05+
( ,)7 ,4 / ]014,-2) _

�,7,88V *72 � .N- . Q !��� ��
�B� � �� �
���� � �� � �
����
�� 
�=�= ��� ��������@
�
���� ���� L
= {(+)N} " % � � ��� Z

I " Q� ���� � �� B 
��
�� �=�
A � Z
HL ≤ 198N2 "

J " Q� ���� � � !
ε

��@���� �
�� �=�
A � Z

ΘL(ε) ≤ 18N ln(
11N

ε
).
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S2-+2 -05+ 'B0-+ 4)05B* 3' 1 0)-, 95'+2?32-*'2), .07 7 , /'-+ KV��+NOP ( 05) 3, 4,7 (+ /,
ε
?'1+0)(420- @ �- ( ,54 ),7 ')95,) 95, -04), .0-+4'-4, ,+4 7 ,233,5), = ,4 95, -04), (),5B, -05+

/0--, '5++2 5-, 7 '} 0)'420- /5 4,7 (+ /, Y2442-6 ( 05) .,4 '360)24Y7 , 952 'B'24 *4* 014,-5
,7 (2)295,7 ,-4 /'-+ KL 24G�P @

&' 7 *4Y0/, 95, -05+ 'B0-+ .Y02+2, ,+4 (35+ +27 (3, 95, .,33, .Y02+2, /'-+ KV��+NOP @ &'
(),5B, /, 3' /*.)02++'-., /,

δ
,+4 12,- (35+ +27 (3, ^ 014,-2) /'-+ -04), .'+ 6)�., '5 ('4Y

.05(32-6 @
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` ab cdefgdeh eiejkfeh lmdnopqh
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:+,6 .7 >9#0/3/+0 >) *) -6+B.A8 ) D +0 - +,667 2) 6)- +63)6 7, *47-/36) $ <
Y+/3

G = (V,E)
,0 167-4) )3

Ω
. @)02)8B.) >)2 )02)8B.)2 /0>9- )0>7032 >)

G
< %0 - ),38 +>9./2)6 *47*,0 >)2 )02)8B.)2 /0>9- )0>7032 *+88) ,0) J+0*3/+0 >)

V
>702 {0, 1} D +& f(v) =

1
22/

v
)23 >702 . @)02)8B.) /0>9- )0>703 < Q /02/ D +0 - ),3 >9#0/6 >)2 - +/>2

X0
)3

X1
- +,6 *+036' .)6. @)0G/) > @7G+/6 ,0 0+ ),> ? . @/0396/),6 +, ? . @)E396/),6 >) . @)02)8B.) < %0 >9#0/3 7.+62 ,0 - +/>21.+B7. (

ω(I) =
∏

v∈V

Xf(v).

) +3+02 5,) .+625,)
X0 = 1

)3
X1

,0 )03/)6 D *)*/ *+66)2- +0> ? 7G+/6
X1

-763/*,.)2 >702*475,) 2+88)3 >) . @)02)8B.) /0>9- )0>703 < Y/ 0+,2 )227;+02 > @9*4703/..+00)6 >)2 )02)8B.)2/0>9- )0>7032 2,/G703 *)33) J+0*3/+0 >) - +/>2 D 0+,2 7G+02 .7 8 )2,6) >) -6+B7B/./39 2,/G703) 2,6
Ω

(

π(I) =
ω(I)

∑

I′∈Ω ω(I ′)
.

Y/ +0 - +2)
λ = X1

D +0 36+,G) (

π(I) =
λ|I|

∑

I′∈Ω λ|I′|
.

(+625,)
λ ∈ R

+ )23 1670> D +0 J7G+6/2) .)2 )02)8B.)2 /0>9- )0>7032 >)02)2 D 2/0+0 +0 J7G+6/2).)2 >/2- )6292 <
� ���* +,�,-�!.��

C0
k
F*+.+6/71) > @,0 167-4)

G
)23 ,0 *+.+6/71) >)2 2+88 )32 7G)*

k
*+,.),62 >/I96)03)2 3).5,)

2
2+88 )32 6)./92 )036) ),E -76 ,0) 76/3) 0) 2+03 -72 *+.+6/92 >) .7 8 /8) *+,.),6 <

) +,2 0+3)6+02 D >) .7 8 /8) J70+0 . @)02)8B.) >)2
k
F*+.+6/71)2 > @,0 167-4)

G
-76 ,0) J+0*3/+0>)

V
>702 {1, .., k} < %0 - ),3 D /*/ 7,22/ D 722+ */)6 ? *475,) *+,.),6 ,0 - +/>2

X0, ...,Xk
D )3 7/02/>9#0/6 ,0 - +/>2 1.+B7. - +,6 3+,3

C ∈ Ω
T
Ω

93703 . @)02)8B.) >)2
k
F*+.+6/71)2 >)

G
U (

ω(C) =
∏

v∈V

Xf(v) =

k
∏

i=1

Xci

i .

+&
ci

)23 .) 0+8B6) >) 2+88)32 *+.+6/92 7G)* .7 *+,.),6
i
< (+625,)

Xi = 1
D .) J7/3 > @9*470F3/..+00)6 2,/G703 *) - +/>2 0+,2 >+00) .7 >/236/B,3/+0 ,0/J+68 ) 2,6 .)2

k
F*+.+6/71)2 <

� ���1 2 !"34��.�

C0 8 73*4/01 )23 ,0 6)*+,G6)8 )03 >)2 2+88 )32 > @,0 167-4) -76 >)2 76/3)2 D 3). 5,) >),E76/3)2 >/23/0*3)2 0) 6)*+,G6)03 -72 .) 8 /8) 2+88)3 <X*/ .7 J+0*3/+0 )23 >) .7 J+68 )
f : E → {0, 1} )3 +0 0+3)

Ω
. @)02)8B.) >)2 8 73*4/012 >)

G
<=+88) -69*9>)88)03 +0 0+3)67

X0
)3

X1
>)2 - +/>2 < Q /02/ - +,6 3+,3

M ∈ Ω
D +0 7 .) - +/>22,/G703 (

ω(M) =
∏

e∈E

Xf(e) = µ|M |,
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>702 .) *72 +&

X0 = 1
)3

X1 = µ
< %0 - ),3 >+0* 9*4703/..+00)6 2,/G703 *) - +/>2 <

X. )E /23) > @7,36)2 0+8B6),E 3;- )2 >) 8 +>A.)2 5,/ - ),G)03 /36) 93,>/92 16�*) ? >)2 3)*4F0/5,)2 >) :4;2/5,) 2373/23/5,) D *+88 ) .)2 8 +>A.)2 > @/03)67*3/+0 )036) -763/*,.)2 <N 9*6/G+02 ? -692)03 5,)..) )23 .7 3)*40/5,) *.722/5,) - +,6 36702- +2)6 *)2 -6+B.A8 )2 )0 >)2-6+B.A8 )2 >) :4;2/5,) 2373/23/5,) <
� ���� �-!�� ,��"�,� !��3 �! �4� ��	
� �"!"��"�	
�

H0 :4;2/5,) 2373/23/5,) D .)2 2;23A8 )2 3)0>)03 ? J7G+6/2)6 .)2 *+0#1,673/+02 > @90)61/)2 8 /F0/8 7.)2 D )3 *)33) -69J96)0*) )23 *+036' .9) -76 .7 3)8- 9673,6) < (7 J+0*3/+0 > @90)61/) 2,6 .)2*+0#1,673/+02 )23 >93)68 /09) -76 . @478 /.3+0/)0
H(σ)

< H3703 >+009 5,) . @+0 *4)6*4) ? 8 /0/F8 /2)6 . @90)61/) D .)2 *+0#1,673/+02 +03 ,0 - +/>2
ω(σ) = e−βH(σ),

+&
β = 1/T

)23 . @/0G)62) >) .7 3)8-9673,6) < (7 -6+B7B/./39 >) *475,) *+0#1,673/+0 )23 >+0*>)
π(σ) = ω(σ)/Z

D +&
Z

)23 .7 *+023703) 0+68 7./2736/*) B/)0 *+00, 2+,2 .) 0+8 >) J+0*3/+0>) -763/3/+0 <
N ) *) J7/3 D - +,6 0+36) )E)8-.) *+0*)60703 .)2 )02)8B.)2 /0>9- )0>7032 D /. 2,� 3 >) >9#0/6. @478 /.3+0/)0 *+88) (

H(I) = −
∑

v∈V

δv∈I

+&
δ

6)-692)03) .) 2;8B +.) >) M6+0)*�)6 <
%0 -+,667/3 93)0>6) *)33) 3)*40/5,) - +,6 3+,2 .)2 )02)8B.)2 9G+5,92 )3 8 /8) - +,6 *),E>)2 /03)67*3/+02 >) *+,-.)2 )0 ,3/./2703 .)2 8 +>A.)2 > @X2/01 TJ)66+8 71093/5,) )3 703/J)66+8 7F1093/5,)U <

� ���
 1 ��� !��!",�-�

C0 7,36) -767..A.) )036) :4;2/5,) 2373/23/5,) )3 /0J+68 73/5,) ? 939 8 /2 )0 .,8 /A6) >702K=NLLrOP D /. *+0*)60) .)2 1670>)2 2/8 /./3,>)2 )036) .) -6+B.A8 )
3
FYQ� 7.973+/6) )3 .)2 G)66)2>) 2-/0 < ) +,2 0) >937/..)6+02 -72 /*/ .7 *+8-767/2+0 TG+/6 K=NLLrOPU <:76 *+036) 0+,2 - +,G+02 67-- ).)6 5,) .) -6+B.A8 ) SFYQ� 7.973+/6) *+02/23) )0 .) 3/671) 7.97F3+/6) > @,0 2;23A8 ) >)

k
*.7,2)2 -6+- +2/3/+00)..)2 >) 37/..)

3
)E-6/8 9)2 ? . @7/>) >)

α
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N702 *)33) -763/) D 0+,2 2,-- +2+02 5,) .7 3+- +.+1/) >, 692)7, )23 ,0 700)7, >) 37/..)

N
<

) +,2 7..+02 ,3/./2)6 /*/ ,0) 0+3/+0 *.722/5,) )0 :4;2/5,) 2373/23/5,) D *)..) >) *478- >) L 76�+GT0+3/+0 95,/G7.)03) ? *)..) >) *478- >) � /BB2U � /0J+68 )..)8 )03 ,0 *478- >) L 76�+G )23. @)E3)02/+0 
>702 . @)2-7*)� >) .7 0+3/+0 >) *47�0) >) L 76�+G ( )0 )I)3 .7 G7.),6 > @,0 *)637/02/3) 0) >9- )0> 5,) >) .7 G7.),6 >)2 2/3)2 G+/2/02 T>702 .) *72 > @,0) *47�0) >) L 76�+G .)22/3)2 G+/2/02 2+03 .) J,3,6 )3 .) -7229 /88 9>/73U < H0#0 D +0 - ),3 6)8 765,)6 5,) .7 0+3/+0 >)*478-2 >) L 76�+G - +,6 .)2 367*)2 > @)E9*,3/+02 )23 J7*/.)8 )03 190967./27B.) >702 .) *72 > @7,36)23+- +.+1/)2 <:+,6 -.,2 >) >937/.2 2,6 .)2 *478-2 >) L 76�+G D +0 - ),3 2) 6)- +63)6 ? K� 69ssP +, ? K�L:rSP <
� �* �� +4!� � !��!", �-��

C0) A���� � T> @)E9*,3/+0 U T >) .+01,),6
m

-763703 > @,0) *+0#1,673/+0 /0/3/7.)
T0

D )23
,0) 2,/3) >) *+0#1,673/+02

T0, T1, · · · , Tm
>702

QN 3)..) 5,)
Tl−1

A−→ Tl
-+,6 3+,3

1 ≤ l ≤ m
<

C0) 3)..) 367*) - ),3 /36) 6)-692)039) *+88) ,0) 16/..) >) 37/..)
(m + 1) × N

D +& .7 ./10)
0

*+66)2- +0> ? .7 *+0#1,673/+0 /0/3/7.)
T0

D )3 .7 *++6>+009)
(l, i)

T
1 ≤ l ≤ m

D
1 ≤ i ≤ N

U*+66)2- +0> ? . @9373 >) .7
i�� � 87*4/0) 7-6A2

l
937- )2 >) . @7.1+6/348 ) <

(7 -6+B7B/./39 722+ */9) ? T )23 ∏m
l=1 p(Tl−1

A−→ Tl)
<=).7 6)-692)03) .7 -6+B7B/./39 D 93703 >+009) ,0) *+0#1,673/+0 /0/3/7.)

T0
D 5,) A 190A6) ,0)2,/3) >) *+0#1,673/+02

T1, · · · , Tm
7-6A2

m
937- )2 <

: .,2 J+68 )..)8 )03 D 2+/3
S = {0, 1, · · · ,m} × {1, · · · , N} . @)02)8B.) >)2 *++6>+009)2 T+,�����U >) T < Y+/3

Sl
.) 2+,2F)02)8B.) {(l, 1), · · · , (l,N)} >)

S
D - +,6 3+,3

0 ≤ l ≤ m
< Y+/3

S′′ = S1 ∪ · · · ∪ Sm−1
)3

S′ = S′′ ∪ Sm
T7/02/ (

S = S0 ∪ S′ = S0 ∪ S′′ ∪ Sm
U < %0 7 (

��������� � ��� $ ��! � �%!! �� �!�   �!! � �� " ��#%$ {xt}t≥0 %���% ��� & A %$%�� ' #() �����!�� *�! �  %!+ ,�����%! �%!! ��
x0 = T0 - �� �! �!����

m ≥ 0- �� *478- 7.973+/6)
X

��� ��� �� ��
A �� �%!,����

m
�����!� ��

T0
��� �! �  %� �� ��%!

X = {X(l, i)}(l,i)∈S
�� $����.��� �����%����

& $����� ��!�
Q

��� �� �� �- �%�� �%��
(l, i) ∈ S / X(l, i) = xl(i)

#
Y+/3

ΩS
. @)02)8B.) >) 3+,3)2 .)2 J+0*3/+02 >)

S
>702

Q
� ,0) 367*) - ),3 /36) *+02/>969)*+88) ,0 9.98 )03

ΩS
D )3 /36) 0+39)

X = {X(s)}s∈S
2/ *).7 *+0*)60) .) *478- 7.973+/6) D )3-76 T ,U , · · · 2/ 0+,2 *+02/>96+02 ,0) 367*) #E) <

) +,2 ,3/./2)6+02 7,22/ *)2 0+373/+02 - +,6 .)2 9.98 )032 >)
ΩB

D +&
B

)23 ,0 2+,2F)02)8B.)>)
S

< :+,6
C ⊂ B ⊂ S

D
η ∈ ΩB

)3
η′ ∈ ΩC

D +0 9*6/3 

η ≡ η′

2,6
C
� 2/ .7 6)236/*3/+0 >)

η
?. @)02)8B.) >)2 2/3)2 >)

C
*+00*/>) 7G)*

η′
< :+,6

B ⊂ S
D
s ∈ S

)3
η ∈ ΩB

D . @ )E-6)22/+0
η(s)6)-692)03) .7 G7.),6 >)

η
7, 2/3)

s
D )3

η(B)
)23 ,0) 0+373/+0 2/8-./#9) - +,6 {η(s)}s∈B

<

N 9#0/22+02 ? -692)03 D - +,6 *475,)
T0 ∈ ΩS0

D .7 >/236/B,3/+0 >) -6+B7B/./39 *+0>/3/+00)..)2,6
ΩS′

(
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 ����������� ������� ��� ��� ����� ��� ������ �� ���� �� W�S
PA

S′(., T0) = Pr(X ≡ .
2,6

S′ | X ≡ T0
2,6

S0).%0 7 D - +,6 3+,3 T ′ ∈ ΩS′

(

PA
S′(T ′, T0) = p(T0

A−→ T1)p(T1
A−→ T2) · · · p(Tm−1

A−→ Tm),

+&
Tl

)23 .7 6)236/*3/+0 >) T ′ 2,6
Sl

T
1 ≤ l ≤ m

U <
���	
�� � �� � 
%!�����%!� � �� �" ��� �� � *��, %��� � � �� � ��� �! %$%�� �) # ����%�%!� �� �
N = 5

��
m = 3

# �� , ��� �� %%� � ���� �) ���$�!��








1 0 0 0 0
0 1 1 1 0
1 0 1 0 1
0 1 0 1 0









��� ����! �� �� ��� � T = T0T1T2T3
��!� ���� �� ��

Tl
 %����� %!� & �� ��,!�

l
�� �� , ��� �� %0 ≤ l ≤

3
) #

�� � �%.�.����� � *�� ��� �� �� ��,!�
0

& �� ��,!�
1 %���� # ��

1
&

2
) ���

(1/2)3 - %�! �� �� �� � ���%�� � ��%!�) #�� � �%.�.����� � *�� ��� �� �� ��,!�
2

&
3

��� ��
1/2 %�� ! *� �� *�! � ��%!) #

� �!�� PA
S′(T ′, T0) = (1/2)3(1/2)31/2 = 2−7 %� T ′ ���

T1T2T3
#

♣:+,6
Tm ∈ ΩSm

D 2+/3 (
PA

S′,Sm
(Tm, T0) =

∑

T ′∈ΩS′ : T ′≡Tm on Sm

PA
S′(T ′, T0).

PA
S′,Sm

(., T0)
)23 7-- ).9) .7 ��� ���.���%! � ��, �!��� 2,6

Sm
>) PA

S′(., T0)
<

���
�� �� ��� � �� � �! �- � %�� �%��
T0, Tm ∈ QN /

PA
S′,Sm

(Tm, T0) = Pr(xm = Tm | x0 = T0).X0J+68 )..)8 )03 D .7 >/236/B,3/+0 8 761/07.) 2,6
Sm

>) .7 >/236/B,3/+0 >) -6+B7B/./39 >)
X)23 917.) ? .7 >/236/B,3/+0 >)

xm
<

� ��%!������%! #
PA

S′,Sm
(Tm, T0) =

∑

T ′∈ΩS′ : T ′≡Tm sur Sm

PA
S′(T ′, T0)

=
∑

U1∈QN ,··· ,Um−1∈QN

Pr(X ≡ (U1U2 · · ·Um−1Tm) sur S′ | X ≡ T0 sur S0)

=
∑

U1∈QN ,··· ,Um−1∈QN

p(T0
A−→ U1)p(U1

A−→ U2) · · · p(Um−1
A−→ Tm)

= Pr(xm = Tm | x0 = T0).
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 ����������
 ��� �� ��
����� �� �� ������ �����������

��������� � �� � � %��
T0, U0

���  %!+ ,�����%!� ��
QN - �� {(xt, yt)}t≥0

�!  %�� ��!, %$%�� ��  �� ���� � �%�� ��� ��+ !���%!�) �� A �����!� ��
(T0, U0)

# �� *+,-./01 /0>,/3 >) 367*)2 >) A>) .+01,),6
m

��� �� $����.�� �����%���
(X,Y )

& $����� ��!�
ΩS × ΩS

��� �� �� �- �%�� �%��
(l, i) ∈ S - %! ��� /

X(l, i) = xl(i)
��

Y (l, i) = yl(i)
#

%0 >/67 5, @,0 *+,-./01 {(xt, yt)}t≥0
)23 �% ���� �! � ���.�� 22/ D - +,6 3+,3

1 ≤ i ≤ N
D )3 - +,63+,3

t ≥ 0
(

(xt(i − 1) = yt(i − 1) ∧ xt(i) = yt(i)) ⇒ xt+1(i) = yt+1(i)
<

) +,2 ,3/./2)6+02
(x, y)t(i)

- +,6 7B69G/73/+0 >)
(xt(i), yt(i))

<QG)* *)33) 0+373/+0 D .7 237B/./39 .+ *7.) - ),3 2) >9*6/6) >) .7 8 70/A6) 2,/G703) D - +,6 3+,3
q, r, s ∈ Q

D 3+,3
1 ≤ i ≤ N

)3 3+,3
t ≥ 0

(

((x, y)t(i − 1) = (q, q) ∧ (x, y)t(i) = (r, r)) ⇒ (x, y)t+1(i) = (s, s)
<

%0 - ),3 6)8 765,)6 5,) 2/ .) *+,-./01 {(xt, yt)}t≥0
)23 .+ *7.)8 )03 237B.) D 7.+62 .) *+,-./01/0>,/3

(X,Y )
)23 3). 5,) D - +,6 3+,3

(l, i) ∈ S′ (

(X(l − 1, i − 1) = Y (l − 1, i − 1) ∧ X(l − 1, i) = Y (l − 1, i)) ⇒ X(l, i) = Y (l, i)
<

� �* �* �,����!.�

:+,6 ,0 2/3)
s ∈ S′ D .) $%���!�, � )23 >9#0/ *+88) 2,/3 (

^ :+,6
s = (l, i) ∈ S′′ .) G+/2/071) >)

s
D 0+39 Ns

D )23 .)
6
F,-.)3 >) 2/3)2

〈(l − 1, i − 1), (l − 1, i), (l, i − 1), (l, i + 1), (l + 1, i), (l + 1, i + 1)〉 < TG+/6 #1,6) V <OU <

� �
� �
� �

� �
� �
� �

� �
� �
� �

� �
� �
� �

� �
� �
� �

� �
� �
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l, i

Z[\ ] V <O ^ �+/2/071) - +,6
s ∈ S′′ <

^ :+,6
s = (m, i) ∈ Sm

D .) G+/2/071) >)
s
D 0+39 Os

D )23 .) *+,-.) >) 2/3)2 〈(m − 1, i −
1), (m − 1, i)〉 < TG+/6 #1,6) V <SU <

) +,2 >/6+02 5,) >) 2/3)2
r

)3
s

>)
S

T0+0 3+,2 .)2 >),E >702
S0

U 2+03 $%���!� +, ��� � �!�� D)3 0+,2 9*6/6+02
r ∼ s

D 2/ (
^

s ∈ Nr
2/

r ∈ S′′ D +,^
s ∈ Or

2/
r ∈ Sm

D
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� �
� �
� �
� �
� �
� �

� �
� �
� �
� �
� �
� �

m, i

Z[\ ] V <S ^ �+/2/071) - +,6
s ∈ Sm

<
+, 2;8 936/5,)8 )03 )0 /0G)62703

r
)3

s
<

:+,6
m = 3

)3
N = 5

D .) 167-4) >)2 2/3)2 7>� 7*)032
(l, i)

D 7G)*
0 ≤ l ≤ m = 3

)3
1 ≤ i ≤ N = 5

D )23 6)-692)039 )0 #1,6) V <� < T:+,6 .7 2/8-./*/39 .)2 76/3)2 )036) .)2 2/3)2
(l, 1))3 .)2 2/3)2

(l, 5), (l − 1, 5)
D 7G)*

l = 1, 2, 3
D 0 @+03 -72 939 >)22/09)2U <

l = 0

l = 1

l = 2

l = 3

i = 1 i = 3 i = 4 i = 5i = 2

Z[\ ] V <� ^ � 67-4) >)2 2/3)2 7>� 7*)032 <
:76 ,0   �� �! >)

Si
?

Sj
D 0+,2 )03)0>+02 ,0) 2,/3) >) 2/3)2 >/23/0*32

s1, s2, · · · , sk
>702.75,)..) .)2 2/3)2 *+029*,3/J2 2+03 7>� 7*)032 T/ <) < (

s1 ∼ s2 ∼ · · · ∼ sk
U D )3 7G)*

s1 ∈ Si
)3

sk ∈ Sj
<

C0   �� �! � ��$ >)
Si

?
Sj

)23 ,0 *4)8 /0
s1 ∼ s2 ∼ · · · ∼ sk

>)
Si

?
Sj

5,/ 0)-6)0> >)2 36702/3/+02 5,) >702 .)2 >/6)*3/+02 
Y,>� +, 
Y,>FH23� � 2+/3 3)..)2 5,) D - +,6 3+,3
hT

1 ≤ h ≤ k − 1
U D 2/ .) 2/3)

sh
)23

(l, i)
D 7.+62

sh+1
)23

(l + 1, i)
TG)62 .) Y,>U +,

(l + 1, i + 1)TG)62 .) Y,>FH 23U < C0 )E)8-.) >) *4)8 /0
S
F
SE

)23 >)22/09 )0 1672 >702 .7 #1,6) V <� <
X. )23 J7*/.) >) G+/6 5,) .) *478- >)2 367*)2 >) A )23 ,0 *478- 7.973+/6) +& .7 >/236/B,3/+0>) .7 G76/7B.) 6)-692)03703 .7 G7.),6 >, 2/3)

s ∈ S′′ T6)2- <
s ∈ Sm

U 0) >9- )0> 5,) >)2 G7.),62>)2 2/3)2 7>� 7*)032 >) Ns
T6)2- < Os

U < T:+,6 -.,2 >) >937/. +0 - +,667 2) 69J96)6 ? K�L:rSPU <
=).7 /8-./5,) 5,) .) *478- >) 367*)2 >) A )23 ,0   ��� �� " ��#%$ <
QG703 >+0* >) >+00)6 J+68 )..)8 )03 *)33) -6+- +2/3/+0 0+,2 >)G+02 >+00)6 ,0) >9#0/3/+0-69*/2) > @,0 *478- >) L 76�+G <

��������� � �� � ��	
	
� �� �
�
�� �
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 ����������
 ��� �� ��
����� �� �� ������ �����������

�!   ��� �� $����.��� �����%����
X = (X(s))s∈S

��� �!   ��� �� " ��#%$ �%�� �� $%%����!�, �
N

�� � %�� �%�� ��� �����
s ∈ S - �%�� �%��

K
! *�������!�! � ��� �� $%���!�, � ��

s %�� �� *%! !%����
Ns

) - ��� $����.��� �����%����
X(s)

��
X(k)

�%!� �!��� �!��!��� ��  �! �
X(Ns)

#
�%�� �! ���� � � �� ������� � /

P (X(s) = x(s)|X(S\s) = x(S\s)) = P (X(s) = x(s)|X(Ns) = x(Ns))

Q/02/ (
���
�� �� ��� � �� � � %�� �%��

m > 0
�� �%��

T0 ∈ ΩS0 - ��   ��� �����%���
X

�� ��� ���� A �� �%!,����
m

� ����!� ��
T0 - ��� �!   ��� �� " ��#%$ �%�� �� ������ � �� $%���!�, �

{Ns}s∈S′′ ∪ {Os}s∈Sm

#
�%��- �%�� �%��

s ∈ S′′ %���� #
s ∈ Sm

) - �%� �
q ∈ Q

�� �%��
η ∈ ΩS\{s} /

�
(X(s) = q | X(S \ {s}) = η) =

�
(X(s) = q | X(Ns) = η(Ns))

%���� # �
(X(s) = q | X(S \ {s}) = η) =

�
(X(s) = q | X(Os) = η(Os)).

) +,2 0+,2 73376>)6+02 -72 2,6 .7 -6),G) 2/8-.) >) 2) 349+6A8 ) 5, @+0 - +,667 6)36+,G)6>702 K�L:rSP
` a� �n �q�ne � �odqm�hqo��f�hoq �mp
� �1 �� +,���"�,� �� �!� ��� 	�-.

Q#0 >) -6+,G)6 . @7B2)0*) >) 
36702/3/+0 >) -472)� >702 .)2 *478-2 >) L 76�+G D G70 >)0
� )61 7 /036+>,/3 ,0 *6/3A6) B729 2,6 .7 0+3/+0 >) *4)8 /0 >) >927**+6> TG+/6 KG>� sSPU <

( @7B2)0*) >) 36702/3/+0 >) -472) *+66)2- +0> >702 0+36) *7>6) 7, *72 +& A ,0 ,0) ,0/5,)>/236/B,3/+0 2373/+007/6)
π

TG+/6 K�L:rSPU < N ) -.,2 D >702 0+36) *+03)E3) D .) *6/3A6) >) G70 >)0
� )61 722,6) 0+0 2),.)8 )03 . @,0/*/39 >) .7 >/236/B,3/+0 2373/+007/6)

π
D 8 7/2 7,22/ .) 8 9.701)67-/>) >) A G)62

π
D *+88 ) 0+,2 7..+02 .) 8 +036)6 <

Y/ T ,U ∈ ΩS
D +0 >/67 5,) .) *+,-.)

(T ,U)
7 ,0   �� �! �� ����  %�� >)

S0
?

Sm
2/ /.; 7 ,0) 2,/3) >) 2/3)2

r1 ∼ · · · ∼ rk
>702

S
7G)*

r1 ∈ S0
D
rk ∈ Sm

)3 T (rh) 6= U(rh)
- +,6

h = 0, · · · , k
<() 692,.373 2,/G703 )23 G67/ >702 .) *72 190967. >)2 *478-2 >) L 76�+G TG+/6 KG>� ssPKG>�sSPU <

���
�� �� ��� � �
 � � %�� �%��
m > 0- r ∈ S0 - �� �%��  %�� ��

T0, U0 ∈ ΩS0

�$� 
T0(s) = U0(s)��

s 6= r - %! � /
d(PA

S′,Sm
(., T0), PA

S′,Sm
(., U0)) ≤ (PA

S′(., T0) × PA
S′(., U0))

(∃ �!   �� �! �� ����  %�� ��
S0

&
Sm)
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 W��
(7 -6+- +2/3/+0 V <� )E-6/8 ) .) J7/3 5,) .7 >/2370*) )0 G76/73/+0 T>9#0/) 7, *47-/36) $U )036).)2 >/236/B,3/+02 8 761/07.)2 2,6

Sm
>)2 >),E >/236/B,3/+02 PA

S′(., T0)
)3 PA

S′(., U0)
)23 /0J96/),6)? .7 -6+B7B/./39 5,) D2/ +0 *4+/2/3 7.973+/6)8 )03 >),E 9.98 )032 >)

ΩS′

D . @,0 7G)* .7 -6)8 /A6)>/236/B,3/+0 )3 . @7,36) 7G)* .7 2)*+0>) >/236/B,3/+0 D *) *+,-.) > @9.98 )032 7 ,0 *4)8 /0 >) >927*F*+6> >)
S0

?
Sm

<
�70 >)0 � )61 )3 L 7)2 +03 93)0>, *) 692,.373 >702 .) *72 +& D 7, ./), >) *4+/2/6 >),E 9.98 )032/0>9- )0>788)03 >702

ΩS′

D +0 *+02/>A6) ,0 *+,-./01 >) *)2 >),E >/236/B,3/+02 5,/ G96/#) >)2*+0>/3/+02 >) 8 +0+3+0/) TG+/6 KG>�Ls� PU <
:76 *+036) D *) 692,.373 0) 2 @93)0> -72 ? 3+,2 .)2 *+,-./01 *+88) .) 8 +036) .) *+036)F)E)8-.)>) ��11236�8 K� 71r �P <
L +036+02 �,23) D >702 0+36) *+03)E3) >) 367*)2 >) A D 5,) *)33) G76/703) >, *6/3A6) >) G70>)0 �)61 2 @7--./5,) .+625,) .) *+,-./01

(X,Y )
)23 /0>,/3 > @,0 *+,-./01 .+ *7.)8 )03 237B.)

{(xt, yt)}t≥0
<

N ) -.,2 D > @,0 *'39 .) 692,.373 >) G70 >)0 � )61 2)67 93)0>, *76 0+,2 0+,2 J+ *7./2)6+02 2,6.)2 *4)8 /02 >) >927**+6>
S
F
SE

� )3 > @,0 7,36) *'39 D /. 2)67 7I 7/B./ )0 0) *+02/>96703 5,) >)293732 /0 /3/7,E
T0

)3
U0

D 5,/ - +,667/3 >/I96)6 >) -.,2 > @,0 2/3)
r
<

H0 ,3/./2703 .) J7/3 5,) PA
S′,Sm

(Tm, T0) = Pr(xm = Tm | x0 = T0)
TG+/6 .7 -6+- +2/3/+0 V <SU D+0 7>7-3) >+0* .7 -6+- +2/3/+0 V <� 7/02/ (

���
�� �� ��� � �� � � %�� �%��
m > 0- �%� �  %�� ��

T0, U0 ∈ ΩS0

�� �%��  %�� ��!, �% ���� �! ����.�� {(xt, yt)}t≥0
�� A �$� 

(x0, y0) = (T0, U0)-��  %�� ��!, �! ����
(X,Y )

�� ��� �� �� A �� �%!,����
m %�%!� ��� ��� ���.���%!� �%!� !%����

µ
) ��� ��� �� � /

d(Pr(xm = . | x0 = T0), P r(ym = . | y0 = U0))
≤ µ(∃ S �SE

  �� �! �� ����  %�� ��
S0

&
Sm).

(7 -6),G) >) .7 -6+- +2/3/+0 V <V 6)- +2) 2,6 .) .)88 ) 2,/G703 (
	�		� � �
 � � %�� �%��

m > 0- �%� �  %�� ��
T0, U0 ∈ ΩS0

�� �%�� �%��  %�� ��!, �% ���� �! ����.�� {(xt, yt)}t≥0
�� A �$� 

(x0, y0) = (T0, U0)- ��  %�� ��!, �!����
(X,Y )

��� ��� �� �� A ���%!,����
m %��� � �� ������.���%! !%���

µ
) ��� ��� �� � /

xm 6= ym
��� �� �" �� �� �!   �� �!

S �SE
�� ����  %�� ��

S0
&

Sm %µ � ����� � ����� �!�) #
(7 -6),G) >) *) .)88 ) )23 2/8-.) D )0 )I)3 2 @/. )E /23) ,0 *4)8 /0 >) >927**+6> D /. )23 9G/>)035,)
xm 6= ym

D )3 2/
xm 6= ym

.) J7/3 5,) .) *+,-./01 2+/3 .+ *7.)8 )03 237B.) /8-./5,) 5, +0- ),3 6)8 +03)6 *)33) >/I96)0*) -76 G+/2/071) �,25,) .7 *+0#1,673/+0
(x0, y0)

)3 >+0* *69)6 ,0*4)8 /0
S
F
SE

>) >927**+6> <
) +,2 - +,G+02 ? -692)03 >+00)6 .7 -6),G) >) .7 -6+- +2/3/+0 V <V
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� ��%!������%! #
d(Pr(xm = . | x0 = T0), P r(ym = . | y0 = U0))

≤ Pr(xm 6= ym | (x0, y0) = (T0, U0))
T-76 .) 
 .)88 ) >) *+,-./01� G+/6 $ <�SU

≤ µ
T∃ ,0 *4)8 /0 >) >927**+6>

S
F
SE

>)
S0

?
Sm

U T-76 .) .)88 ) V <sU <
��������� � ��� � �!   ��� �� ��� �� �� A ��� 67-/>)8 )03 7**+6>703 �� � %�� �%��

m > 0��   ����  %�� ��
T0, U0 ∈ ΩS0 - �� �" ���� �!  %�� ��!, �% ���� �! � ���.�� {(xt, yt)}t≥0

�� A �$� 
(x0, y0) = (T0, U0)

��� ��� ��  %�� ��!, �!����
(X,Y )

�� ��� �� �� A �� �%!,����
m %�%!� ��������.���%! ��� !%���

µ
) $���+ � /

µ(∃ �!   �� �! �� ����  %��
S �SE

��
S0

&
Sm) ≤ Kexp(−c m)-%�

K
��

1/c
�%! � �%��!%� ���" �!

N
#

%0 7 (

�	����	� � ���� � � ��   ��� �� ��� �� �� A ��� ��� ���� �!� �  %���!�- ��%�� A � �!� �!��� �������.���%! �����%!!����
π - �� A ��� ��� ���� �!� � ���!, ��!� %�%�� ��� ��+ !���%!� %! �%���� �����%���� ��   �� ���� �) #

� ��%!������%! # L +036+02 3+,3 > @7B +6> -76 . @7B2,6>) 5, @/. 0 @; 7 5, @,0) 2),.) >/236/B,3/+02373/+007/6) < Y @/. ; 7G7/3 >),E >/236/B,3/+02 2373/+007/6)2
π1

)3
π2

D .7 >/2370*) )0 G76/73/+07-6A2
m

937- )2 )036) .7 >/236/B,3/+0 /22,) >) .7 >/236/B,3/+0 /0/3/7.)
π1

)3 .7 >/236/B,3/+0 /22,)>) .7 >/236/B,3/+0 /0/3/7.)
π2

D )23 -.,2 1670>) 5, @,0) *+023703) 236/*3)8 )03 - +2/3/G) D )3 0)>9*6+�367 -72 )E- +0)03/)..)8 )03 7G)*
m

TG, 5,) *) 2+03 >)2 >/236/B,3/+02 2373/+007/6)2U <:76 .7 -6+- +2/3/+0 V <V D *).7 *+036)>/67/3 . @4;- +34A2) >) 67-/>) 7**+6>70*) <
Y+/3 >+0*

π
. @,0/5,) >/236/B,3/+0 2373/+007/6) D -76 .7 -6+- +2/3/+0 V <V )3 .7 67-/>) 7**+6F>70*) D +0 7 (

d(Pr(xm = . | x0 = T0), π)
≤ µ(∃ ,0 *4)8 /0 >) >927**+6>

S
F
SE

>)
S0

?
Sm) ≤ Kexp(−cm).

() 3)8-2 >) 8 9.701)
τ(ε)

)23 7/02/ B +609 -76 .7 6).73/+0 (

Kexp(−cτ(ε)) ≤ ε,

2+/3
τ ≥ ln(ε−1)

c + ln(K)
c

D 5,/ -6+,G) 5,)
τ

)23 - +.;0+8 /7. )0
N

)3
ln(ε−1)

)3 5,/ 7*4AG) .7-6),G) <

` a� �kkf�loq �mph
� �� �� � �.,-�"4�� � ���3�
��,� �
"
���� !
",��"!�����!�" �� � �-�!�

R)G)0+02 ,0) 0+,G)..) J+/2 ? . @)E)8-.) >) . @7.1+6/348 ) >) � )68 70 TG+/6 . @)E)8-.) � <$ - +,6.7 >9#0/3/+0 >) . @7.1+6/348 )U < H3703 >+009) ,0) *+0#1,673/+0 D *475,) 937- ) > @)E9*,3/+0 >). @7.1+6/348 ) J7/3 *475,) � )3+0 2+/3 2) >9-.7*)6 G)62 .7 >6+/3) 7G)* -6+B7B/./39 1
2

D +, 6)23)6 ? .78 /8) -.7*) 7G)* -6+B7B/./39 1
2

<
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X. )23 36A2 J7*/.) >) 8 +036)6 5,) .) 0+8B6) >) � )3+02 0) - ),3 � 78 7/2 7,18 )03)6 < :76 *+036).) 0+8B6) >) � )3+02 - ),3 >/8 /0,)6 .+625,) ,0 � )3+0 )036) )0 *+../2/+0 7G)* ,0 � )3+0 2/3,9 /8 F8 9>/73)8 )03 ? 27 >6+/3) (,0 )0*4)G/36)8 )03 >) � )3+02 /03)6G/)03 T>) .7 J+68 )

000
+,

111
U D )3 ? . @937- ) 2,/G703) *)2 >),E

� )3+02 >/2-767/22)03 2/8,.37098 )03 7G)* .7 -6+B7B/./39
1/4

<
( @9G+.,3/+0 >) .7 >/2370*) )036) >),E � )3+02 *+029*,3/J2 D - ),3 7.+62 /36) 8 +>9./29) *+88),0) 8 76*4) 7.973+/6) 2,6 ,0 /03)6G7..) � 7/02/ . @9G)03,)..) *+../2/+0 >) >),E � )3+02 )23 ,0 9G9F0)8 )03 >) -6+B7B/./39

1
D )3 3+,2 .)2 � )3+02 27,J

1
G+03 >/2-767�36) -6)25,) 2�6)8 )03 <( @)02)8B.) L >)2 *+0#1,673/+02 7G)* ,0 2),. � )3+0 *+66)2- +0> ? . @)02)8B.) >)2 
*+0#1,673/+02.917.)2� TG+/6 KN /� �� PU D )3 )23 )61+>/5,) <X. )23 7/29 >) 8 +036)6 5,) .7 >/236/B,3/+0 2373/+007/6)

π
722+*/9) ? *) -6+*)22,2 )23 .7 >/236/B,F3/+0 ,0/J+68 ) 2,6 .)2 9.98 )032 >) L < T: .,2 -69*/298 )03 D
π(q) = 1/(2N)

2/
q ∈ L D )3

π(q) = 02/0+0 <U
C0 3). )02)8B.) L )61+>/5,) )23 ,0/5,) T)3 -76 .7 8 /8) D ,0) 3)..) >/236/B,3/+0

π
7,22/U D*) 5,/ *+66)2- +0> B/)0 ? .7 0+3/+0 > @7,3+F237B/./273/+0 >9#0/) >702 .) *47-/36) -69*9>)03

) +,2 7..+02 8 +036)6 ? -692)03 (

�	����	� � ��� � ��   ��� �� ��� �� �� � *��, %��� � � �� � ��� �! ��� ��� ���� �!� �  %���!�#
:76 .) 349+6A8 ) V <�� D *).7 0+,2 >+00)67 ,0) 0+,G)..) -6),G) >) . @7,3+F237B/./273/+0 - +,6

� )68 70 <N ) -.,2 D .) 349+6A8 ) V <�� 176703/3 5,) .7 >/236/B,3/+0 2,6 .)2 *+0#1,673/+02 )23 

ε
F-6+ *4)� >).7 >/236/B,3/+0 ,0/J+68 )

π
2,6 .)2 >/236/B,3/+02 .917.)2 7-6A2

N2 937- )2 < ) +,2 >+00+02 >+0*/*/ ,0) 0+,G)..) G7.),6 >) 3)8-2 >) *+0G)61)0*) *)..) >) 3)8-2 >) 8 9.701) 5,) 0+,2 0 @7G/+02-72 B +609 7,-767G703 <

� ��%!������%! # ( @/>9) >) .7 -6),G) >, 349+6A8 ) V <�O )23 .7 2,/G703) <=+02/>96+02 >) 367*)2 >) A X
)3

Y
/0>,/3) -76 .) *+,-./01

(x, y)
>) . @)E)8-.) � <$ D 5,/ 0) 2+03-72 )0 7**+6> 2,6 >)2 2/3)2 >)

S0
T
x0 6= y0

U <=7.*,.+02 .7 -6+B7B/./39 5, @/. )E /23) ,0 *4)8 /0 >) >927**+6> 2,6
(X,Y )

<
Y+/3 >),E -+2/3/+02 )E36/8)2 >) >927**+6>

i0
)3

j0
>)

S0
D / <) < >)2 2/3)2 >) >927**+6>T

x0(i0) 6= y0(i0)
D

x0(j0) 6= y0(j0)
U 3+,2 .)2 2/3)2 >)

S0
)0 >)4+62 >, 2)18 )03

[i0, j0]
+, ?. @/0396/),6 >)

]i0, j0[
2+/3 )0 7**+6> < Y,--+2+02 D 2702 - )63) >) 190967./39 5,) (

1 ≤ i0 ≤ j0 ≤ N)3
x0(k) = y0(k)

D - +,6 3+,3
k, 1 ≤ k ≤ i0 − 1

+,
j0 + 1 ≤ k ≤ N

<
:76 237B/./39 .+ *7.) D 3+,2 .)2 2/3)2 )036)

j0 + 2
)3

i0 − 1
6)23)03 )0 7**+6> 7-6A2 . @937- )

1
(- +,6 3+,3

k
7G)*

0 ≤ k ≤ i0 − 1
+,

j0 + 2 ≤ k ≤ N
D
(x, y)1(k) = (qk, qk)

7G)*
qk ∈ Q

<=+02/>96+02 ? -692)03 .)2 - +2/3/+02 ./8 /3)2
i0

)3
j0 + 1

<
H0

i0
D .7 G7.),6 >)

(x, y)1
>9- )0> >)2 G7.),62 >)

(x, y)0
7, 2/3)2

i0 − 1
)3

i0
< Q /02/ (

(x, y)0(i0 − 1) = (q, q)
)3

(x, y)0(i0) = (q′,¬q′)
7G)*

q, q′ ∈ Q
< Q#0 >) 2/8-./#)6 )3 >) 2)

#E)6 .)2 />9)2 D 2,-- +2+02 (
(x, y)0(i0 − 1) = (0, 0)

)3
(x, y)0(i0) = (0, 1)

< T()2 7,36)2 *72 2+03
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2/8 /.7/6)2 <U
Q .7 - +2/3/+0

i0
D /. ; 7 )0 � )3+0 )0
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T67-- ).+02 5,) 07 /8-./5,)

x0(i − 1) = x0(i)
T
= 0>702 *) *72UU 8 7/2 -72 >) � )3+02 )0
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< (7 G7.),6 >)
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)23 r T6)2- < �U 7G)* -6+B7B/./39

1
2

7.+62 5,) .7 G7.),6 >)
y1(i0)

)23
0

7G)* -6+B7B/./39
1
< Q /02/

x1
)3

y1
2+03 )0 7**+6> T6)2- <>927**+6> U )0

i0
7G)* -6+B7B/./39 1

2

<H0 *72 > @7**+6> D .7 - +2/3/+0 >, 2/3) )E36/8) >) >927**+6> >) 17,*4) 2) >9-.7*) > @T7, 8 +/02U,0 2/3) G)62 .7 >6+/3) D )3 >)G/)03
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)0
S1

T,0 8 +,G)8 )03 �$U <H0 *72 >) >927**+6> D /. 6)23) 917. ?
i0

>702
S1

T,0 8 +,G)8 )03
S
U <

N ) .7 8 /8) 8 70/A6) D 7, 2/3) > @7**+6> 2/3,9 .) -.,2 ? 17,*4)
j0 + 1

D /. ; 7 ,0 � )3+0 )0
x0)3 7,*,0 � )3+0 )0

y0
D +, . @/0G)62) < Q /02/ D ? . @937- )

1
D
x1

)3
y1

2+03 )0 >927**+6> T6)2- < 7**+6> U7, 2/3)
j0 + 1

7G)* -6+B7B/./39 1
2

<H0 *72 >) >927**+6> D .) 2/3) )E36/8) >) >927**+6> >) >6+/3) 2) >9-.7*) > @,0 2/3) G)62 .7 >6+/3) D)3 >)G/)03
j0 + 1

>702
S1

T8 +,G)8 )03 �$U <H0 *72 > @7**+6> D /. 6)23) 7, -.,2 917. ?
j0

T8 +,G)8 )03
S
U <

N ) *) J7/3 .) 2/3) >) >927**+6> .) -.,2 ? 17,*4) 2,/3 ,0 8 +,G)8 )03
S

7G)* -6+B7B/./39 1
2

D+, T>702 .) -/6) >)2 *72U ,0 8 +,G)8 )03 �$ 7G)* -6+B7B/./39 1
2
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S0

?
S1

<X>)03/5,)8 )03 .) 2/3) >) >927**+6> .) -.,2 ? 17,*4) 2,/3 .)2 8 /8)2 8 +,G)8 )032 <
X396+02 ? -692)03 *) 67/2+00)8 )03 D 0+,2 >9#0/22+02 >) *4)8 /02 � ��$ )E36/8)2 >) >927*F*+6>
L : l0 ∼ l1, · · ·

)3
R : r0 ∼ r1, · · ·

�,25, @? *) 5,) . @,0 >)2 *72 ./8 /3)2 2) -6+>,/2) ( *72 >)>927**+6> 3+37. +, *72 > @7**+6> 3+37. <
() *72 >) >927**+6> 3+37. 7--767�3 .+625,) D ? . @937- )

t
D 7,*,0 2/3) 0 @)23 )0 7**+6> )036)

x)3
y

T
lt = (t, it), rt = (t, jt)

7G)*
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U <=+88)
N

)23 /8-7/6 D /. ; 7 3+,� +,62 7, 8 +/02 ,0 � )3+0 >702
xt

< H0 *72 >) >927**+6> 3+37. D .7- +2/3/+0 >, � )3+0 D >/2+02
00

D >702
xt

*+66)2- +0> *+66)2- +0> ? ,0) - +2/3/+0 > @,0 � )3+0
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>702
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<Q .+62 D ? . @937- )
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D 2)2 - +2/3/+02 2)6+03 )0 7**+6> 7G)* -6+B7B/./39
1
D 16�*) ? 0+36) *+,-./01 <() *72 >) >927**+6> 3+37. 7-6A2

t
937- )2 )23 7/02/ 36702/3+/6) D *76 /. ; 7 3+,� +,62 ,0 2/3) )07**+6> ? . @937- )

t + 1
<

( @7**+6> 3+37. 7-6A2
t
937- )2 T3+,2 .)2 2/3)2 2+03 )0 7**+6> >702
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L
)3

R
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m
<
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L
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R
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5, @/. )E /23) ,0 *4)8 /0 >) >927**+6> D/. 2,� 3 > @9G7.,)6 .7 -6+B7B/./39 > @)E/23)0*) > @,0 *+,-.)

(L,R)
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>) .7 �+0) >) >927**+6> /0/3/7.) >)G/)03,0 *4)8 /0 � ��$ �� �

R′ >702 .) 6)*3701.) >) .+01,),6
m

)3 .761),6
N

<
N 702 .7 #1,6) +6/1/07.) .7 -6+B7B/./39 722+*/9) 7G)* *475,) 937- ) >) *+,-.) >) *4)8 /02
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(L′, R′)

)23 1
4

.+625,) *).7 *+6F6)2- +0> ? ,0 8+,G)8 )03 �$ +, � � >)
R′ D )3 1

4 + 1
4 = 1

2

.+625,) *).7 *+66)2- +0> ? ,0) 937- )
S

>)
R′ T? *7,2) >) .7 6)>+0>70*) >)2 *72 7 )3 B U <:76 )E)8-.) D .)2 *4)8 /02

L
)3

R
>) .7 #1,6) V <� 2) 36702J+68 )03 )0

L′ )3
R′ >702 .7 #1,6) V <$ <

H0 *72 >) >927**+6> 3+37. ? . @937- )
t
D .7 36702J+68 73/+0 )E7*3) >)

(L,R)
)0

(L′, R′)
>)G67/30+,2 >+00)6 ,0 8 +,G)8 )03

SW
>) -6+B7B/./39

1
- +,6

R′ TG+/6 .7 2)*3/+0 V <� <�U <:+,6 . @4+8 +1909/39 D 0+,2 >+00)6+02 ? *) 8 +,G)8 )03
SW

,0) -6+B7B/./39
1/4

)3 7, 8 +,G)F8 )03
S

,0) -6+B7B/./39
1/2

D *) 5,/ *+036/B,) ? ,0) .91A6) 2,6F7--6+E/8 73/+0 >) . @9G90)8 )03> @)E /23)0*) > @,0 *4)8 /0 >) >927**+6> <
( @9G7.,73/+0 >, 0+8B6) >) *4)8 /02 >) >927**+6> 2) 69>,/3 >+0* 7, -6+B.A8 ) >, *+8-371)>) 3+,2 .)2 *4)8 /02 � ��$ �� � /0*.,2 >702 .) 6)*3701.) >) .+01,),6

m
)3 .761),6

N
<

L’ R’

prob = 1
2

prob = 1
4

prob = 1
4

� �� � 
���

Z[\ ] V <$ ^ �+0) >) >927**+6> 7-6A2 .7 36702J+68 73/+0
�+,3 > @7B +6> 0+,2 J)6+02 7B2367*3/+0 >)2 8 +,G)8 )032

S
>)

R′ D )3 0+,2 *7.*,.)6+02 .)0+8B6) >) *4)8 /02 �$ �� � >) .+01,),6
n

T7G)*
n ≤ m

U TG+/6 #1,6) V <�U <
	�		� � ��� � �%��

Ui,n
�� !%� .�� ��   �� �!� YHFY� �� �%!,����

n
�����!� �� ����

(0, i)��!� �!� �%!� �� ��!,������ �� ���, ���
N

# � � �" ���� �! �  %!���!�
AN

��� �� ���- �%�� �%��
i ∈ [1, · · · , N ]

�� �%��
n > 0 /

Ui,n ≤ AN (2 cos
π

N + 1
)n.

� ��%!������%! # Y+/3
Un = (U1,n, · · · , Ui,n, · · · , UN,n)

< (7 2,/3)
(Un)n≥0

G96/#) . @95,73/+0 >)69*,66)0*) ./097/6) (
Un+1 = PUn

+& .7 8 736/*)
N × N P

)23 >9#0/) -76 (
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Z [\ ] V <� ^ �+0) 6)*3701,.7/6) 7-6A2 .) 6)367/3 >)2 8 +,G)8 )032
S

P =



















0 1 0 . . . 0 0
1 0 1 . . . 0 0
0 1 0 1 . . . 0<<< < < < < < < < < < <<<
0 0 . . . 1 0 1
0 0 0 . . . 1 0



















()2 G7.),62 -6+-6)2 >) *)33) 8 736/*) 2+03
(2 cos kπ

N+1 )1≤k≤N
< N) -.,2 D - +,6 3+,3

i
>702

[1, N ]
D /. )E /23) >)2 *+023703)2

Ai,1, · · · , Ai,N
3)..)2 5,) D - +,6 3+,3

n > 0
(

Ui,n =
∑N

k=1 Ai,k(2 cos kπ
N+1)n

<
%0 - +2) (

AN = max{∑N
k=1 |Ai,k| ; i ∈ [1, N ]} <

���
�� �� ��� � ��� � � %�%!�
µN =

1+cos π
N+1

2 = (cos π
2(N+1) )

2 # � � �" ���� �!�  %!���! ��
KN

��� ���� �- �%�� �%��
m > 0 /
Pr(∃ �!   �� �! �� ����  %�� �� �%!,����

m) ≤ KN (µN )m.

� ��%!������%! # Y+/3
λN = 2cos π

N+1

< Y+/3
n ≤ m

< N 702 .7 �+0) 6)*3701,.7/6)
[1, · · · ,m] ×

[1, · · · , N ]
D .) 0+8B6) >) *4)8 /02 � ��$ �� � >) .+01,),6

m
D -763703 >)

(0, i)
D 7G)* )E7*3)8 )03

m−n
8+,G)8 )032

S
)23

Cm−n
m Ui,n

< T0+,2 *4+/2/22+02 .)2
m−n

8+,G)8 )032
S

)3 .)2 6)3/6+027#0 > @+B3)0/6 ,0 *4)8 /0 �$ �� � >) .+01,),6
n
<U

(7 -6+B7B/./39 > @,0 3). *4)8 /0 )23 1
4

n 1
2

m−n < N ) *) J7/3 D )0 7--./5,703 .) .)88 ) V <�S D 0+,27G+02 (

Pr(∃ ,0 *4)8 /0 >) >927**+6> >) .+01,),6
m) ≤ AN

m
∑

n=0

Cm−n
m

1

4

n 1

2

m−n

λn
N

= AN (
λN

4
+

1

2
)m

= AN (
λN + 2

4
)m

= AN (µN )m.
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N
��!� $��� ∞- %! � / −lnµN ∼ π2

4N2 .
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� � � ��� �� ���� � �� � ���!, � ��� ���������� � �!

N
#

� ��%!������%! #
Pr(∃ ,0 *4)8 /0 >) >927**+6> >) .+01,),6

t) ≤ KNexp(−ct)
D+&

c = −ln(µN ) ∼ π2

4N2

T-76 .) .)88 ) V <��U < Q /02/ -76 .7 >9#0/3/+0 V <�r D . @7.1+6/348 ) >)
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=475,) *+0#1,673/+0 )23 >) .7 J+68 )
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��
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′
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′
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T6)2- <
(0, 0, 1)

U7G)* -6+B7B/./39 1
2
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1 ≤ i ≤ N
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t ≥ 0

(
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(x, y)t(i) = (1, 1)

7.+62
(x, y)t+1(i + 1) = (1, 1)

7G)* -6+B7B/./39 1
2

D +,
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m

D
L : l1 ∼ l2 ∼ · · · ∼ lm

)3
R : r1 ∼ r2 ∼ · · · ∼ rm

<Y/8 /.7/6)8 )03 D +0 36702J+68 ) *475,) *+,-.) >) *4)8 /02
(L,R)

)0 ,0 *+,-.)
(L′, R′)

3). 5,)
L′ )23 ,0/5,)8 )03 *+8- +29 >) 8 +,G)8 )032

S
D )3

R′ )23 *+8- +29 >) 8 +,G)8 )032 >) .7 J+68 ) (
S
D
SEE

D
SWW

< TC0 8+,G)8 )03
SEE

2) 6)0> > @,0 2/3)
(t, i)

? ,0 2/3)
(t + 1, i + 2)

D )3 2/8 /F.7/6)8 )03 - +,6
SWW

<U
%0 *+02/>A6) ? -692)03 . @)02)8B.) >)2 *4)8 /02 � ��$$ �� � � >702 .7 �+0) 6)*3701,.7/6)>) .+01,),6

m
)3 >) .761),6

N
< )+3+02 5,) - +,6 *)2 *4)8 /02 .7 -6+B7B/./39 > @,0 8 +,G)8 )03

SEE SWW
)23 1

4

87/2 .7 -6+B7B/./39 > @,0 8 +,G)8 )03
S

)23 1
4 + 1

4 = 1
2

<
Y+/3

Vi,n
.) 0+8B6) >) *4)8 /02 �$$ �� � � >) .+01,),6

n
-763703 >, 2/3)

(0, i)
>702 ,0)

�+0) 6)*3701,.7/6) >) .761),6
N

<
) +,2 7G+02 .7 6).73/+0 >) 69*,66)0*) 2,/G703) (

Vi,n = Vi−2,n−1 + Vi+2,n−1 ∀ 2 ≤ i ≤ N − 2
DQ /02/ .)2 >),E 2,/3)2 (

V �
��

n = (V1,n, · · · , V2i+1,n, · · · ) = (V2i+1,n)1≤2i+1≤N
)3

V
����
n = (V2,n, · · · , V2i,n, · · · ) = (V2i,n)1≤2i≤N

G96/#)03 /0>9- )0>788)03 .7 8 /8) 6).73/+0 >)69*,66)0*) 5,) .7 2,/3)
Un

>, .)88 ) V <�S <H0#0 D )0 0+3703
M

.7 -763/) )03/A6) >)
(N + 1)/2

D +0 +B3/)03 .)2 692,.3732 2,/G7032 (
	�		� � ��� � � � �" �� �� �! �  %!���!��

BN
��� �� ���- �%�� �%��

i ∈ [1, · · · , N ]
�� �%��

n > 0 /
Vi,n ≤ BN (2 cos

π

M + 1
)n.
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�� �� ��� � ��
 � � %�%!�
νN =

1+cos π
M+1

2 = (cos π
2(M+1) )

2 # � � �" �� �� �!�  %!���!��
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��� ���� �- �%�� �%��
m > 0 /

Pr(∃ �!   �� �! �� ����  %�� �� �%!,����
m) ≤ IN (νN )m.
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L0

�� L1 %L = L0]L1
) - ���� %�%!� �� *�� �" ���� �!  %�� ��!,

(Xt, Yt)
�� �!� � %! ��%!

δ
���

Ω×Ω& $������ ��!� {0, 1, · · · , B} ���� ��� /
� δ(Xt, Yt) = 0

���
Xt = Yt -� δ(Xt, Yt) = B ⇒ δ(Xt+1, Yt+1) = B,� (δ(Xt, Yt) = B ∧ Yt ∈ L0) ⇒ Xt ∈ L1 -� �� �" �� ��

α > 0
��� �� �- �%�� �%��

(Xt, Yt)
�$� 

0 < δ(Xt, Yt) < B /
E[δ(Xt+1, Yt+1)] ≤ δ(Xt, Yt)

∧ Pr(δ(Xt+1, Yt+1) 6= δ(Xt, Yt)) ≥ α.� �%��
��s
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α edln(1
ε )e #
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) �%�����
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D′

t
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=+02/>96+02 ,0) J+0*3/+0 ? G7.),62 )03/A6)2

δ
G96/#703 .)2 4;- +34A2)2 >, 349+6A8 ) s <� D )38 +036+02 .)2 *+0*.,2/+02

2
)3

3
< T() J7/3 5,) A )23 7,3+F237B/./2703 )23 ,0) *+0295,)0*) >) .7*+0*.,2/+0

2
D 16�*) ? .7 -6+- +2/3/+0 � <�r <U

� < =+02/>96+02 >),E 9.98 )032
x, y

>)
Ω

)3 ,0 *+,-./01
(Xt, Yt)

> @9.98 )03 /0/3/7.
(X0, Y0) =

(x, y)
3).2 5,)

y ∈ L0
<Y+/3

Dt = δ(Xt, Yt)
-+,6

t ≥ 0
< =+88)

Dt = 0
22/

Xt = Yt
)3

(Dt = B ∧ Yt ∈ L0) ⇒
Xt ∈ L1

D .) 3)8-2 8 +;)0
E[τ ]

09*)227/6) ?
Dt

- +,6 733)/0>6)
0

+,
B

D )23 ,0) B +60)2,- 96/),6) >, 3)8-2 8 +;)0 >) 4/33/01
HL

<Q /02/ D -76 -6+- +2/3/+0 s <O D +0 7 (- +,6 3+,3
x, y ∈ Ω

D
E[τ ] ≤ B2/α

D +0 7 (
HL ≤ B2/α

<
O < Y+/3

Dt = δ(Xt, Yt)
< %0 - ),3 7/298 )03 G96/#)6 5,)

Dt
G96/#) .)2 4;- +34A2)2 >) .7-6+- +2/3/+0 s <O < Y+/3

T ′
x,y

.) -6)8 /)6 3)8-2 3). 5,)
Dt = 0 ∨ Dt = B

D -763703 >)
D0 =

δ(x, y)
T/ <) <D

X0 = x, Y0 = y
U < (7 -6+- +2/3/+0 s <O 0+,2 >+00) (

E[T ′
x,y] ≤ B2/α.Y+/3
T = deB2/αe D 7.+62 -76 . @/0917./39 >) L 76�+G D +0 7 .7 -6+B7B/./39 5,)

T ′
x,y > T

)237, -.,2
e−1 < Y/ +0 .70*)

s
)E9*,3/+02 /0>9- )0>703)2 >) .+01,),6

T
7.+62 .7 -6+B7B/./39>) . @9G90)8 )03

Dt 6= 0 ∧ Dt 6= B
-+,6

t ≥ sT
)23 7, -.,2

e−s <Q /02/ D - +,6
t > T dln(ε−1)e D .7 -6+B7B/./39 >) . @9G90)8 )03

Dt = 0∨Dt = B
)23 7, 8 +/02

1 − ε
<Y,-- +2+02 5,)

Y0 ∈ L0
< Q .+62

Yt ∈ L0
T*76 L0

)23 *.+2U < Q /02/
Dt = 0

/8-./5,)
Xt ∈ L0

D7.+62 5,)
Dt = B

/8-./5,)
Xt ∈ L1

T*76
δ

G96/#) .)2 4;- +34A2)2 >, 349+6A8 ) s <�U <
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Q/02/
Xt ∈ L >A2 5,)

Dt = 0 ∨ Dt = B
<N ) *) J7/3 D - +,6 3+,3

X0 ∈ Ω
)3 3+,3

t ≥ T dln(ε−1)e (

Pr(Xt ∈ L) ≥ 1 − ε
<

�=+88) >702 .7 2)*3/+0 � <� D /. 2,� 3 D 16�*) 7, .)88 ) � <�s D>) G96/#)6 . @4;- +34A2) (

E[δ(Xt+1, Yt+1)] ≤ δ(Xt, Yt)
>, 349+6A8 ) s <� 2,6 .)2 *+,-.)2 >) *+0#1,673/+02 G+/2/0)2 ,0/F5,)8 )03 <

) +,2 - +,G+02 >+0* 7--./5,)6 *)33) )E3)02/+0 2,6 ,0 )E)8-.) 7G)* >),E )02)8B.)2 )6F1+>/5,)2 >/2� +/032 < N ) -.,2 D /. 2) 36+,G) 5,) *)3 )E)8-.) )23 >9*6/3 2,6 ,0) 7,36) 3+- +.+1/)T167-4)U < =)3 7.1+6/348 ) )23 ,0 7.1+6/348 ) >) *+02)02,2 5,/ 7 - +,6 B,3 > @7**+6>)6 2,6 ,0)G7.),6 . @)02)8B.) >)2 8 7*4/0)2 2/3,9)2 7, 2+88)3 > @,0 167-4) < H0 G+/*/ .7 >)2*6/-3/+0
���	
�� 
 �� � 
%!�����%!� �! , ���  � ��,����� !%! �%���!��

G = (V,E)- �$� 
N

�%�� ��� ���� ��, ��
∆- �� �!� ������� ��  %������

C = {0, · · · , q − 1} #�! ����%�� ��!�  �� �" ��� �� ���
q$���

2- ���� %! �%������ ����� �!� ���!��� �� ����%!! �� �!�# �!
0� %�%���, � %���� #

1� %�%���, �)��� �!� � %! ��%! ��
V

��!� {0} %���� # {1}) #�%�� L0 %���� # L1
) �� �� %�%���, � %���� # �� %�%���, �) ��

G
#

� ����!� � *�!  %�%���, � ���� %!��� ��
G-  %!�����%!� � *��, %��� �� A ���$�! � %�$� �!� �%������ � �! ����� �����%���) /

� �!   %���� �! �%�� ��
v ∈ V

�� �! $%���!
w

��
v

�� � �!���� �����%��� �!�� %�� � #
� �! �� %�%��

v
�$� ��  %����� ��

w
#

� ��! �!��!�� - ��  %�� ��!, �� � !%�� � ��!��%!� ��� ��  %�� ��!, !������  %!��� ��!� �! �� � �� �  %�" ��
v

�� ��
w

�%�� ��� ���" � �% ����� #
�%��

δ(Xt, Yt)
�� !%� .�� �� �%�� ��� ��� ����� ���

Xt, Yt
��� ���! �- � � ��� � � ��� �� � %!������ � �%�� ���  %�%���, �� ��� � �!�� %δ = 1

)
(Xt, Yt) /

E[δ(Xt+1, Yt+1)] = δ(Xt, Yt). (♣)$! �� ��- �� %!   %���� �� ���� ��� �%!� ���  %������ ��� ���!� �%��
v

��%��
δ

������ &
0

�� �� %!��   %���� � %��
w

��%��
δ

������� &
2

��!%! �� ������� �!  �!, � #
� � � ���- � %��   ����  %�� �� ��  %�%���, ��

(Xt, Yt)
���� �� �

0 < δ(Xt, Yt) < N
%! � /

Pr(δ(Xt+1, Yt+1) 6= δ(Xt, Yt)) ≥ 1
∆N (♣′)

�! � ��� �!����� ��
(♣)

��
(♣′)- �! �������!� �� � �%��� � � #�- ���- �����!� � *�!�  %!+ ,�����%!��.�������

Ω- A ��� ���%����.�����! � $��� L0 ] L1 - �� �� ���� � � %��! ��  ����!, ���  � .��� � /
HL ≤ ∆N3 #

♣() 349+6A8 ) s <� - ),3 7/02/ /36) ,3/./29 - +,6 367/3)6 .) *72 +& L )23 *+8-+29 >) -.,2 >)>),E )02)8B.)2 )61+>/5,)2 D )0 6722)8B.703 )036) ),E >)2 *+0#1,673/+02 D *)33) 3)*40/5,) )232/8 /.7/6) ? *)..) >, 
 .,8-/01� >9G).+-- 9 >702 TKN�:r �7PU <
Q -692)03 D 2,-- +2+02 5,) >702 . @)E)8-.) s <S D /. ; 7/3

q > 2
*+,.),62 < N 702 *) *72 L )23*+8- +29 >)

q
)02)8B.)2 )61+>/5,)2 D 5,/ *+66)2- +0>)03 7,E *+.+6/71)2 8 +0+*46+8 73/5,)2 <

%0 - +,667/3 67/2+00)6 >) .7 8 /8) 8 70/A6) 5,) >702 . @)E)8-.) s <S D 8 7/2 7G)* L0
)3 L′

1

T7,./), >) L0
)3 L1

U D +& L′
1

)23 . @)02)8B.) >) 3+,2 .)2 *+.+6/71)2 2702 .7 *+,.),6
0
<( @7--./*73/+0 >, 349+6A8 ) s <� D 0+,2 >+00) 5,) .) 3)8-2 8 +;)0 >) 4/33/01 )23 )0*+6) *,B/5,) (:763703 > @,0) *+0#1,673/+0 76B/367/6) D +0 733)/03 L0

+, L′
1

D )0 7, -.,2
∆N3 937- )2 )0 8 +;)00) <
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Q/02/ D *475,) *+.+6/71) - )6> 7, 8 +/02 ,0) *+,.),6 )0 7, -.,2
∆N3 937- )2 )0 8 +;)00) < ()3)8-2 8 +;)0 >) 4/33/01 - +,6 733)/0>6) ,0) *+0#1,673/+0 8 +0+*46+8 73/5,) )23 >+0* 7, -.,2

(q − 1)∆N3 <

 a� �enhk elq ��eh

N702 *)33) >)60/A6) -763/) D 0+,2 >+00)6+02 ,0) ./23) 0+0 )E47,23/G) >)2 >+8 7/0)2 2,6.)25,).2 +0 - +,667/3 93)0>6) 0+2 692,.3732 < )+,2 >+00)6+02 7,22/ *)637/0)2 -/23)2 5,) 0+,2)E-.+6+02 7*3,)..)8 )03 +, )0G/271)+02 - +,6 .) J,3,6 <
� �* �� �
"-�� ", ,�,.���

()2 )E)8-.)2 5,) 0+,2 7G+02 -692)0392 2+03 - +,6 .7 -.,-763 -6/2 2,6 >)2 3+- +.+1/)2 )0700)7, < H0 J7/3 D *+88 ) /..,2369 >702 .7 -763/) s <� <� D 0+36) 8 934+>) 2 @7--./5,) ? >)2 3+- +.+1/)25,).*+05,)2 < ) +,2 )0G/271)+02 >) 190967./2)6 2+0 ,3/./273/+0 ? > @7,36)2 )E)8-.)2 7G)* >)23+- +.+1/)2 >) 167-4)2 TG+/6 )E)8-.) s <SU <()2 8 934+>)2 >) *+,-./01 2 @7--./5,)03 7,22/ ? >)2 7.1+6/348 )2 >+03 .7 *+88,0/*73/+0 2) J7/3-76 8 )2271) )036) G+/2/02 )3 0+0 -72 -76 .)*3,6) > @93732 < C0 )E)8-.) >) 2+0 ,3/./273/+0 >702*) *7>6) )23 >+009 >702 KN�� r� P
� �* �* +,
 ���. �"  -, 3���
� �� ��3���,� �!-�,� ����

()2 -6+ *)22,2 >) >9*/2/+0 8 76�+G/)02 8 +>9./2)03 8 /),E 5,) .)2 *47�0)2 >) L 76�+G ,0 36A21670> 0+8B6) > @7.1+6/348 )2 >/236/B,92 T*),E >+03 .7 - +./3/5,) 0 @)23 -72 >93)68 /09)U < X. )23>+0* /8- +63703 > @93)0>6) 0+2 8 934+>)2 >702 *) *7>6) <C0) 8 934+>) 070G) 5,/ *+02/23)67/3 ? 7� +,3)6 >)2 5,703/#*73),62 ,0/G)62).2 2,6 3+,2 .)2 *4+/E- +22/B .)2 0) - ),3 *+0G)0/6 <=)33) )E3)02/+0 >, *+,-./01 )23 >+0* ,0 +B � )*3/J 78B/3/),E )3 -6+8 )33),6 5,703 7, 0+8B6)> @)E)8-.)2 5,/ - +,667/)03 /36) 367/392 16�*) ? )..) <
� �* �1 � �34�-34� ��  ,��" �	
�� , "��!���

:+,6 .)2 -6+B.A8 )2 > @7**)22/B /./39 T-.,2 190967.)8 )03 D >702 .) *72 >)2 J+68,.)2 )E-6/8 9)2>702 .7 .+1/5,) :=�(U D /. )23 8 +0369 >702 K�>Qs�P 5, @/. )E /23) ,0) - +./3/5,) +-3/8 7.) >93)68 /F0/23) )3 8 76�+G/)00) 5,/ - )68 )3 > @+B3)0/6 .7 G7.),6 >) .7 -6+B7B/./39 8 7E/8 7.) T+, 8 /0/8 7.)U <=) 692,.373 - )68 )3367/3 >) -7../)6 7,E -6+B.A8 )2 ./92 ? . @)E3)02/+0 >, *+,-./01 7, -6+*)22,2 >)>9*/2/+0 8 76�+G/)02 T2)*3/+0 s <O <OU < H0 )I)3 +0 - +,667/3 /8 71/0)6 ,0 7.1+6/348 ) >) .7 J+68 ) (

� < �6+,G)6 ,0) - +./3/5,) +-3/8 7.) - +,6 ,0) -6+-6/939 >+009)
O < H3,>/)6 .7 *47�0) >) L 76�+G *+66)2- +0>703 ? *)33) - +./3/5,) <
X. )E /23) >)2 7.1+6/348 )2 0,8 96/5,)2 5,/ - )68 )33)03 >) *7.*,.)6 >) 8 70/A6) )8-/6/5,) .7- +./3/5,) +-3/8 7.) >702 .) *72 >, -6+B.A8 ) >, -.,2 *+,63 *4)8 /0 23+*4723/5,) K�� s �P < =)37.1+6/348 ) )8-/6/5,) 7 939 /8-.98 )039 >702 ,0 2371) 7, (Y� K�,1r� P D )3 7 - )68 /2 >) J7/6) >)2*+0� )*3,6)2 2,6 .)2 - +./3/5,)2 +-3/8 7.)2 >702 ,0 1670> 0+8B6) > @)E)8-.)2 D 5, @+0 - ),3 7.+62
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>98 +036)6 )I)*3/G)8 )03 <

X. 2)67/3 -76 )E)8-.) /0396)22703 > @)227;)6 >) >)G/0)6 )I)*3/G)8 )03 .)2 - +./3/5,)2 )E369F8 7.)2 - +,6 0+36) 8 +>9./273/+0 >) =YLQ �=N 7#0 >) G96/#)6 .) 8 +>A.) )� *7*)8 )03 16�*) ?Q:L= <
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��%�,! ��� � *�!� �� � *�����#'�%�, � � ��!�

=)33) 34A2) 0+,2 7 - )68 /2 >) -692)03)6 ,0) G,) 93)0>,) >)2 8 934+>)2 -6+B7B/./23)2 - +,6.7 G96/#*73/+0 >)2 2;23A8 )2 >/236/B,92 < ) +,2 0+,2 2+88)2 - )0*492 -763/*,./A6)8 )03 2,6 .)2-6+B.A8 )2 > @7**)22/B /./39 - +,6 .)2 -6+ *)22,2 >) >9*/2/+0 8 76�+G/)02 )3 .)2 -6+B.A8 )2 >) *+0G)6F1)0*) - +,6 .)2 *47�0)2 >) L 76�+G <
�+/*/ .)2 692,.3732 -6/0*/-7,E +B3)0,2 (
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) +,2 7G+02 8 +>9./29 *) -6+3+ *+.) 2+,2 J+68 ) > @7,3+8 73)2 3)8- +6/292 -6+B7B/./23)2 < ) +,27G+02 93,>/9 >) 8 70/A6) 5,703/373/G) >),E 8 +>A.)2 >/I 96)032 <() -6)8 /)6 D *.722/5,) T>) ) /*+../0 D Y/J7� /2 )3 �+G/0)U D 0+,2 7 - )68 /2 > @,3/./2)6 .)2 3)*4F0/5,)2 >) 8 +>).F*4)*� /01 >)2 7,3+8 73)2 3)8-+6/292 -6+B7B/./23)2 )0 *+8B/0703 .)2 ,3/F./273/+02 >) �;�)*4 )3 :RXYL <() 2)*+0> D -.,2 9.7B +69 D 7 939 93,>/9 16�*) 7,E 8 +>).F*4)*�)62 :RXYL )3 Q:L= D >+03.)2 7G70371)2 6)2- )*3/J2 +03 939 *+8-7692 - +,6 .7 -6)8 /A6) J+/2 <
) +,2 7G+02 7/02/ G96/#9 ,0 *)637/0 0+8B6) >) -6+-6/9392 > @7**)22/B /./39 *+88 ) ( .) 0+8B6)8 +;)0 >) *+../2/+02 D .7 -6+B7B/./39 5, @,0 8 )2271) 2+/3 *+66)*3)8 )03 )0G+;9 7G703 ,0 *)6F37/0 >9.7/ +, .) 3)8-2 8 +;)0 7G703 .7 ./G67/2+0 *+66)*3) > @,0 8 )2271) <

O < � �����
���� �� �� ��
 �� �� �
 ���	����� �� ���
���� 
 ��� �
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) +,2 7G+02 9.7B +69 ,0) 0+,G)..) 3)*40/5,) >) -6),G) >) *+0G)61)0*) - +,6 .)2 7.1+6/348 )2>/236/B,92 -6+B7B/./23)2 < N 702 *) *7>6) D 0+,2 7G+02 )E4/B 9 ,0 *6/3A6) >) *+0G)61)0*) - +,6.)2 7.1+6/348 )2 7,3+F237B/./27032 < =) *6/3A6) )3 2+0 67� 0)8 )03 ? . @7/>) >, -734F*+,-./01)23 2/8-.) )3 - )6J+68 703 < X. >+00) >) 2,6*6+�3 ,0) 8 7� +673/+0 >, 3)8-2 >) *+0G)61)0*) <
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) +,2 7G+02 >+009 ,0) -6),G) 9.91703) >) .7 *+0G)61)0*) G)62 .7 2373/+0076/39 D )3 +B3)0,,0) B +60) 5,7>673/5,) >, 3)8-2 >) *+0G)61)0*) - +,6 ,0 *72 -763/*,./)6 > @,0 -6+B.A8 )*.722/5,) >) �,E >) -763/*,.)2 T72;88)36/* 2/8-.) )E*.,2/+0 -6+B.)8 U 16�*) ? ,0 *+,F-./01 <
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) +,2 7G+02 - +,229 .)2 707.+1/)2 )036) . @7.1+6/348 /5,) >/236/B,9) )3 .7 :4;2/5,) 2373/2F3/5,) < () J7/3 >) *+02/>96)6 .)2 7.1+6/348 )2 >/236/B,92 -6+B7B/./23)2 *+88 ) >)2 *478-2>) L 76�+G 0+,2 7 - )68 /2 >) >+00)6 >)2 *6/3A6)2 >) *+0G)61)0*) > @7.1+6/348 )2 7,3+F237B/./27032 -6+B7B/./23)2 B7292 2,6 .7 0+3/+0 >) *4)8 /0 >) >927**+6> <
=)33) 34A2) D 0+,2 . @)2- 96+02 D >+00) ,0 -70+678 7 G76/9 >, -6+B.A8 ) >) .7 8 +>9./273/+0 )3G96/#*73/+0 >)2 2;23A8 )2 -6+B7B/./23)2 )0 )E-.+/3703 D > @,0) -763 D >)2 8 934+>)2 5,/ 766/G)03 ?8 73,673/+0 *+88) .) 8 +>).F*4)*� /01 -6+B7B/./23) )3 . @+,3/. :RXYL D )3 )0 � )3703 D > @7,36) -763 D>)2 -722)6)..)2 7G)* .7 :4;2/5,) 2373/23/5,) <
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KQ=Ns �P R < Q .,6 D = < =+,6*+,B )3/2 D 70> N <( < N /.. < L +>). *4)*� /01 J+6 -6+B7B/./23/* 6)7.F3/8 )2;23)8 2 < X0 � �% # %� � � �' � �!�# 
%!� # %! ���%� ���- ��!,��, �� �!� � �%, ��� ���!, %�
��� ��) D -71)2 ���^ �S$ D �ss � <
KQNs� P R < Q .,6 70> N < N/.. < Q 34)+6; +J 3/8 )>F7,3+8 737 < � �%���� ��  %�� ���� � ��! �D

�O$ (�VS^OS� D �ss� <
KQ�76P Q < Q .>+,2 70> � < � /.. < � �$����.�� " ��#%$ 
 ��!� �!� � �!�%� ���#� %! '���  <>67J3 73 433- (���� <2373 <� )6�).);<HNC �,2)62�7.>+,2�B ++� <438 . D �+ 7-- )76 <
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